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1 APPEARANCES: 1 CostaMesq, California, Friday, February 24, 2017
2 2 8:50 am.
3 For Petitioners: 3
4  WINSTON & STRAWN LLP 4 THE VIDEOGRAPHER: Good morning. We are on
5 BY: DAVID K. LIN 5 therecord at 8:50 a.m. on February 24th, 2017.
6  Attorneysat Law 6 Thisisthe video-recorded deposition of Dr. Michael
7 333 South Grand Avenue, 38th Floor 7 Goodrich, Volume Il (sic).
8 Los Angeles, California 90071 8 My name is Jennifer Williams, here with our
9  (213) 615-1973 9 court reporter Nancy Morrow. We are here from
10  dlin@winston.com 10 Veritext Legal Solutions at the request of Winston &
11 11 Strawn, counsel for petitioners.
12 For Patent Owner and the Witness: 12 This deposition is being held at 3050 Bristol
13 KRAMERLEVIN NAFTALIS & FRANKEL LLRP13 Streetin CostaMesa. The caption of thiscaseis
14 BY: MICHAEL H. LEE 14 Activision Blizzard, Inc., et a. vs. Acceleration
15 Attorney at Law 15 Bay LLC, case number IPR2016-00724.
16 990 Marsh Road 16 MR. LIN: 747. 1PR2016-00747.
17 Menlo Park, California 94025-1949 17 THE VIDEOGRAPHER: Oh, okay. Case Number
18  (650) 752-1716 18 IPR2016- --
19  mhlee@kramerlevin.com 19 MR. LIN: -- 00 --
20 20 THE VIDEOGRAPHER: -- 00747.
21 Videographer: 21 Please note that audio and video recording
22 JENNIFER WILLIAMS 22 will take place unless al parties agree to go off
23 23 therecord. Microphones are sensitive and may pick
24 24 up whispers, private conversations and cellular
25 25 interference. | am not related to any party in this
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Page 6 Page 8
1 action, nor am | financially interested in the 1 been previously entered as Exhibit 2003, which is
2 outcomein any way. 2 the declaration of Michael Goodrich.
3 If there are any objections to proceeding, 3 Isthat your declaration that you've
4 please state at the time of your appearance, 4 submitted in this case?
5 beginning with the noticing attorney. 5 A Yes
6 MR. LIN: ThisisDavid Linwith Winston & 6 Q Do you seethat there's a numbering on the
7 Strawn representing petitioners. 7 bottom right-hand corner of your declaration?
8 MR. LEE: Michael Leefrom Kramer Levin 8 A Do you mean the Bates numbers?
9 representing Acceleration Bay and the witness. 9 Q Yes
10 THE VIDEOGRAPHER: Thank you. The witness 10 A Yes | seethose.
11 will be sworn in and counsel may begin the 11 Q Could you turn to page 82, please.
12 examination. 12 A Yes | seetha.
13 13 Q Isthat your signature?
14 MICHAEL GOODRICH, Ph.D., 14 A Oh, actualy it'son -- yeah, page 82. Yes,
15 having been administered an oath, was examined and 15 that's my signature.
16 testified asfollows: 16 Q Isyour declaration accurate and complete to
17 17 the best of your knowledge?
18 EXAMINATION 18 A Thereareacouple of correctionsthat |
19 BY MR.LIN: 19 would like to make that | noticed yesterday when |
20 Q Good morning, Dr. Goodrich. 20 wasreviewing it.
21 A Good morn- -- 21 Q Okay. Let'sgo through them right now.
22 Q Nicetoseeyouagain. 22 A Allright. First, if weturn to page 26 and
23 A Good morning. 23 go to paragraph 56.
24  Q Would you please state your full name and 24  Q Onesecond, please.
25 address for the record, please. 25 A Yeah
Page 7 Page 9
1 A Michael T. Goodrich, 11 Twain, T-w-ai-n, 1 Q 267
2 Street, Irvine, Cdifornia 2 A Yeah. And then go to paragraph 56.
3  Q You understand you're under oath today? 3 Q Okay.
4 A Yes 4 A Itsays--attheend it says, "port ordering
5 Q Andyou understand that even though we're 5 agorithm" at theend. That phrase "port ordering
6 sitting here in a conference room your oath isthe 6 algorithm" should instead be connected/connection.
7 sameasif wewerein acourtroom today? 7 Q Idon't haveto ask one question later today.
8 A Yes 8 Thank you. Another one? Do you have one more?
9 Q Isthereany reason why you can't give 9 A | haveonemore. If wego to page 46,
10 correct and accurate testimony? 10 paragraph 90, that first sentence has a phrase at
11 A No. 11 theend say- -- that should be stricken. So the
12 Q Areyou taking any medications that might 12 sentence should only read "I understand that
13 interfere or -- or anything like that? 13 Dr. Karger failed to consider secondary
14 A No. 14 considerations." Therest of that sentence should
15 Q If you need abreak, just et me know. 15 bestricken.
16 A Okay. 16 Q Why?
17 Q Do you understand that during breaksyou're |17 A | don't-- | don't -- | think that'sa
18 not allowed to discuss the substance of your 18 statement that should not have been included in this
19 testimony with anybody, including your attorney? |19 declaration. Asl sit heretoday, | don't -- |
20 A Yes 20 don't know how that got included.
21 Q I'll do my best to ask clear questions, but 21 Q Understood. Thank you. Anything else?
22 if you don't under- -- if you don't understand a 22 A Asl sit heretoday, there's nothing else
23 question that | ask, will you please let me know? 23 that | canthink of. There might be minor typos,
24 A Certainly. 24 but | believe their corrections should be apparent
25 Q Sol'mhandingthe-- Dr. Goodrichwhat has |25 from context.

3 (Pages6 - 9)
Veritext Lega Solutions

212-267-6868 WWW.Veritext.com 516-608-2400
IPR2016-00747-ACTIVISION, EA, TAKE-TWO, 2K, ROCKSTAR, Ex. 1202, Page 3 of 105



O© O ~NOULhAWDNLPE

NNRNNNRPRRRRRR R R R
EWONPOOONODUODWNERO

Page 10
Q Okay. Doesyour declaration include all of

your opinions that you've formed in connection with
thisIPR?

A Yes. They -- they comprise all of my
opinionsin this case as of the date that | signed
it.

Q Would you mind turning to Bates |abel
page 83, Appendix A.

I'm there.

Thisisyour CV, correct?

That is correct.

Isit up to date and accurate?

| believe it was as of December 12th, 2016.
If you could turn to page Bates-labeled 110.
I'm there.

| believe it lists your technical expert
consulting.

A Yes.

Q And that meanslegal consulting?

A Yes, inthiscase. Ascontrast tothe
section above that -- which was " Scientific
Consulting."

Q Isthisacomplete summary of all the cases
that you've provided in the last few years?

O>O0O>O>O >
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Page 12
the 12?

A Soall theway up till now today I've spent
approximately 260 hours across all 12 cases.

Q Andwhat's your hourly rate?

A My hourly rateis $500 per hour. It does not
depend on -- my compensation does not depend on the
outcome of this case and | have no financial status
with respect to this case.

Q Great. Areyou being compensated in any
other ways besides your hourly rate?

A No. Just my time. And again, my
compensation does not depend on the outcome.

Q What was the scope of the project you were
asked to do?

A Soif weturn to page 4 in my declaration, |
have a paragraph 10 that speaksto that. It begins
"I have been retained as an expert on behalf of
Patent Owner, Acceleration Bay LLC" or just
Acceleration Bay "to provide information and
opinionsto the Patent Trial and Appeal Board
(hereafter (sic) 'the Board') to assist in the
determination of whether or not the Board should
invalidate one or more of the claims of Acceleration
Bay's U.S. Patent No. 6,732,147" or just the '147

25 A Yes, asof December 12th, with respect to 25 patent, and then go on from there to give more
Page 11 Page 13
1 casesthat | was allowed to report. There may be 1 details.
2 some confidential cases | wasn't even allowed to 2 Q Wereyou asked to determine whether the
3 report. 3 patent was valid when you were first retained?
4 Q Okay. Out of curiosity how did you get into 4 A Sothat was part of the scope of thiswork,
5 expert work? 5 to determine whether or not | would conclude that
6 A Igotintoitprimarily because of colleagues 6 thepatentisinvalid or not and then to share my
7 telling methat they thought that | would have an 7 findingsin this declaration.
8 aptitude for this kind of work and that they were 8 Q Sorry. Soyou considered both validity and
9 doing it and that was something that they found 9 invalidity inthis case?
10 vauable. And sowhen| got acall -- oftentimes| 10 A Oh, I'mnot sure | understand the distinction
11 would get these callsand | would turn them down. | 11 the way you're asking that question.
12 And then after these colleagueswere saying just try |12 Q Because validity means the patent isvalid
13 it out, and then | got acall from this case -- some 13 and you were coming up with reasons to determine
14 attorneys at Sidley Austin -- that first case that 14 that the patent was valid; invalidity meansto
15 waslisted there -- and | said yes. Andthat'swhen |15 determine that the patent wasinvalid and you were
16 | began doing this kind of work, 2011. 16 asked to find reasons why the patent was invalid.
17 Q Wasthat for slot machines? 17 So were you asked to do one or the other or
18 A That was, indeed, for video gaming machines. | 18 did you go in to weigh the factors and come up with
19 Q Veryinteresting. When were you first 19 aconclusion?
20 retained to work on this matter? 20 MR. LEE: Objection. Form.
21 A Sowith respect to this matter for 21 THE WITNESS:. Yeah. I'm not surel
22 Acceleration Bay, | wasretained in April of 2016 | 22 understand the distinction between those two. They

N NN
(62 IR NUOV]

for agroup of 12 IPR cases and thisis one of those
12.
Q And about how much time have you spent for

23
24
25

seem like the same question. I'm just trying to
determine if the answer isyes or no to the question
isthis patent valid or not.
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Page 14
But with respect to that, my scope wasto,

indeed, come to my own conclusions looking at the
evidence that was provided in this case by the
petitioner and their expert, ook at the prior art
that's been asserted, look at the patent, come to my
conclusions, which | now have put down in this
declaration.

BY MR. LIN:

Q Thank you. What did you do to prepare for
the deposition today?

A Sofor preparation for the deposition today,
| met with the attorney, Michael Lee, and then
reviewed documents related to this case.

Q Okay. Now, your declaration lists various
materials that you've considered, correct?

A Yes.

Q Arethere any materials you considered that
are not listed in your declaration?

A Not that I'm aware of as| sit here today.

Q Okay. Thisisgoing to be abasic question
but, Dr. Goodrich, what is a graph?

A So areyou asking thisin the context of the
patent or apart from the patent? 1'm sorry.

Q | believe there's an overlapping area, but
let's start with just generally outside of the

© 00N UL WDN PR
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Page 16
And without areference to the vertices that are at

the ends of that edge, there would be no way to
think of that edge apart from its vertice -- the
verticesthat are at its ends.
BY MR. LIN:

Q Do you need adefined set of rulesto
determine what a vertex is?

MR. LEE: Same objection.

THE WITNESS: So outside the patent peoplein
graph theory often have very general definitions of
what would be at vertex to be thisbasis. In some
mathematical circles, it's just numbersfrom 1 ton
where n would be the number of verticesin that
case. Another caseisthere are objectsin some
object-oriented programming language. Another case
is-- for example, with social scientistsit's
people are the vertices. And soit'savery general
concepts, again, outside of the scope of the patent.
BY MR. LIN:

Q Would you mind turning to Bates label 84 of
your declaration, please. I'm sorry, 85.

A I'mthere.

Q | noticed between Bates |abels 85 to -- you
have alot of papers -- 105 you have a series of
papers and alot of them seem to be applicable to

© O ~NOOULhA~WDNLPRE
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Page 15
patent.

A Okay. Sooutside of the patent agraphis
generally defined as a pair of two sets. A first
set would be a set that's known as the set of
vertices, also known as nodes. These are some kind
of objectsthat you refer to as the vertices and
then the second set is a set of edges. And edges
represent pairs of vertices which could have an
orientation, could have alabel, might themselves
have some sort of object-oriented representation
that goes with them. But the combination of these
two sets mathematically is generally referred to as
agraph. Again, strictly outside of the context of
the patent.

Q Isonevertice (sic) agraph?

A Soitispossibleto have agraph that has
one vertex, again, outside the context of the
patent.

Q Okay. Canyou have a set of edges without
vertices?

MR. LEE: Objection. Relevance.

THE WITNESS:. So outside the scope of the
patent, it would not make sense to have an edge
without the vertices because, as | mentioned before,
an edge is arepresentation of a pair of vertices.

O© O ~NOOULh~WDNPRE

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

Page 17
graph theory; isthat correct?

A | would-- | would -- | don't -- yeah, |
would say that that's -- that's fairly accurate. So
thisisalisting of my publications and many of
them aren't related to graph theory.

Q Sofor -- on Bates-labeled page 85, bullets
B-1 and B-2, is that related to graph theory?

A Yes. Both of those books have entire
chapters on topics of graph algorithms.

Q Do you remember what it was about?

A Yes. So, for example, B-1isabook on Data
Structures and Algorithmsin Java. In thisbook --
thisistypically abook that's used in
undergraduate computer science major curricula and
we have chapters on how to represent graphs
abstractly, how to do searching in graphs, how to do
algorithms that perform tasks using graphs as their
input.

Q On Bates-labeled page 86, book chapter Ch-1
to Ch-7 also appear to be related to graph theory;
isthat correct?

A They -- they are. But now, in this context,
it would be graphs that have geometric properties.
So al of these chapters are related to geometric
data structures or geometric algorithms. Where if

212-267-6868
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Page 18

Page 20

1 we'retalking about agraphin this case, it would 1 using atree-structured --
2 beagraph that would not only have vertices and 2 A Right. Sothat would be an instance where
3 edges but with the added property that those 3 graph theory would be atopic of the paper as --
4 vertices and edges have geometric attributes such as 4 among others. Thisisactually primarily databases
5 apoint in the plane or apoint in the three 5 paper. But graph theory also comes in with respect
6 dimensions that would be representing a vertex. 6 tothistree structure that is arelationship where,
7 Q Why doesthefield of graph theory exist? 7 inthiscase, nodesin this data structure have
8 Sorry, strike that. 8 relationships with other nodes that form this
9 Why did you write these chapters or papers on 9 topological structure we call atree.
10 graph theory? 10 Q Couldyou please explain the topological
11 A Oh,yesh. Soaswehighlighted, | have 11 structure of atree?
12 roughly over 300 publications in the general areas 12 A Certainly. Soin thiscaseweretaking
13 of algorithm and data structure design. And aswe 13 about arelationship that can be modeled as a
14 highlighted earlier, many of them touch on graph 14 graph -- again, using thisterm in its general sense
15 theory or have graph theory as a component of that 15 outside the scope of the patent -- where two nodes
16 subject matter. And in anutshell, the reason why 16 have arelationship that often would be drawn as a
17 that comes up is because the concept of graphsisa 17 line. And thisgraph hasthe property that there
18 very powerful concept that can be used in alot of 18 areno cycles. There'sno way to -- between any two
19 concepts. It can be used in the geometric concepts 19 nodesin this structure, there's exactly one path to
20 like we see here on page 86, but also in social 20 go from one node to the other through a bunch of --
21 science circles where vertices represent people and 21 oneor more edges.
22 edges could represent relationships such as 22 In addition, in this case, there's one
23 friendship. And | have some papers also in that 23 particular node that is identified as the root node.
24 domain where edges would represent people who have 24 And with respect to an orientation with respect to
25 friendship relationships. 25 that -- that root node every other node has one
Page 19 Page 21
1 Q Socertain geometric shapes have certain 1 connection, one edge, to one other node that we
2 properties? 2 refer to asits parent. And so somebody with -- who
3 MR. LEE: Objection. Form. 3 themselvesisnot a parent of any other node would
4 THE WITNESS: I'm sorry, I'm not 4 havethat one edgetoits parent. Then that node
5 understanding that question. It seemstoo broad for | 5 would have one edge to its parents and so on and so
6 meto understand what that means. 6 onuntil you get to the root, which does not a have
7 BY MR. LIN: 7 aparent.
8 Q Okay. Let'sturnto page 87. 8 Q Andis-- arethese properties you just
9 A I'mthere. 9 mentioned equally applicable to computers as it
10 Q Journal papers J-1to J-15, those also -- oh 10 would be to people?
11 J1to J34 appear -- J-38, excuse me, seem to be 11 MR. LEE: Objection. Relevance.
12 related to graph theory; isthat correct? 12 THE WITNESS: So this concept of tree
13 A Yeah. I'mnot sure that every single one of 13 structure is something that can be applied to
14 these papers deals with graph theory per se. | 14 people, but it could also apply to computers.
15 would -- | would say that many of them do, but I'm | 15 Again, outside the scope of the patent, that's
16 just not -- just sitting here today recollecting how 16 something that | have seen people do.
17 dl of them would. 17 BY MR. LIN:
18 Q Solet'stakealook, for example, on J-7. 18 Q How can you take a concept that relatesto
19 A Yes. I'mthere. 19 people and trandlate it to computers?
20 Q It--it--thetitleof J7is"On 20 MR. LEE: Same objection.
21 Performing Robust Order Statisticsin Tree-Structure 21 THE WITNESS: Actualy, in this case we were
22 Dictionary Machines'; isthat correct? 22 taking the concept first from -- not from people per
23 A Yes 23 se, but from graph theory. Thistheory that goes
24  Q And it appearsthat you're taking agraph 24 back centuries that deals with just how do you
25 theory concept of atree graph, correct? You're 25 represent these kinds of relationships. And
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applying itinthiscasein J-7 to CPUsinside of a

big computer system that have these edges for how
they would pass their data.
BY MR. LIN:
Q Youhavealot of papers. | don't want to
have to go through al of them.
Has anyone ever cited your papers?
Yes.
MR. LEE: Objection. Form.
THE WITNESS: Sorry. Yes.
BY MR. LIN:
Q Why would someone cite your paper?
A So--

MR. LEE: Objection. Form.

THE WITNESS: -- in general the way that
scholars -- and also thisis -- this holds a so for
patents. | have several patentsthat have this
property aswell. Anytime that they are writing
their paper or their patent description, they will
refer back to things that came before and will, as
we say, citethat. WE'l give the citation for
that. Inmy case | have -- among these 300 papers,

A

O© 0O ~NOOULh~WDNPE
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19
20
21
22

Page 24
work becauseit's aso in the field of graph theory,

correct, or computers?

MR. LEE: Objection. Form.

THE WITNESS: | don't want to try to
speculate on all of the contexts, but | have pursued
and have seen my -- my work cited in other papers.
And such other papersinclude a number of domains,
primarily in computer science but not exclusively to
computer science, as| recall.

BY MR. LIN:

Q Soyou mentioned UC Irvine uses citations as
aform of professor evaluation, correct?

A Yes. That'scorrect.

Q Why?

A Because when we evaluate ajunior faculty who
are being considered for promotions and even being
granted tenure in our system, we want to be able to
judge that they're having an impact on their field.
And the way that we judge that is a number of ways.
We actually, oftentimes, will ask for letters from
prominent members of the research community to
describe what their opinions are, we'll look at

23 | believe over 10,000 citations that have been made | 23 their CVs and take statistics from that as well as
24 to these papers. 24 |ooking at the venues that they tend to publishiin.
25 And in academic circles, suchaswherel ana |25 And then we aso look at the statistics of the
Page 23 Page 25
1 professor at the University of Californiaat Irvine, 1 citationsto see are other people citing their work,
2 thesecitations are seen as akind of apraise, if 2 giving thisform of praise, as| mentioned, to the
3 you will, that others are giving you this citation, 3 contributions that they make.
4 that then isaway of them recognizing that youmade 4 Q So the presumption is the citations show that
5 this contribution that was worthy of them 5 they're contributing to the field, correct?
6 referencing in their work. And, indeed, when -- 6 A |think that's accurate, yes. That these
7 oftentimes when professors come up for their 7 citations are representations of the influence that
8 promotions, they are judged by how many citations | 8 they're having because other people are noticing
9 their work has. 9 them and citing to their papers.
10 BY MR. LIN: 10 MR. LIN: I'm handing the -- Dr. Goodrich
11 Q Haveyou ever seen a cookbook cite your 11 what has been previoudly entered as Exhibit 1001,
12 papers? 12 which isthe '147 patent.
13 MR. LEE: Objection. Relevance. 13 Q Oops, sorry.
14 THE WITNESS: | -- I'm not aware, as| sit 14 A Thank you.
15 heretoday, of a cookbook citing my papers. Asl 15 Q Sowevetaked about graph theory generally.
16 mentioned, according to the Google scholar website, | 16 What type of graph theory does the '147
17 | believe |l have over 10,000 citations to my work 17 patent relate to?
18 and I've not reviewed all 10,000 of those citations. | 18 MR. LEE: Objection. Form.
19 Butas| sit heretoday, I'm not aware of a cookbook | 19 THE WITNESS: Right. Soif weturninthe
20 citing my work. 20 patent to column 1 at line 29, we see that the
21 BY MR.LIN: 21 patent identifiesitsalf, itstechnical field, and
22 Q Itwould be unlikely, correct? 22 it says, "The described technology relates generally
23 A | would only speculate why a cookbook would | 23 to a computer network and more particularly, to a
24 want to do this. 24 broadcast channel for a subset of...computers of an

N
a1

Q But you imagine someone would only cite your

25

underlying network." And then if we then go to
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Page 26

Page 28

1 column 4 at line 25, we see that it says, "The 1 summary of the 147 patent that talks about what
2 broadcast technique overlays the underlying network 2 it'sabout.
3 system with a graph of point-to-point connections 3 Q Okay. Soisitfarthentosay, "The'147
4 (i.e., edges) between host computers (i.e., nodes) 4 patent," quote, "describes methods for disconnecting
5 through which the broadcast channe! isimplemented.” 5 anode (either in a planned or unplanned manner)
6 BY MR.LIN: 6 from abroadcast channel that overlaysa
7 Q Thank you. | waswondering more of if 7 point-to-point network where each node, or
8 there'samore general graph theory concept for 8 participant is connected to some -- but not all --
9 what -- strike that. 9 neighboring participants'?
10 I'm wondering if there's a more general term 10 A Yes That'stherein my paragraph 40.
11 for the study of topologies in graph theory. 11  Q Would you mind turning -- strike that.
12 MR. LEE: Objection. Form. 12 Isthat a correct summary of what the '147
13 THE WITNESS: I'm sorry, | don't -- | don't 13 patent is about?
14 understand that question. Generally when we use the 14 A Thatisapart of the summary. Asl
15 term "topology," we're sort of -- that is shorthand, 15 mentioned earlier, my summary for the '147 patent
16 again, outside the context of the patent. So 16 begins on paragraph 40 and then continues through
17 there'sashorthand way of discussing structurein 17 44. And then throughout my declaration | have other,
18 graphs and what graphs can represent. And so when 18 discussionsthat also bring in summary information
19 wetalk about the topology of something, it's 19 with respect to the '147 patent.
20 referring to its structure in avery broad sense 20 Q Would you mind turning to page 55 and 56 of
21 because topology is awhole area of mathematics 21 the'147 patent.
22 dealing with structure and fundamental set theoretic 22 A Do you mean my declaration or the patent?
23 concepts. And so we kind of port that term over to 23 Q Sorry, of the 147 patent.
24 graph theory when we talk about the topology of 24 A What was that page number again?
25 graphs. 25 Q 55and?56, please.
Page 27 Page 29
1 BY MR.LIN: 1 A 55,56. I'mthere.
2 Q Arethose concepts applicable to this patent? 2 Q Doyou seethe number of claims?
3 MR. LEE: Objection. Form. 3 A Yes
4 THE WITNESS: | would have to -- you'd have 4 Q Areyoufamiliar withwhat aclamisina
5 to be more specific because people use that term 5 patent?
6 "topology" in multiple ways. Sometimes they mean it 6 A Yes
7 precisely to be the study -- this mathematical field 7 Q Whatiswhatisaclaiminapatent?
8 that'sliterally called topology, and then other 8 A Soaclamisthe part of the patent where
9 timeswe refer to it in this more generic sense just 9 it'slaying out the claimed invention that the
10 to refer to structure, broadly defined. And I've 10 patent isdescribing.
11 seen people useit in amultitude of different ways, 11 Q Doyou seethat -- the claims of the '147
12 sol can't answer that question strictly until I, 12 patent claiming the two aspects of planned and
13 you, would understand what did you mean by that term 13 unplanned disconnections?
14 "topology" in this context. 14 MR. LEE: Objection. Form.
15 BY MR.LIN: 15 THE WITNESS: Could you restate that question
16 Q Okay. That'sfair. Then areyou an expert 16 again. I'msorry, I'm not quite following it.
17 onthe'147 patent? 17 BY MR.LIN:
18 A Yes. | consider myself an expert for the 18 Q Couldyou categorize the claims 1 through 16
19 '147 patent. 19 inany particular fashion?
20 Q Andyou'veread it al -- | don't know -- 20 MR. LEE: Objection. Form.
21 58 pagesof it? 21 THE WITNESS: | think there's a number of
22 A Yes That'scorrect. 22 different ways that you could categorize these
23 Q What isthe'147 patent about? 23 claims1 through 16.
24 A Soit's--if weturnin my declaration to 24 BY MR.LIN:
25 page 19, beginning at paragraph 40, | include a 25 Q Okay. Sowhat'sclaim 1 about?
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Page 30 Page 32
1 A Soclaim 1begins, "A method of disconnecting 1 that they were supported by this specification of
2 afirst computer from a second computer, the first 2 the patent.
3 computer and the second computer being connected to 3 BY MR. LIN:
4 abroadcast channel, said broadcast channel forming 4 Q Didyou consider claims 1 and 11 when
5 an m-regular graph where mis at least 3, the method 5 analyzing claim 6?
6 comprising." And then it gives steps for how you do 6 A Yes. | considered them, but they were not
7 that method of disconnecting afirst computer. 7 the subject matter for the IPR.
8 Q Isthisa--isclaim 1 talking about a 8 Q How didyou consider them?
9 planned disconnection or an unplanned disconnection? 9 A | readthem, | read the discussions, for
10 A Claim 1istaking about aplanned 10 example, that the PTAB had regarding them in their
11 disconnection. 11 decision to institute this IPR proceedings. Beyond
12 Q Canyoulook at claim 11, please. 12 that, I'm not sure what you're asking.
13 A I'mthere. 13 Q Why did you consider claims 1 and 11?
14 Q Isclaim 11 directed towards a planned or 14 A | considered them in the sense that | wanted
15 unplanned disconnection? 15 to read the entire patent to see all of the claims
16 A Soitbegins, "A computer-readable medium 16 and | also, as| mentioned earlier, read the
17 containing instructions for controlling 17 decision by the PTAB to ingtitute. And in that
18 disconnecting of a computer from another computer, 18 decision they also mentioned these other claims
19 the computer and the other computer being connected 19 besides 6 through 10. And, for example, as| sit
20 toabroadcast channel, said broadcast channel being 20 heretoday, | recall them saying that they agreed
21 anm-regular graph wheremis at least 3, 21 that those other claims were for a planned
22 comprising” and then it gives several steps. So 22 disconnection, whereas 6 through 10 was for this
23 claim 11 would you also be addressing a planned 23 unplanned disconnection.
24 disconnection. 24 Q Areyou familiar with the claim construction
25 Q Okay. How about claim 6? 25 canon that different independent claims should have
Page 31 Page 33
1 A Soclam6 begins, "A method for healing a 1 different scope?
2 disconnection of afirst computer from a second 2 MR. LEE: Objection. Form.
3 computer, the computers being connected to a 3 THE WITNESS: I've been told these kinds of
4 broadcast channel, said broadcast channel beingan | 4 things by attorneys, but | myself am not an
5 m-regular graph where mis at least 3, the method 5 attorney.
6 comprising” and then it gives steps after that. And 6 BY MR.LIN:
7 thiswould be understood by a person of ordinary 7 Q Doyouknow why we have this canon in claim
8 skill asrelating to an unplanned disconnection. 8 construction?
9 Q Doyoufed the claims capture what the '147 9 MR. LEE: Objection. Form.
10 patent discloses? 10 THE WITNESS: I'm not sure what you're
11 MR. LEE: Objection. Form. 11 asking, actually, this motivation for the canon.
12 THE WITNESS: I'm not sure | understand what| 12 BY MR. LIN:
13 you mean by "capture” in that question. I'msorry. |13 Q Okay. Soit's generally -- it's because we
14 BY MR.LIN: 14 don't want to have many repetitive claims. They
15 Q Letmeask abetter question. 15 should all be capturing different aspects of the
16 Do you think the claims 1 through 16 16 invention or have different scope.
17 accurately summarizes the inventions of the '147 17 Do you understand that?
18 patent? 18 MR. LEE: Objection. Form.
19 MR. LEE: Same objection. 19 THE WITNESS: I'mwilling to accept your
20 THE WITNESS: So with respect to my 20 explanation of that --
21 declaration, | did not specifically addressclaims1 |21 BY MR.LIN:
22 through 6 and 11 through 16. Instead | focusedon |22 Q Okay.
23 claims 6 through 10 because | believe those werethe| 23 A -- for today.
24 onesthat were the subject matter of thisIPR. And |24 Q Okay. Do you mind turning to page 4 of your
25 with respect to those, claim 6 through 10, | found 25 declaration, paragraph 11.
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Page 34

Page 36

1 A I'mthere 1 Q | don'twantto bedifficult, but you said
2 Q Yousay, "Therelevant timeframe for the 2 that an approximate (sic) person having ordinary
3 challenge claims of the '147 patent is at least 3 skill inthe art would have knowledge of this
4 July 2000." 4 subject matter and I'm trying to figure out what you
5 A |seethat. 5 mean by this subject matter?
6 Q Sothe patentswerefiled on July 31st, 2000. 6 A Certainly. Soagain, if wegotocolumnlin
7 Throughout this deposition I'm going to say 7 the'147 patent, it definesits own technical field.
8 July 2000 like you say "here" to refer to thetime 8 It says, "Technical Field" as aheading and then it
9 frame before July 2000. Isthat okay? 9 says, "The described technology relates generally to
10 A Yes 10 acomputer network and more particularly, to a
11  Q Canyou turnto page 8 of your declaration. 11 broadcast channel for a subset of computers of an
12 I'msorry, page 9. 12 underlying network." So we see here from its own
13 A I'mthere. 13 self-definition that it self-identifies as being
14 Q Wewent over thisalittle bit on Wednesday 14 something that relates to computer networks. So
15 about a person having ordinary skill intheart and | 15 broadly speaking, that's the subject matter of the
16 the differencesthat your definition is with 16 '147 patent.
17 Professor Karger, but I'm going to go through it 17 Q Soaperson having abachelor's degreein
18 againjust so we haveit in this proceeding. 18 computer science would have knowledge of computer
19 A Okay. 19 networks and more particularly broadcast channels or
20 Q Your definition of aperson having ordinary 20 asubset of computers of an underlying network.
21 skill inthe art is"someone with a bachelor's 21 Isthat -- is that your testimony?
22 degreein computer science or related field, and 22 A Sol think it would be more accurate to say
23 either two or more years of industry experience 23 that an undergraduate with either two or more years
24 and/or an advanced degree in computer scienceor | 24 of industry experience and/or an advanced degreein
25 related field"; isthat correct? 25 computer science or related field, having graduated
Page 35 Page 37
1 A Yes 1 from there with their bachelor's degree, would have
2 Q Doyou think that bachelor's degreein 2 ageneral understanding of networking and then would
3 computer science and/or that industry experience 3 beableto read the '147 patent and understand what
4 should relate to computer networking, networking 4 it means by the broadcast channel. Because
5 protocols and networking topol ogies? 5 "broadcast channel" is atechnical word that it
6 MR. LEE: Objection. Form. 6 definesitself and then usesthat termin the
7 THE WITNESS: | believe that a person of 7 claims. And, indeed, | provide a definition for
8 ordinary skill, the way that | have opined here, 8 broadcast channel beginning in paragraph 50 in my
9 would have knowledge of networking asisdiscussed 9 declaration and going to 52.
10 inthe'147 patent. 10 Q Thank you for that clarification. In
11 BY MR.LIN: 11 paragraph 26, Dr. Karger lists his definition of a
12 Q Why? 12 person of ordinary skill in the art.
13 A Becausethisisasubject matter that is 13 Do you see that?
14 taught in standard computer science curriculaasof |14 A Yes. | quote from his definition therein my
15 theyear 2000. And hence, it would be something 15 paragraph 26.
16 that aperson of ordinary skill, by this definition, 16 Q What'sthe main difference between his
17 would have knowledge of . 17 definition and your definition?
18 Q Whenyou say this subject matter, couldyou |18 A Sothedefinitions are very similar. His
19 elaborate what you mean? 19 also has abachelor's degree in computer science. |
20 A It'sthe subject matter of the '147 patent. 20 said, "or related field." He spelled it out as
21 That'swhat | wasreferring to as "this." 21 "computer science, computer engineering, applied
22  Q Andwhat isthe subject matter of the '147 22 mathematics, or arelated field" and then he adds
23 patent? 23 (asread) "four or more years of industry experience
24 A Areyou asking broadly or the specific, what | 24 relating to computer networking protocols and
25 it self-defines asitstechnical field? 25 networking topologies' and then he has a separate
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Page 38 Page 40
1 sentencethat says, "Additional graduate education 1 A Okay.
2 could substitute for professional experience, or 2 MR. LEE: Same objection.
3 significant experience in the field could substitute 3 THE WITNESS: So I'm just doing a quick scan
4 for formal education.” 4 hereof my CV, but | can already see and highlight
5 And so we see with that second definition 5 foryou--
6 that | believeit's getting extremely close to my 6 BY MR. LIN:
7 definition, which is"two or more years of industry 7 Q Okay.
8 experience and/or an advanced degree in computer 8 A --journal paper J-8, journal paper J-19, and
9 science" So he has anumber four, whereas | have a 9 so-- 1 don't have apen, so | didn't mark any of
10 number two, but then he has this clarifying sentence 10 these. Let meseeif | canfindit again. J-24
11 that comes later that says you could substitute 11 justinthefirst few pages. | believethere's
12 those four years for graduate education and even 12 others, but those are at least exemplary from that
13 substitute significant experience for that formal 13 time frame before 2000.
14 education. 14 Q What does-- injournal paper J-8, thetitle
15 Q Sowhenl say POSITA, will you understand 15 is"Stabbing Parallel Segments with a Convex
16 that means a person of ordinary skill in the art to 16 Polygon."
17 say? 17 What does a convex polygon have to do with a
18 A Yes 18 "token grid,” a"token ring" or "token bus'?
19 Q Would aPOSITA have known about token grids 19 A Right. Sothisisapaper that describes how
20 and token rings before July 2000? 20 to set up aring type of atopology, like we were
21 A Yes 21 talking about earlier, where that topology has
22 Q Do you have an experience with token rings 22 geometric propertiesin addition to its strictly
23 and token grids before July 2000? 23 graph theoretic properties. In this casethe
24 A Asl sit heretoday, | don't have a specific 24 geometric property is that the vertices representing
25 recollection, but | believe | had general knowledge 25 the different entities themself can have geometric
Page 39 Page 41
1 of these subjects as of the year 2000. 1 coordinates that when you connect them all together
2 Q Doyou believe that you're qualified to opine 2 formaconvex polygon. And thenif weturnin my
3 onwhat aPOSITA would know about token grids and 3 declaration --
4 token rings before July 2000? 4 Q I'msorry tointerrupt. Would you mind if |
5 A Yes, absolutely. 5 explored that concept about the -- it looked like
6 Q Why? 6 you were making aring symbol?
7 A Because of my extensive experiencein the 7 A Yeah. That'swhy | wanted to highlight to a
8 field that we talked about, over 300 publications 8 picturein my declaration.
9 sincethe 1980s. Asl just mentioned, | believel 9 Q Okay. Goahead. Sorry. Sorry tointerrupt.
10 had agenera knowledge of token buses and token 10 A Yes That'snot aproblem. Soif wethengo
11 rings at that time. They were fairly common 11 to-- yeah, | have apicture on my page 14 of a
12 technologies, and so | could put myself back into 12 token ring, which is highlighted from this Tanenbaum
13 that time frame mentally. And I'm, you know, doing 13 book. And we seethat he aso has drawn his token
14 research in computer science as aPh.D. since the 14 ring as a convex polygon, that each of those
15 1980s. 15 stationsis going around and has this convex
16 Q Soeven-- strikethat. 16 property. And similarly, if wethen go to my
17 None of your articles before July 2000 relate 17 page 17 and welook at another figure that comes
18 to token grids or token rings; isthat correct? 18 from Tanenbaum, then we see his representing a token
19 MR. LEE: Objection. Form. 19 bus. With respect to atoken bus, there'salogical
20 THE WITNESS: No. | don't believethat's 20 ring associated with it. He'salso drawn that asa
21 correct. 21 convex polygon.
22 BY MR.LIN: 22 Q Soyourideaof convex polygonin J-8 had
23 Q Which one? Could you please point that out 23 attributes that were applicable to what's Figure 428
24 tome, please. Also let me add token busesinto my 24 on Bates-labeled page 14 and Figure 425 on Bates
25 question. 25 labeled p.17; isthat correct?
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Page 42

Page 44

1 A Yes That'scorrect. 1 Q Okay. What's J-24?
2  Q Il understand. Thank you for explaining to me 2 A SoJ24isdeding with, again, ageneral
3 your expertise with token grids and token rings. 3 class of computational models. Inthis case, it's
4 A Andthen| can aso highlight how J-19 and 4 called aparalé pointer machine. So aparallel
5 J24fitin, if youwant, or we can go on to 5 pointer machine has the property that the computers
6 something else. | don't care. 6 have linksto other computers and data on other
7 Q Let's--1 haveyou here. Why don't | ask 7 computers and can only follow those links to those
8 you. 8 other computersin order to perform a computation.
9 A Okay. Sure. SogotoJ19. 9 And so again, we see that came kind of concept with
10 Q Okay. 10 either the -- the token bus technology or the token
11 A Sowith J19thisisajournd article on 11 ring technology.
12 Parallel Algorithms For Evaluating Sequences of Set- 12 Q I understand. Thank you. And thiswas--
13 Manipulation Operations. 13 your paperswerein -- J8 wasin 1990, 19 wasin
14 Q Uh-huh. 14 1994 and J-24 wasin 1996. So the abstractions and
15 A Theidea, here, isthat thisisreferring to 15 everything wejust discussed in the last couple
16 agorithmswhere the functioning of the algorithmis 16 minutes would have been known to a POSITA; is that
17 aparalel agorithm. It's going to be performed by 17 correct?
18 multiple computers not just one. And now they want 18 MR. LEE: Objection to form.
19 to evaluate a sequence of set-manipulation 19 THE WITNESS: Thiswould be subject matter
20 operations that have unions and intersection 20 that could be known by a POSITA the way we're
21 operationsinthem. And what we describe hereisa 21 describing these, either with my definition or
22 way that this can be donein parallel by 22 Dr. Karger's. And, indeed, as| opined in my
23 transferring information from one thing to the next 23 declaration, al my conclusions would hold even
24 in something that could be a topology that would be 24 using the definitions from Dr. Karger.
25 represented, say, with either atoken bus or atoken 25 BY MR.LIN:
Page 43 Page 45
1 ring. 1 Q Didyou apply your definition of a POSITA
2 Q Andwhy wasit trandatable fromatokenbus | 2 whileanalyzing the prior art or did you apply
3 toatokenring? 3 Dr. Karger's?
4 A Becausewediditinageneral parallel 4 A | applied my definition of aPOSITA when |
5 computational model that is easily translated into 5 did my analysis, but then I also went back and
6 agorithmsfor those other models. | mean, using 6 thought through my conclusions to come to this other
7 referencesthat are not a part of these proceedings, 7 conclusion, that | would have reached those same
8 of course. 8 other conclusions had | even used Dr. Karger's
9 Q I understand. What do you mean by general 9 definition.
10 computation model? 10 Q Doyouthink aPOSITER -- POSITA under
11 A Sothere'ssevera different kinds of 11 Dr. Karger's definition would have more knowledge
12 computational models -- I'm teaching, for example, | 12 about token rings, token buses, token grids or --
13 somein the class that I'm teaching now -- that 13 I'm sorry, that was abad question. Let me start
14 abstract how algorithms would perform and then 14 again.
15 present amodel of computation that you can describe 15 Do you think a POSITA before July 2000 would
16 agorithmsin that model. 16 know more about token grids, token buses, token
17 Q How do you abstract an algorithm? 17 rings than the POSITA in your definition?
18 A Sothe concept of abstraction is ubiquitous 18 A Not necessarily. Under Dr. Karger's
19 in computer science. For example, in my declaration 19 definition, | believe his definition isinclusive of
20 | talk about the seven layers of the network 20 mine. So anything that a POSITA under my definition
21 hierarchy. These are representations of 21 would know hiswould know. And just sitting here
22 abgtractions. It'saway for you to model details. 22 today, I'm not immediately seeing how something
23 It -- and then ignore other details and just focus 23 would come up that his POSITA would know that by
24 in on the details that matter for the kinds of 24 definition of my POSITA would not know.
25 issuesthat you areinterested in. 25 Q | understand.
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Page 46 Page 48
1 Counsel, I'm about to change subject matter 1 downintothree. First asession layer, thena
2 if you wanted to take a quick bio bresk. 2 presentation layer and then the application layer
3 MR. LEE: Yesh. 3 where applications perform their functions and make
4 MR. LIN: Thank you. 4 communications.
5 THE VIDEOGRAPHER: We're going off the 5 Q Thank you for that explanation, Dr. Goodrich.
6 record, thetimeis 9:50. 6 Therewasalot that you said there that | would
7 (Recess.) 7 liketo unpack kind of one by one. So | mean my
8 THE VIDEOGRAPHER: Wereback ontherecord, | 8 questionis--letmeseeif | canaskita
9 thetimeis10:02. 9 different way.
10 BY MR. LIN: 10 Are network protocols typically modeled
11  Q Hello, Dr. Goodrich. Would you mind turning 11 conceptually because they're usually kind of mixed
12 to page 10 of your declaration, paragraph 28. 12 together, the different -- the different layers are
13 A I'mthere. 13 not easily separated?
14 Q | said paragraph 28, correct? Yeah. Okay. 14 MR. LEE: Objection. Form.
15 A Yesh 15 THE WITNESS: No. It'squite the contrary.
16 Q What'sanetwork protocol? 16 Thisway of thinking is so ubiquitousin networking
17 A Soanetwork protocol isaprotocol for how 17 that it permeates al discussions of networking that
18 you do various functionsin a network between the 18 there'stheselayers. That each layer isgoing to
19 communicating entities. And as| mentioned here, in 19 rely on abstractions and functions that are provided
20 the next pageit has these seven layers broadly 20 by thelayer or layers below it in order to
21 defined in this OSI model of how you would implement | 21 implement any interface that then it providesto
22 variouskinds of protocols. 22 layersthere aboveit. All going, again, from the
23 Q Why do you say model "Network protocols are 23 physical layer al the way up to the application
24 typicaly," quote, "modelled conceptually"? Is 24 layer.
25 it -- strike that. 25 BY MR.LIN:
Page 47 Page 49
1 Why are network protocols typically, quote, 1 Q Sowell walk through the layers one by one
2 "modelled conceptually”? 2 inafew minutes, but I'm trying to wrap my head
3 A Okay. Soasl opined herein thisfirst 3 around why something needs to be modeled
4 sentence, | say "Network protocols are typically 4 conceptudly if it's actually implemented.
5 modelled conceptually as being partitioned into 5 A Oh, maybe this part is somewhat confusing.
6 layers, which collectively are called the...protocol 6 Sowhen | say it's modeled conceptually, that's how
7 stack." And so what I'm referring to, here, isthis 7 it'simplemented. It'simplemented in terms of
8 ideathat isthen illustrated with a picture from 8 thesethat models. So aperson of ordinary skill in
9 Tanenbaum on the next page that a person of ordinary 9 theart would understand that this model, as we call
10 skill would understand is ubiquitous in networking. 10 it, isthe way that you do implementations. And
11 That we think of the functions of networking 11 thenyou can plug in aprotocol based on the layer
12 according to this hierarchy of abstractions that 12 that it would be existing at.
13 begins, first, with the physical layer, the actual 13  Q Istherean OSI protocol that -- that
14 physical media, cables, wires, RF signalsthat carry 14 actually implements these seven layers?
15 the communications; then the data link layer, how we 15 A TheOSl modd isitself not an
16 link together pairs of, say, computers that are 16 implementation. It'sthat other implementations
17 computing -- or communicating; then the network 17 follow this model or something very, very closeto
18 layer that describes how to do longer scale sending 18 it, such asthe Internet, as would be understood by
19 of messages across a network and then the transport 19 aperson of ordinary skill in the art.
20 layer that defines concepts that would allow for, 20 Q Somaybewell get tothislater, solet me
21 say, point-to-point communications as described in 21 kind of go through this. Arethere -- you mentioned
22 the'147 patent. 22 Internet protocol and that seemsto be the protocol
23 And then above that, we have three more 23 you're talking about in paragraph 29.
24 |ayers and some models are represented just as one 24 Are there any other protocols that you know
25 application layer, but in the OSI model it's broken 25 of -- network protocols that you know of ?
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Page 50
MR. LEE: Objection to form.

THE WITNESS: Yes. So, for example, inthe
Shoubridge reference -- and | have discussions of
that in my declaration -- it's using something
called the X.25, X.25 protocol that's yet a
digtinctive thing from the Internet protocol. Just
as| sit here today, I'm not thinking of others, but
others also exist.

BY MR. LIN:

Q When you say the "Internet Protocol stack"
on -- in paragraph 29, is that the TCP/IP protocol ?
A Sotheway that the Internet protocol works

isthat it has these same first four layers,

identical, physical layer, datalink layer, network
layer, transport layer. And then rather than having
and distinguishing what in this figure on my page 11
and from this reference 2021 it's all -- it's called

the OS combination of asession layer, a
presentation layer and an application layer. Inthe
Internet protocol stack, those top three are just
called the application layer. 1t doesn't

distinguish presentation and session.

And with respect now to your specific
question about TCP/IP, those are actually two
different protocols. First the IP protocol or
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Page 52
built at the transport layer on top of that and uses

that in order to build its interface. And then the
application layer comes above both TCP and IP. It
would be at level 5 in the Internet protocol stack
or level 7 herein the OSl model.

Q | understand. Areyou aware of the DARPA
protocol model?

A Just sitting here today, if you have
something to reference. | don't recall that being
cited in the patent or the prior art.

Q Okay. I'm sorry to be repetitive. | lost
track of -- is TCP/IP the same as the Internet
protocol stack? | think your answer is no, correct?

A Itisamember -- the TCP/IP protocol is at
layers3and 4. TCPsat 4, IPsat 3. Andthe
Internet protocol has asitsfirst four layers, it's
identical to the OSI model. So the TCP/IP protocol
fitsinto either, the OSI model or the -- what |
cal the Internet protocol stack which just has five
layers. Becausein either case |IP exists at level
3, network layer; TCP exists at the level 4, the
transport layer.

Q Solet meseeif I can sum up correctly
because we have alot of numbers and layers going
on. So layer 1isthe physical layer, layer 2 the
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Page 51
Internet protocol exists at the network layer, layer

3, and it provides a best effort way to send
messages from one computer to another computer as a
sequence of data packets. And then we go to the TCP
protocol, which is at the next layer up, the
transport layer. It provides a concept of sockets
that actually can have persistence and reliability
aswell as another protocol called UDP that's also
referenced from the '147 patent that provides a
concept of ports number, which also is discussed in
the patent but is not relevant to the claims today,
that does an abstraction of best efforts routing but
adding in this concept of ports.

Q And then it also includes the applica- --
strike that.

The TCP/IP protocol architectural layer in
addition also captures the application layer, which
would be layers5to 7?

A No, that's not accurate. Instead, as|
mentioned earlier, IP -- so when we say TCP/IP,
that's actually combination of two protocols, sort
of. And we'd use the shorthand acronym to refer to
them as a concert because they're built one on top
of the other. First we have P, whichisat level 3
in the network layer, and then we have TCP, which is
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Page 53
datalink layer, layer 3 isthe network layer, layer

4 isthetransport layer, layer 5 isthe session
layer, layer 6 isthe presentation layer and layer 7
isthe application layer under the OSI model ?

A Correct.

Q TheTCP/IP protocol, in your understanding,
isat layers3and 4 where TCPisat 4 and IPisat
3?

A Also correct.

Q AndtheInternet protocol islayers4, 5, 6
and 7?

A No. That'snot correct. Instead, the
Internet protocol stack isamodel that almost is
identical to the OSI model stack except that -- so
it hasthe exact same first four layers. Theonly
differenceisthat in the Internet protocol stack it
has alayer 5 that it just calls the application
layer and it lumps into that both with -- the OSI
model refersto it asit's session layer and
presentation layer. So the OS| would be
distinguishing the layers 5, 6 and 7, which in the
Internet protocol stack are all lumped into one
layer 5.

Q Okay. And it seemsfrom your discussion that
the -- well, strike that.
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Page 54
Isthe Internet protocol implemented?

A Yes. It'simplemented on the Internet.

Q ThelInternet protocol correspondsto the OSI
model, correct?

A Yes. Thelnternet -- the OSI model alsois
implemented in the Internet. It'sjust that where
the Internet protocol lumps together things and
calls them the application layer, the OSI model
distinguishes some things and says that's at the
session layer, that's at the presentation layer.

But in either caseif we're talking about
application programs, like is talked about in the
'147 patent, that would be, in both cases,
understood at what both models would call the
application layer.

Q Sothere€salot that you just said. I'm
sorry, Professor -- Dr. Goodrich. | need to kind of
takethisone at atime. So my first question
was -- or not my first question. A question | have
isthat the Internet protocol correspondsto the OSI
model, correct?

A Perhaps| need to clarify something that's
maybe alittle confusing and why | keep having to
give these more longwinded answers. Theterm "|P"
stands for Internet protocol. And so if we just say
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Page 56
instead of seven. But in the end they line up

perfectly. It'sjust in the Internet protocol stack

it lumps together three things that the OSI model
distinguishes at the very, very top. But as|
mentioned it earlier, they both have the same
similarity, that application programs in both cases
would be functioning at the application layer

with -- either case would be calling the application
layer and would be above the first four layersin
this either protocol stack.

BY MR. LIN:

Q Do they match up perfectly or close?

A They match up perfectly in the sense of an
equivalencerdation. So thefirst four layersin
both protocol stacks are identical and then the OSI
model distinguishes three layers that correspond
identically to one layer in the Internet protocol
stack. And again, the three at the top are session
layer, presentation layer and application layer in
the OSI model, which line up perfectly with just now
one layer in the Internet protocol stack which are
caled the Internet -- or the application layer.

Q But there are some differences, correct?

A Those are the -- that's how they line up.
They line up so that -- again, we're -- in the OSl
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Page 55
IP, Internet protocol, you're referring to just the

| P stuff that happens at layer 3. So if we refer to
the Internet protocol stack, we're referring to all
five that are in this model, the Internet protocol
stack.

Q Let meseeif | can ask abetter question.

In the Internet protocol stack, does it
correspond to the OSl model ?

A And the answer isyeswith this
understanding, that at the application layer in the
Internet protocol stack the OSI model distinguishes
three distinct layers that are mapped together into
just the application layer in the Internet protocol
stack.

Q | understand. In the Internet protocol
stack, it'snot a-- a-- let me see how | can say
this. Strikethat. Why does the Internet protocol
stack use amodif- -- strike that.

Why does the Internet protocol stack use a
different model than the OSI model? They're
similar, | understand that, but different also.

MR. LEE: Objection. Form.

THE WITNESS: Just sitting here today | don't
know the reason why it's different. Perhaps they
wanted to have it more streamlined and have five
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model, one would distinguish three layers. All

those threes are lumped into one. So that's the
only difference, that those three are lumped into
one layer in the Internet protocol stack, whichis
caled in the Internet protocol stack the
application layer.

Q Right. Inthelayers, let'ssay 1, 2, 3and
4 there may be differences to the OSlI model,
correct?

A No. That'swhat I'm trying to explain.
Layers1, 2, 3and 4 are identical in both models.

Q 5?

A Yeah. Where5's -- the differences begin.

Q Okay. Why did you choseto talk about the
OSl reference model instead of the Internet protocol
stack? 1I'm sorry, strike that.

Y our declaration focused -- focuses your
analysis on the OSI reference model; is that
correct?

A Yes. Butit asoincludesthe Internet
protocol model because of the similarities of the
first four, that the first four layers are
identical. So the conclusions would be the same if
we had used the Internet protocol stack. But the
OSl is something that is referenced, for example, in
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Page 58 Page 60

1 thistextbook by Tanenbaum, and that's something 1 network layer. Asyou explained before, that's

2 that we use in undergraduate curricula ubiquitously 2 different than Internet protocol stack and that the

3 across the country and so that's why | used it here 3 Internet protocol occurs at layer 3, correct?

4 inmy declaration. 4 A Yes

5 Q Why didn't you usejust the Internet protocol 5 Q Isit--isit--whenyoulook at an

6 stack? Why didn't -- strike that. 6 application running on the Internet, isit easy for

7 Why didn't you use the model of the Internet 7 you to determine what layer a computer program is

8 protocol stack only in your discussion? 8 running on?

9 A Because of this history of the OSI model 9 MR. LEE: Objection. Form.
10 being in such textbooks as Tanenbaum that are, you 10 THE WITNESS: I'm sorry, | don't understand
11 know, like standard references for computer 11 that question.
12 networking and so that -- and again, it didn't 12 BY MR.LIN:
13 really make that much of adifference with respect 13 Q Haveyou written acomputer program before?
14 totheanalysisand so | thought go with the 14 A Yes
15 historica model rather than focusing in just on the 15 Q Andhow do you know which layer your computer
16 Internet. 16 program is operating on?
17 So, for example, if we go to the '147 patent 17 A I'mtill not quite following the question
18 and we go to, say, column 1 and beginning in 18 because some programs that we write don't use a
19 line 45, it'stalking about these point-to-point 19 network at al. It'sjust using one computer, like
20 network protocols and gives three examples such as 20 even on your iPhone, a disconnected, even, iPhone or
21 UNIX, pipes, TCP/IP and UDP, which allow processes 21 onthelittle-- | got alittle Raspberry Pi for my
22 ondifferent -- on different computersto 22 son, thislittle tiny computer. And when it's not
23 communicate via point-to-point connections. And so 23 connected to anything that would be construed as a
24 | don't want to just focus exclusively on the 24 network, there's no concept of any layersat all.
25 Internet protocol which someone might confuse it 25 It'sjust running on alittle device.

Page 59 Page 61

1 only would apply to, say, TCP/IP and UDP because the 1 Q I'msorry, | think | meant to ask an

2 '147 patent also discusses UNIX pipes. And then 2 application running on the Internet.

3 when |, for example, would go to some of these prior 3 A Sol still need calculation for what you mean

4 art references that are cited by the petitioner, it 4 by application. Soif you'rereferring to, for

5 would talk about other protocols like the X.25, 5 example, like the applications that are discussed

6 whichisnot apart of the Internet. So | want to 6 hereinthe'147 patent -- | believe | can find the

7 beinclusive of all these different protocols which 7 citations. Yeah. Soit beginsin -- in column 15

8 the OSlI model does. 8 beginning already in line 7 and then going al the

9 Q WouldaPOSITA been -- before July 2000 known 9 way to the bottom. It'stalking over and over and
10 about the Internet protocol stack? 10 over about these application programs executing the
11 A Yes 11 separate processes and then using this broadcast
12 Q Andthe concepts of the Internet protocol 12 channel, which we read elsewhereisa-- in fact, |
13 stack, because it has the same abstract layers, 13 gave aprecise definition to that in my
14 could it be tranglated from different protocols? 14 declaration -- isalogical channel that overlays an
15 MR. LEE: Objection. Form. 15 underlying point-to-point communications network.
16 THE WITNESS: I'm sorry, | don't understand 16 So from that we see, based on -- and from the
17 thequestion. 17 support from column 15 that its application
18 BY MR.LIN: 18 program'’s running on top of a point-to-point
19 Q Canyoutake a-- something that talks about 19 communication network that a person of ordinary
20 operating on the Internet protocol stack -- strike 20 skill inthe art would understand must be at layer 5
21 that. Forgetit. Let'smoveon. 21 or above becauseit's built on top of something that
22 A Okay. 22 hasthis concept of point-to-point communications,
23  Q Andthenso | think we covered this already. 23 whichisestablished in layer 4. So that's how a
24 But in paragraph 30 you talk about the Internet 24 person of ordinary skill can understand what the
25 protocol IPisan example of a protocol at the 25 layer isfor an application running, say, on the
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Page 62

Page 64

1 Internet. 1 page 11, the APIsare like the little spacesin
2 Q Dr. Goodrich, it seemslikeyou'rereadingmy | 2 between each of the layers. Each layer hasan
3 mind and we'll get to that later today. But I'd 3 interface. That'swhy we sort of think of it as
4 like to make sure that we're on the same page on 4 like the spaces in between the layers. The lower
5 some other concepts first before we get there. 5 layer isproviding the interface, it's providing the
6 A Okay. 6 functionsthat then the next layer up can then call
7 Q Wouldyou mind turning, then, to 7 using that agreed-upon interface, the functionality
8 paragraph 31. 8 that exists at the lower layer.
9 A Okay. 9 Q Can APl manage the spaces between multiple
10 Q Andthenon page 13. 10 layers?
11 A That'snot -- oh. 11 A I'mnot surel understand that question.
12 Q Bates13. 12 Q Okay. So between -- well look at your
13 A I'mthere. Sorry, Bates13. Sorry. Yes, 13 figureon layer -- I'm sorry. We'll look at the
14 I'mthere. 14 figure on page 11.
15 Q And there's something that says, "Typically, 15 A Yes.
16 the application layer will use application 16 Q And so between the application layer and the
17 programming interfaces that will interact with a 17 presentation layer, isit correct that there may be
18 variety of underlying networks." Isthat -- 18 an API that sitsin between those layers?
19 A Yes |seethat. 19 A Yes
20 Q Canyoutell mehow -- and what is an 20 Q Thenthe same would go between the layers 5
21 application programming interface as you understand 21 and 6?
22 it? 22 A That'scorrect.
23 A Certainly. Sotheideahereisthat aswe 23 Q 4andb5?
24 talked about with respect to, say, the OS| reference |24 A Yes.
25 model, each layer provides an abstraction, whatwe |25 Q 3and4?
Page 63 Page 65
1 cal an application programming interface, of howto| 1 A Yes.
2 interface with layersthat are above it and how it 2 Q 2and3?
3 can provide certain functionality and then to do 3 A Correct.
4 that in a concise way that the layers above can use. 4 Q Andland?2?
5 So, for example, in the Internet protocol, it will 5 A Also.
6 present to ahigher level a concept of Internet 6 Q Okay. CananAPI -- doesthe API have to be
7 addressesthat computers will have and it presents 7 distinct between each gap?
8 tothe higher levels a best effort ability to send 8 A That'sthe question I'm not understanding.
9 packets from one computer addressand IP addressto 9 Q Okay.
10 another. 10 A I'msorry.
11 And then from that API, that application 11 Q Letmesee. Let mesee. Canone APl manage
12 programming interface, say the next layer up, the 12 layers -- the space between 6 and 7 and 5 and 6 at
13 transport layer, TCP will take that functionality 13 the sametime?
14 and add additional protocolsthat then providethese |14 A I'm till not -- I'm not understanding the
15 ports numbers and provide, in the case of TCP, 15 question. So these APIsexist sort of in between

NNNNNDNERERPRPER
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reliability that it's guaranteed the messages -- you
know, barring some redlly horrible catastrophe --
guaranteed that messages will arrive to their
destination in the order that they are sent.

Q Sothank you for that explanation. Y ou kind
of lost me alittle bit when you were saying layer
up and you said that's the transport layer. So
where does the application -- where does the API sit
in the OSI model ?

A Oh, so conceptually, if we go back to my

16
17
18
19
20
21
22
23
24
25

the spaces. That's -- and it's something that the
layer just below that spaceis providing to the
higher layers above it as away to call the
functionality of that level.

Q I think I know how to ask a better question.
Isthe API between layer 6 and 7 -- strike that.

Would the API between layer 6 and 7 be

different than the API between layers 5 and 6?

A Yes. Presumably, under most circumstances.

Q Yousad, "most circumstances." Isthere any
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circumstance that you know of where they can be the

same?

A Again, | think you're getting maybe alittle
confused. So as| mentioned in the Internet
protocol stack, layers 5, 6 and 7 are lumped into
one. And so the functionality that exists there
depends on the functionality that happens, for
example, at layer 4. And then it can have an AP
from layer 4 that then is used in the application
layer for the Internet protocol stack, which
encompasses those top three. But we wouldn't be
like, in that case, having a separate distinction
between layer 5 and 6 and 6 and 7 with respect to
the OSI layer.

Q I think | understand. Then, perhaps, that's
one distinction between the Internet protocol stack
and the application -- I'm sorry, one distinction
between the Internet protocol stack and the OS
model, correct?

MR. LEE: Objection. Form.

THE WITNESS: If by that distinction you're
referring to how the Internet protocol stack lumps
layers 5, 6 and 7 into one layer that it just calls
the application layer that, indeed, isthe
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prevents an API to layer 7 using the OSI framework.

Q Gotit. Thank you. Okay. Now | -- now |
understand what you're saying. Turn to page 20,
Figure 2.

A I'mthere.

Q What'sFigure2?

A Figure2isafigure from the '147 patent
that's found on the page marked 4 in that patent.

Q Uh-huh. Why did you reproduceit?

A SotheFigure 2 isanillustration that the
'147 patent provides to illustrate a concept that it
refers to as the m-regular network property. And
then it has a description of Figure 2 beginning on
column5 at line 8. It says (asread), "Figure 2
illustrates a graph representing 20 computers
connected to a broadcast channel. The diameter of
this broadcast channel is4. In particular the
shortest path between computers 1 and 3 contains
four connections.

Q So you reproduced this because one of the
topics of the '147 patent is an incomplete m-regular
broadcast channel, correct?

A Theword "incomplete” does not appear in the
claims that we're talking about today, but m-regular

25 distinction. 25 does appear, and so | thought it was relevant in my
Page 67 Page 69
1 BY MR.LIN: 1 declaration to include thisillustration that
2 Q Inthat the API is between that application 2 illustrated this concept of being m-regular asthe
3 layer and whatever is underneath it, correct? 3 '147 patent discussesit.
4 A Inthelnternet protocol stack and in the OSI 4 Q Isit--isthis--isFigure2a
5 model stack the API provided by layer 4 would be the 5 broadcast -- a claimed broadcast channel of the '147
6 same, potentially. But in the Internet protocol 6 patent? Sorry, strike that.
7 stack that APl would be used by just what's, lump 7 Is-- is Figure 2 abroadcast channel as
8 sum, onelayer; whereas, in the OS| model, that 8 defined by the '147 patent?
9 transport layer, API, would be used potentially by 9 A Asljustread, from column 5, it says,
10 those layers aboveit, those 3, 5, 6 and 7. 10 "Figure 2illustrates a graph representing 20
11 Q Gotit. Do thosethree need an API or -- I'm 11 computers connected to a broadcast channel."
12 sorry, let me ask -- let me try this again. 12 Q Okay. Sothere's20 computersin here, zero
13 In the OSI models between layers 5, 6 and 7, 13 through 19, and I'm assuming the vertex -- vertices
14 do they need an API to interact with the different 14 represent computers or participants; is that
15 layers? 15 correct?
16 MR. LEE: Objection. Form. 16 A Yes
17 THE WITNESS: They provide an API that can be 17  Q And thelines between the vertices are
18 used by the higher levels. That's how the models 18 connections, correct?
19 aresetup. 19 A Yes
20 BY MR.LIN: 20 Q And then the connections, the sum of the
21  Q What doyou mean? Whois"they," layers 5, 6 21 connections form the broadcast channel; is that
22 and7-- 22 correct?
23 A Yes 23 A That soundsright.
24 Q --isthat correct? 24  Q Andyou said in the passage that you just
25 A So5representsan APl tolayers6 and 7, 6 25 read that the diameter is 4, correct?
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Page 70 Page 72
1 A Yes 1 distance between them changesto one. Thefirst
2 Q What'sadiameter? 2 message may have to travel adistance of four to
3 A Sointhiscontext it's referring to the 3 reach the receiving computer. The second message
4 length of the longest path in a network, in this 4 only hasto travel adistance of one. Thus, itis
5 casethis broadcast channdl. 5 possible for the second message to reach the
6 Q Thelongest path from where to where? 6 receiving computer before the first message." And
7 A Fromany two nodesin the graph. 7 then it continues, "When the broadcast channel isin
8 Q Thank you. 8 asteady state (i.e., no computers connecting or
9 A That'swhat werefer to as the diameter. 9 disconnecting from the broadcast channel) out-of-
10 Q Isthereadiameter where -- is so large that 10 order messages are not a problem because each
11 it -- that it would no longer be a broadcast 11 computer will eventually receive both messages and
12 channel? 12 can queue messages until al earlier order messages
13 MR. LEE: Objection. Form. 13 arereceived.”
14 THE WITNESS: That's not something | 14 So based on that quick reading -- again, this
15 considered in my analysis because it wasn't 15 was not something that | had to do as a part of my
16 relevant. Let me think about that. 16 analysis, but just as| sit here today, that
17 BY MR.LIN: 17 suggests that whatever the diameter number isit
18 Q Doyoumindif | ask adifferent question? 18 should not matter to the definition of a broadcast
19 A Notatall. Goahead. 19 channel. Something with alarge diameter could be g
20 Q Doesyour claim construct- -- strike that. 20 broadcast channel, something with a small diameter
21 Does the diameter of a broadcast channel 21 could aso be abroadcast channel.
22 matter in your definition of a broadcast channel? 22 Q It doesn't-- and it doesn't matter to your
23 A Aslong asit'safinite number, which | 23 claim construction, correct?
24 can'timagine how it could possibly beinfinitewhen |24 A That is correct.
25 you have afinite number of nodes. | don'tseehow |25 Q If weturnto, let's say, page 25, Bates 25,
Page 71 Page 73
1 it would matter, just sitting here today. 1 paragraph 50.
2 Q ltcanbealine. Let me-- let me-- let me 2 A I'mthere
3 seeif | can ask that better. 3 Q That'syour discussion of abroadcast
4 A broadcast channel cannot be atree? 4 channel, correct?
5 A That has something independently to do with 5 A That'scorrect.
6 diameter. So diameter isjust anumber, like4in 6 Q Then page50 -- I'm sorry, page 26,
7 thiscase, that tells you the length of the longest 7 paragraph 53.
8 pathinagraph. Then you asked isthat relevant, 8 A I'mthere
9 isthere anumber that could be so large that it 9 Q Anditsays, "Connection" and then your
10 would no longer be a broadcast channel? And | was 10 construction is "an edge between two application

11 looking through the patent. Thereis some 11 programs connected to alogical broadcast channel
12 discussion about diameter and distance, | think, 12 that overlays an underlying network"; is that

13 in--incolumns7 and 8. | was going thereto 13 correct?

14 answer that question. 14 A Yes. That'smy -- the definition I'm

15 Q Okay. Goahead. Feel free. 15 offering that a person of ordinary skill would have
16 A Okay. Sothere might be some other places 16 for connection, applying the standard of the

17 where this concept of distance is discussed that I'm 17 broadest reasonable interpretation in light of the
18 just not finding right now, but it's certainly 18 specification of the patent.

19 discussed herein columns 7 and 8. So it talks 19 Q Andthen how do -- in the '147 patent, how do
20 about a particular example. It says, starting in 20 -- let me take a step back.

21 column 7 at line 62, "For example the distance 21 The '147 patent uses, in the claim, theterm

22 between an originating computer and a certain 22 "computer," isthat correct, in claim 6?

23 receiving computer may be four. After sending the 23 A Yes. That'scorrect.

24 first message, the originating computer and 24  Q Whatisacomputer?

25 receiving computer may become neighborsand thusthe |25 A Inthe context of claim 6?
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Page 74 Page 76

1 Q Yes 1 A Yes

2 A Soacomputer would be understood by a person 2 Q --here'scomputer B.

3 of ordinary skill in the art with respect to claim 6 3 A |seethat.

4 ashaving its ordinary meaning, plain and ordinary 4 Q Okay. Sol apologize. | figured everyone

5 meaning, of just acomputer the way a POSITA would 5 can -- and there must be some physical layer between

6 normaly defineit. 6 computer A and computer B before the method of claim

7 Q Okay. And then how do connections between 7 6isperformed, correct?

8 computers -- how are they formed -- 8 MR. LEE: Objection. Form.

9 A Sothereis-- 9 THE WITNESS: That's the part I'm not quite
10 Q --asthetermisunderstood in paragraph 53? 10 following. So computer A and computer B -- I'm not
11 A Yeah. Soagain, aconnection is"an edge 11 surewhat you'rereferring to here. Arethey -- so
12 between two application programs connected to a 12 you're saying we have to get to the -- to be able to
13 logical broadcast channel that overlays an 13 perform claim 6. That, | understood. And then
14 underlying network." That, | know, isalot of 14 claim -- in this context there's a first computer
15 wordsbut it isthe proper definition under the 15 and a second computer. SoisA and B going to
16 standard of the broadest reasonable interpretation 16 ultimately become thefirst and the second? There's
17 inlight of the specification. In my declaration | 17 aso athird, by the way, too.

18 give several examples of this. But the concept of 18 BY MR.LIN:
19 how these connections are made, what happens when 19 Q |Iredized | asked abad question.
20 they're broken is found throughout the patent. 20 A Okay.
21 Q Okay. 21 Q Letmetryagain. | want to focuson your
22 A AndlI could citeto other locations too if 22 construction of connection. So just -- let's figure
23 you wanted meto. 23 out how two computers can be connected under your
24  Q Wedon' need to do that right now. | just 24 construction of connection.
25 would like to have a correct understanding of how 25 A Okay.
Page 75 Page 77

1 edges are formed between computer A and computer B. 1 Q Socomputer -- there's acomputer A and

2 Sol'mgoing to -- I'm going to refer to the OSI 2 there'sacomputer B.

3 model on page 11, the Tanenbaum figure. 3 A Okay.

4 A Okay. 4  Q And the precondition before any of -- any

5 Q Beforewe start computer A and computer B, | 5 connection can occur, is that there must be some

6 assume there must somehow be a physical layer that 6 physical layer between computer A and computer B,

7 preexists, correct? 7 correct?

8 MR. LEE: Objection. Form. 8 MR. LEE: Objection. Form.

9 THE WITNESS: I'm not sure | understand what 9 THE WITNESS: That's the part I'm not quit
10 you're asking. 10 following because we're talking here, and again as|
11 BY MR.LIN: 11 believeisthe proper definition of a connection to
12 Q Beforethe patent -- before we perform the 12 be "an edge between two application programs
13 method of the patent, there must be some physical 13 connected to alogical broadcast channel that
14 layer between computer A and computer B, correct? 14 overlays an underlying network." And so we havetg
15 MR. LEE: Same objection. 15 have this concept that the underlying network is
16 THE WITNESS: I'm no sure what you mean by 16 capable of these point-to-point connections that
17 "computer A and computer B." That'sthe part I'm 17 then are going to be utilized to form the
18 missing. I'm sorry. 18 connections as are being defined here in the patent,
19 BY MR.LIN: 19 so--

20 Q I'mgoingto-- 20 BY MR. LIN:

21 A Areyou drawing a picture? 21  Q | understand.

22 Q I'mdrawing apicture. Sorry. 22 A Soit soundslike you're building up to that,
23 A Okay. 23 but the part that I'm not quite following is when
24  Q | should beclear. I'mdrawing a picture. 24 you're talking about the physical layer between A
25 Here'scomputer A -- 25 and B, what does that consist of in this context?
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Page 78

Page 80

1 Q Sothere's-- cable A and computer B must be 1 A --isthatright? All right. Soon computer
2 connected somehow so electrical signals can be 2 A, we have an application program that I'm drawing
3 transmitted from computer A to computer B; isthat 3 here.
4 correct? 4 Q Andisthat layer 7 or isthat layers 5, 6
5 MR. LEE: Objection. Form. 5 and7?
6 THE WITNESS: That's not quite correct. So 6 A Inthiscase, inthisexample, let's choose
7 that'sthe part that I'm not quite following, is it 7 layer 7, for example. Sowe'll say layer 7 inthis
8 thatina--inapotentialy big network, there 8 example.
9 could belots of little -- 9 Q Okay.
10 BY MR.LIN: 10 A Andsoagain, thisisjust an example. I'll
11 Q We'retalking about two computers. 11 writethat heretoo. And then, similarly, we have
12 A | know. Butif youwant to doit in the 12 an application program herein -- that's functioning
13 context of what ultimately will become claim 6, you 13 in computer B, also, let'ssay at layer 7. And then
14 haveto talk about it in the context of a bigger 14 sothat's-- we have what we're calling herein the
15 network. Because this connection, the way that it 15 definition an edge between these two application
16 needsto be defined according to claim 6, hasto be 16 programs. So I'm going to draw that asared line
17 apoint-to-point connection in an underlying 17 between the two application programs on the two
18 network. And so you haveto first establish what 18 computers that's now connecting the two computers.
19 doesthat mean. Andin that context, computer A and 19 And we see further that it hasto be
20 computer B might not be connected with a physical 20 connected to alogical broadcast channel that
21 link. 21 overlaysan underlying network. So we have to have
22 Q I'vegotit. Why don't we do this. You're 22 some underlying network, which I'm drawing as a box
23 the professor. Can you explain to me how a 23 inthe middle that -- underlying network -- that
24 connection between computer A and computer B canbe | 24 then provides the point-to-point connection that
25 formed? 25 alowsyou to have communication that can occur
Page 79 Page 81
1 MR. LEE: Objection. Form. 1 between these two application programs on the two
2 THEWITNESS: Yes. 2 computers.
3 BY MR.LIN: 3 Q Andwhat's the underlying network there?
4 Q Okay. Solayer 1, physical layer, how would 4 A Sotheunderlying network, then, would have
5 computer A connect to computer B? 5 these other layers that we talked about. Like layer
6 MR. LEE: Objection. Form. 6 1, layer 2, layer 3, up to layer 4, for example, for
7 THE WITNESS: | think the proper way to think 7 doing TCP/IP, whichiis, | think, discussed in the
8 of itisto actualy think of it from the top down. 8 patent as one of the example ways you can do
9 That first we start with the proper definition of 9 point-to-point connectionsin an underlying network.
10 what isaconnection, and that isthat it is"an 10 Q Can--youused layer 7 of the OSI model.
11 edge between two application programs connected to a 11 Canit ever, under your definition, refer to layers
12 logical broadcast channe! that overlays an 12 5,6and7or5,6o0r 7,5, 6andor 7, some
13 underlying network." 13 combination of those three?
14 BY MR. LIN: 14 A Yesh. Itcanalsorefer tothose. |
15 Q Okay. 15 don't -- | don't see how that's not allowed. | just
16 A Sowe havethetwo computers, A and B. 16 did this example, here, where layer 7 is utilizing
17 Q Okay. 17 functionality from layer 4.
18 A Aml dlowed to draw on your figure? Okay. 18 Q I'msorry, | think | -- 1 don't -- |
19 MR. LIN: Oh, we'll mark this as Goodrich 10. 19 misunderstood. When you say an edge between
20 (Exhibit 10 was marked for identification 20 applications, isit limited to a particular set of
21 by the court reporter and is attached hereto.) 21 layers?
22 THE WITNESS: And I'll usered. It looks 22 A It hasto be something a person of ordinary
23 likeyou are using blue -- 23 skill inthe art would understand as having this
24 BY MR.LIN: 24 functionality that it is an application program.
25 Q Yesh 25 That's absolutely required. And the other essential
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Page 82 Page 84
1 component isthat it overlays an underlying network 1 point-to-point ability?
2 that provides these point-to-point communications. 2 A Arewetdk---
3 Sointhisexample, I'm showing an example where the 3 MR. LEE: Objection. Form.
4 underlying network provides the TCP/IP protocol that 4 THE WITNESS:. Arewetaking -- if we're
5 happens -- actually, | should have drawn it TCP 4 5 talking the OSI model, it -- it can provide not only
6 andIPat 3. 6 that ability but other thingstoo, as | talk about
7 So, for example, it could be setting up TCP 7 when | summarize what other functions can be
8 connections asiits point-to-point communication 8 provided in the session layer with respect to the
9 meansthat then iswhat we're talking about here as 9 OSl model. Soyou could also, if you wanted to, do
10 overlaying the underlying network. So when you 10 itontop of layer 5.
11 overlay an underlying network, you're necessarily 11 BY MR. LIN:
12 going to be utilizing the interface of whatever that 12 Q Sol think I understand what you're saying.
13 network isproviding. So in this example would be 13 A connection isan edge -- let me see. The
14 TCP connections that you would establish asthe 14 application program islimited to layers 5, 6 and
15 underlying network connections. 15 7--
16 Q Sol think | understand the underlying 16 MR. LEE: Objection. Form.
17 network isbasically anything under layers 4 and 17 BY MR. LIN:
18 below? 18 Q --correct?
19 A Inthisexampleitis, yes. 19 A Application -- it depends on which model
20 Q How about in your definition, what's the -- 20 we'retaking about. If we're talking about how
21 whereis-- where -- your definition is "an edge 21 you -- aperson of ordinary skill would understand
22 between two application programs connected to a 22 it with respect to the OSI model, application
23 logical broadcast channel that overlays an 23 programswould exist at layer 7, but they can use
24 underlying network." 24 functionality, for example, from layer 5 and skip
25 Where -- what is the underlying network? 25 over 6 or it could use the functionality from layer
Page 83 Page 85
1 A Yes So-- 1 4and skip over 6. But you haveto have at |east
2 MR. LEE: Objection. Form. 2 that functionality, say, in this example of layer 4,
3 THE WITNESS: Soin this case the underlying 3 of being able to have point-to-point connections.
4 network, as a person of ordinary skill would 4 Point to point, as the patent itself describes, is
5 understand it, has to be what the patent says over 5 what the underlying network is providing. So --
6 and over and over again, has this essential property 6 but, dternatively, if you werein the Internet
7 of an underlying network that it can provide these 7 protocol stack, then it would be all of what the
8 point-to-point communications. It saysthat over 8 Internet protocol stack callslayer 5, would simply
9 andover. Like, for example, let me just go to one 9 just uselayer 4 to provide that point-to-point
10 spot whereit saysit right at the very, very 10 capability.
11 beginning. 11  Q Okay.
12 So if we go to column 4 in the patent and it 12 | think the videographer is running out of
13 saysatline5 (asread), "A broadcast techniquein 13 tapeif you wanted to --
14 which abroadcast channel overlays a point-to-point 14 A Takeabreak?
15 communication network is provided." So that's what 15 Q --takeaquick break.
16 ismeant here when it says, "an underlying network." 16 THE VIDEOGRAPHER: Thisisthe end of media
17 It'san underlying network that provides this 17 1. We're going off therecord at 11:02.
18 point-to-point communication ability. 18 (Recess.)
19 BY MR.LIN: 19 THE VIDEOGRAPHER: Thisisthe beginning of
20  Q Whichwould belayers 4 and below? 20 media2. We're back ontherecord at 11:12.
21 MR. LEE: Objection. Form. 21 BY MR.LIN:
22 THE WITNESS: 4 and below would be providing 22  Q Welcome back, Dr. Goodrich.
23 that point-to-point ability, yes. 23 A Thank you.
24 BY MR.LIN: 24  Q Thank you for coming back. Can you pull up
25 Q Canlayer 5 provide -- provide that 25 your -- the diagram that you drew again.
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Page 86
A Right.

Q Sol think | understand what you're -- you're
trying to say. Andif I'm not summarizing what
you're saying correctly, then please correct me.

A Yeah. Sol think the other thing about this
figureisthat we're trying to illustrate this
concept of connection. So I'm going to write there
at thetop. But, of course, we're not showing the
broadcast channel with any, like, illustration yet.
So I'll write that here too.

Q Thank you. Very helpful. So underlying
network --

A Uh-huh.

Q -- what isan underlying network?

A Sothisideaof an underlying network would
be understood by a person of ordinary skill in the
art to be a network that you are utilizing to
provide this point-to-point functionality. The
patent specifiesthat in several places that that's
what's needed. So, for example, if we go to column
4 and it'snow beginning inline 17. It says, "The
logical broadcast channel isimplemented using an
underlying network system (e.g., the Internet) that
allows each computer connected to the underlying
network system to send messages to each other
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Page 88
this underlying network, it has to be providing

point-to-point connections, that that's specified in
that passage | just read.

It's specified in multiple other places,
point to point, point to point, all the way, for
example, in other lines of column 4 and elsewherein
the patents. A broadcast channel itself provides
its functionality of broadcasting a one to many
communications, not a point-to-point connections.
So aperson of ordinary skill would understand that
is not a point-to-point communications network.
It's, instead, broadcasting.

Q Thank you. Sol think there was some
confusion on my part because it seems like what
you're saying is this underlying network must be a
point-to-point network.

A It hasto provide this point-to-point
capability for -- otherwise, this concept of edges
doesn't make any sense.

Q So--

A You're connecting two things not one too
many. Soit'simplicitin -- in my definition that
it has to be point to point.

Q Soit should say an edge between two
application programs connected to alogical
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Page 87
computer” -- "connected computer using each

computer's address."

Q Can an underlying network be a broadcast

channel aswell?

MR. LEE: Objection. Form.

THE WITNESS:. So I'm not quite understanding
the question. Are you asking -- now, I'm sorry, I'm
not following. Can you explain that what you're
asking.
BY MR. LIN:

Q | think the general concept that I'm trying
to get to isthat can you have a broadcast channel
on top of a broadcast channel ?

A So can abroadcast channel utilize another
broadcast channel as the underlying network. Is
that the question?

Q Yes

A Okay. | -- | think the answer isno to that.
And the reason isthe following. First, the patent
discusses the possibility where application programs
can be connected to multiple broadcast channels, but
never talks about how they can be built on top of
yet another broadcast channel. That's number one.
Number two, as| sit here today, we also have this
reguirement that talks about here that whatever is
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broadcast channel that overlies an underlying

point-to-point network, correct?

MR. LEE: Objection. Form.

THE WITNESS: No. That's not necessary
because we always -- we already have this concept of
point to point in the definition already. When it
say's an edge between two application programs not
five or ten or however many nodes there are on the
network, it has to be between two. So that already
isimplicitly implying that there hasto be
point-to-point capability. So you don't need to put
the words "point to point" in again in the
definition.

BY MR. LIN:

Q That could be redundant, correct --

A That'sright.

Q -- and confusing?

A | don't know if it would be confusing, but it
would be redundant.

Q Okay. | think that clearsup alot of
confusion, but | want to make sure | have the
correct understanding. So this edge between two
application programs connected to a logical
broadcast channel that overlays an underlying
network, which layer -- you said that could happen
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Page 90 Page 92
1 atlayer 7, correct? 1 A Okay.
2 A That'san examplethat | was showing in this 2 Q Why can't you have a connection at layer 4?
3 picture, for example. 3 MR. LEE: Objection. Form.
4 Q Couldit happen at layer 67 4 THE WITNESS. Wdll, it hasit do with the
5 A Yes 5 fact that we're talking about application programs.
6 Q Couldit happen at layer 5? 6 Application programs don't function at layer 4.
7 A Yes 7 They uselayer 4. Sothat's-- that'swhy | was
8 Q How about layer 4? 8 getting confused by your question.
9 A Notif youreusing TCP/IP, no. At layer 4 9 BY MR. LIN:
10 or any other layer that | can imagine, actualy, 10 Q Okay. If a--if Bims-- sorry, Goodrich 10,
11 just sitting here today. 11 inthat diagram, if a-- if layers 1, 2, 3, and/or 4
12 Q AndI assumethat it can't -- this edge 12 do not exist -- sorry, let metry again.
13 cannot exist at layer 3, correct? 13 If layers 1, 2, 3, and 4 do not exist between
14 A That'scorrect. 14 computers A and computers B in Goodrich 10, isit
15 Q Layer2? 15 possible to have a connection under your
16 A No. 16 construction?
17 Q Layer1? 17 MR. LEE: Objection. Form.
18 A Déefinitely not. 18 THE WITNESS: I'm sorry, | don't understand
19 Q Okay. Sotheunder- -- let'swork our way 19 your question at all. So Goodrich 10 isreferring
20 back. So the underlying network, though, could be | 20 to my picture.
21 layer 5 and the over the edge would be at layer 6; 21 BY MR.LIN:
22 isthat correct? 22 Q Correct.
23 A | think that's possible. 23 A Andthen what's the question? What exists
24  Q Andthenifit'sat layer 5, the edge could 24 now? You'retaking away the network in the middle?
25 asobeat layer 7; isthat correct? 25 Q Yeah. Weretaking about layers 4, 3,2 and
Page 91 Page 93
1 A Yes |thinkthat'salso possible. 11
2 Q Andthenif thelayerisat layer -- if the 2 A Sothere'sno longer anetwork in that case
3 point-to-point edgeis at layer 6, then the 3 aall
4 overlay -- the edge between the two application 4 Q Why?
5 programswould be at layer 7, correct? 5 A Youwouldn't even have physical links anymore
6 A Now I'm getting confused. I'm sorry. 6 at that point.
7 Q Letmetry and say that again. 7 Q Okay. But-- okay. Thank you. How about if
8 A Okay. 8 any one of those four layers were removed, could
9 Q If theunderlying network is at layer 6, then 9 there till be a connection?
10 theoverlay edge could be at layer 7? 10 MR. LEE: Objection. Form.
11 A Yes 11 THE WITNESS: I'm not understanding that
12 Q Okay. Thank you. You said somethingthat | 12 question either.
13 I'm having some difficulties with reconciling. Why | 13 BY MR. LIN:
14 can't you have an edge at layer -- I'm sorry, strike 14 Q Okay. Let'ssay -- sorry.
15 that. 15 A Goahead.
16 Why can't you have a connection at layer 4? 16 Q That was-- let metry abetter question.
17 MR. LEE: Objection. Form. 17 A Yeah
18 THE WITNESS: I'm not -- I'm not 18 Q Let'ssay thereisno TCP/IP connection
19 understanding the question now. 19 between computers A and B so that thereis no
20 BY MR. LIN: 20 connection at layers 3 and 4 between computers A and
21  Q Why can't you have an edge at layer 4 that 21 computers B?
22 overlayslayer 3? 22 MR. LEE: Objection. Form.
23 MR. LEE: Objection. Form. 23 THE WITNESS: In this example, which we were
24 BY MR. LIN: 24 using the Internet, what are we -- so we don't even
25 Q Letmetry onemoretime. 25 haveareplacementto3and 4 at al?
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Page 96

1 BY MR. LIN: 1 say -- let'skeep thiseasy -- 5A and 5B about?

2 Q Correct. 2 A Okay. So5A isillustrating the

3 A Sointhat scenario we only have the data 3 disconnecting of a computer from the broadcast

4 link layer, so | don't see how we can -- | don't see 4 channdl in the planned manner.

5 how we can have a connection at all. 5 Q Uh-huh.

6 Q Okay. Thank you. Let'smoveon. 6 A 5Billustrates the disconnecting of a

7 A Okay. 7 computer from the broadcast channel in an unplanned

8 Q That wasvery helpful. Thank you. 8 manner.

9 A Yourewelcome. 9 Q Okay. And thenwhen you disconnect, thisis
10 Q Let'smoveto the patent. 10 sometime after the disconnect procedure or sometime
11 A Sorrytointerrupt. Do we need to mark this 11 during the disconnect procedure, correct?

12 andgiveit -- 12 A Whenyou say "this' what are you referring
13 Q Yes Goodrich 10. Couldyou handittothe |13 to?
14 court reporter, please. 14 Q Figures5A and 5B.
15 A Allright. Fun stuff. 15 A Oh. Let'ssee. Sowith respect to 5A, the
16 Q Sothe'l47 patent is about disconnecting a 16 solid lines are showing, | believe, a person of
17 computer from avariety of computers. 17 ordinary skill would understand to be the situation
18 Do you agree with me? 18 before a disconnection and in a planned manner, as
19 MR. LEE: Objection. Form. 19 wesaid. And with respect to 5B, | believe the
20 THE WITNESS: So for -- arewe focusing now | 20 solid lines are showing what's happened after a
21 onclam6? 21 disconnection in an unplanned manner.
22 BY MR.LIN: 22 Q And before we get to Figure 5A and 5B, would
23 Q Yes. 23 you agree with me that Figure 1 shows before, the
24 A Okay. Sowithclaim 6 what it'sreferring to 24 before step?
25 is"A method for healing a disconnection,” which we| 25 MR. LEE: Objection. Form.
Page 95 Page 97

1 had talked about earlier, is an unplanned 1 THE WITNESS: So Figure 1 has al the same

2 disconnection "of afirst computer from a second 2 solid lines as Figure 5A, if that's your question.

3 computer, the computers being connected to a 3 Now, comparing it to 5B -- so comparing Figure 1 to

4 broadcast channel, said broadcast channel beingan | 4 5B, each of the solid linesin Figure 1 are also

5 m-regular graph wheremisat least 3," and then it 5 found in Figure 5B except for those that are

6 gives some steps of a method. 6 connected to the node marked H.

7 Q Would you mind turning to Figures 5A throught 7 BY MR. LIN:

8 5F. 8 Q Solet'sturnto column 8, line 63 where --

9 A I'matbA. 9 with the heading "Decomposing the Graph."

10 Q Doyou know what Figures 5A through 5F are | 10 A What, line? Oh, line 65?

11 about? 11 Q VYes

12 A Wadll, each one haslikeits different thing 12 A | seethat.

13 it'strying toillustrate. Do you want to focus me 13 Q Andyou seethat sentencethat says, "A

NNNNNDNRPRPERRERERPR
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on just one or try to do them al at once?

Q | just kind of wanted to know, you know, what
the category of these figures are about. But why
don't | help you out here. Let'sgo to column 2,
line 59 --

A Okay. I'mthere.

Q --tocolumn 3, line4.

A | seethat.

Q Canyou -- I'll giveyou asecond to read
about what these figures are about.

A Okay.

Q Andyou -- what are Figures 5A to, let's

14
15
16
17
18
19
20
21
22
23
24
25

connected computer disconnects from the broadcast
channel either in a planned or unplanned manner,"
correct?

A Yes.

Q So Figure 5A is about the planned manner,
connect?

A It'san examplethat wastrying to illustrate
some aspect of the disconnection in a planned
manner.

Q Correct. And then Figure 5B isthe unplanned
manner, correct?

A Yeah. Figure 5B isillustrating some aspect
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Page 98

Page 100

1 of what happens in the disconnection in an unplanned 1 disconnectsin an unplanned manner, such as
2 manner. 2 resulting from a power failure, the neighbors
3 Q Okay. Soyou canseein Figure -- line 66 of 3 connected to the disconnected computer recognize the
4 column 8 to column 9 says, "When a computer 4 disconnection when each attempts to send its next
5 disconnectsin a planned manner, it sends a 5 message to the now disconnected computer.” Soin
6 disconnect message to each of its four neighbors." 6 this case, they never got news of this
7 Y ou see that? 7 disconnection. It was unplanned. Hence, they only
8 A I'mthere. Yeah, | seethat. 8 discover it later when they tried to send this
9 Q Andthen -- so what's a disconnect message? 9 message to that computer. It'slike, Bob, where'd
10 A Isthereaplacein my declaration where 10 you go? Bob, hello. And there's-- say inthis
11 you'rereferring to this? 11 example, there would be no reply.
12 Q I don't remember off the top of my head, but 12 BY MR.LIN:
13 it's--it'sinclaim 1. 13 Q Soitseemsto me-- strike that.
14 A Right. Butthat wasn't the scope of the IPR, 14 Did you -- did you fully consider the concept
15 soI'mtrying to ask how that would relate. Maybe 15 of planned disconnections when rendering your
16 I'm confused because I'm not seeing how that relates 16 opinion about unplanned disconnections?
17 to disconnecting in an unplanned manner, which was 17 MR. LEE: Objection. Form.
18 the scope of my analysis. 18 THE WITNESS: As| mentioned at the beginning
19 Q |Ithink I'll getto that -- 19 today, | read the entire patent, in fact, multiple
20 A Okay. 20 times. Hence, | read this discussion about leaving
21 Q --buttrust me, it'srelated. 21 inaplanned manner, understood what that was
22 | mean, do you -- do you know what a 22 discussing. But since the claimsthat deal with the
23 disconnect message is? 23 planned departure of a node were not a part of this
24 MR. LEE: Objection. Form. 24 proceedings, | didn't include opinions about that or
25 THE WITNESS: It saysit in the very next 25 analysis about that because what mattered for this
Page 99 Page 101
1 sentence. "The disconnect message includes alist 1 IPR iswhat happensin the unplanned case.
2 that identifies the four neighbors of the 2 BY MR.LIN:
3 disconnecting computer. When a neighbor receives 3 Q Soforclam6isityour opinion that only
4 the disconnect message, it tries to connect to one 4 the section starting in column 9, line 26 and
5 of the computerson thelist." 5 following that until the end, that's what matters to
6 BY MR.LIN: 6 claim 6 -- tointerpreting claim 6?
7 Q Why isthere-- why isthere a disconnect 7 A That'sparticularly relevant to claim 6, that
8 message in a planned manner but not in an unplanned 8 paragraph. There's some relevance of the previous
9 manner? 9 paragraph because that's illustrating what is now
10 MR. LEE: Objection. Form. 10 missing, an example of something that's now missing,
11 THE WITNESS: Sointhe-- inthe case of a 11 and you can't rely on when you're not talking about
12 disconnection, as the patent describes it, that can 12 how to do the disconnection in the unplanned manner.
13 either happen in a planned manner, in an unplanned 13 Q Okay. So doesthis method of sending the
14 manner. So in aplanned manner, the node that is 14 disconnect message in lines 1 through -- | don't
15 leaving the broadcast channel is deliberately 15 know, 26. Sorry. Let metry again.
16 leaving saying bye, guys, I've got to go eat dinner. 16 Do the lines from lines 1 through, let's say,
17 You know, whatever. Soit tellsits neighbors I'm 17 11, doesthat guaranty that a-- the netwo- --
18 leaving with this disconnect message. It sendsa 18 network will recover to m-regular in a planned
19 message to inform them positively that the computer 19 disconnection?
20 that'sleaving the network isleaving and that's -- 20 MR. LEE: Objection. Form.
21 you know, has all this -- you know, benefits and 21 THE WITNESS: So it wasn't apart of the
22 functionality that has been described here in this 22 anaysis| did for my declaration to talk about the
23 paragraph that we're in now. 23 planned disconnection and how you recover from the
24 If we go to the next paragraph it says, "When 24 planned disconnection. But | did read these
25 a'-- whichishere at line 27, "When a computer 25 passages. They talk about this planned
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Page 102 Page 104
1 disconnection and what to do to get back to this 1 somehow they receive abusy signal because of a
2 state of being m-regular for somem. But thisis 2 firewall or -- or something.
3 not the only place because we pick up again in 3 Can you follow my hypothetical with me so
4 column 9 that -- further down in line 52 -- further 4 far?
5 discussions about what to do, how to recover in a 5 A Now I'm getting confused, but go ahead with
6 planned or unplanned disconnection in certain cases.| 6 it. It'sfine.
7 So aperson of ordinary skill in the art 7 Q Okay. Well, let'sjust say for some reason A
8 wouldn't just look at that one little paragraph at 8 and| -- let metry one moretime.
9 thetop of column 9, but would look to this entire 9 Soin Figure 5A, node H isleaving. Good-bye
10 discussion herein the '147 patent beginning in 10 everyone, I'm leaving, here'salist of my
11 column 8 and then going on. And then there's other | 11 neighbors --
12 passages that kind of revisit the samething later. 12 A |believethat'strue.
13 BY MR. LIN: 13 Q --AEILF
14 Q Okay. Well, let me-- let me-- let me help 14 A |believethat'strue. Sol think -- just to
15 you out and direct you to column -- column 9, lines | 15 be sure, let me just check.
16 12 16 Q Okay.
17 A Okay. 17 A There'sadescription of 5A, | think, inthe
18 Q 12to 14 -- 12 through 14. It says, "If 18 text.
19 connections cannot be established, each computer |19 Q Okay.
20 broadcasts a message that needs to establish a 20 A Yes Soherel think that's afair
21 connection with another computer,” correct? 21 characterization because when we go to column 9 and
22 A | seethat. 22 begin at column -- at line 19 it says (as read),
23 Q Soisit correct that even in the planned 23 "Figure 5 illustrates the disconnecting of a
24 disconnection, sometimes connections cannot be 24 computer from the broadcast channel in a planned
25 established? 25 manner. When computer H decides to disconnect, it
Page 103 Page 105
1 A Oh,I think the confusion hereiswhether or 1 sendsitslist of neighborsto each of its neighbors
2 not they can be established immediately with respect 2 (computers A, E, F and |) and then disconnects from
3 tothis planned disconnection. So, for example, if 3 each of its neighbors. When computers A and |
4 we go back to thisfigure, Figure -- let's say 5A, 4 receive the message they establish a connection
5 thisisnow, again, illustrating the planned 5 between them asindicated by the dashed line, and
6 disconnection. Solet'ssee, 5-- no, 5A isnot a 6 similarly for computersE and F."
7 great example of this. 7 Q Andsothere'sno reason that A is going to
8 Yeah. So5 --if 5A isshowing the -- the 8 immediately connect to | and E isimmediately going
9 good case. Soin 5A what happens, H tells each of 9 toconnectto F, right? It's -- they're going to
10 itsneighbors, A and I, F and E, that it wantsto 10 try -- | don't know how, but they're going to try
11 disconnect and tells each of them, hey, I'm 11 someway to connect to one another, A, |, E and F,
12 connected to A, |, Fand E. And then in this 12 correct?
13 example we have the dashed lines being shown between | 13 MR. LEE: Objection. Form.
14 A and| and E and F to indicate that now A and | are 14 THE WITNESS:. That's the part I'm confused by
15 going to connect up and E and F are going to connect 15 inyour question, isthat here in the explanation it
16 up. But that might not aways be possible 16 was precisely because of the fact that H isleaving
17 immediately. 17 inthe planned way and he'sinforming them that I'm
18 For example, if E and F were already 18 connectedto A, E, F and | that they -- and he sends
19 connected up in this example, then even in this 19 that message, this disconnect message, which in this
20 planned case E and F can't just connect up 20 exampleincluded that list, to each of those nodes
21 immediately because they're already connected. 21 towhich heiscurrently connected. And so they
22 Q Correct. Solet'ssay for example A and | 22 immediately know A should connect to I, and A and
23 try to talk to one another and E and F try to talk 23 know they're already not connected because they can
24 to one another in the hypothetical you just posed or 24 just look at their connections. And similarly, E
25 the description of the -- what's happening -- but 25 and F can know that they need to connect up and so
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they just connect up. That's definitely plausible
in this hypothetical.
BY MR. LIN:

Q SolI'mgoingto have -- | know you're the
professor, but I'm going to have to disagree with
you slightly here because | don't know how A knows
that it needs to connect to | and | needs to connect
to A. | mean, easily, doesn't it seem that | could
connect, try to connect to F when H isleaving?

MR. LEE: Objection. Form.

THE WITNESS: Oh, yeah. Sothat's-- a
person of ordinary skill in the art hearing -- or
reading this, what | just read in column 9, would
understand in this example how that would work. Sa
in particular in this example, that would -- what
you're anticipating would absolutely not be
necessary because H is sending thislist in this
order, A, E, F, I, and he sendsit to each of A, E,
Fand|. That'swhat it says herein the plain
language. So each of us, if were A, E, Fand I,
getsthislist that says A, E, F, | inthat list.

And so A could look at that and say I'm already
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Page 108
for computers E and F." And the message itself
could be given in acertain order so that the
computers know what order should we try to -- you
know, what are the preferred pairings. We need, if
possible, to pair up two pairs of us with new
connections. And that could beimplicit in the
message that is being set and how the order is being
the -- theli- -- how thelist is ordered.

For example, that is yet another way you
could do it without sending any more messages,
except perhaps even this would not be necessary,
some kind of confirmation where E saysto I, hey,
we're connected and E and F says, hey, we're
connected. But that might not be needed. Y ou could
just -- everybody could just know that's what's
happening now, so that's allowed herein this
discussion.

Q Sol understand that H could be programmed to
somehow tell apreferred set of connections between
A and | and E and F, but | also think that the
disconnect message can just not include any
preferred orderings.

23 connectedto E and F, | don't need to contact them, | 23 Isthat your understanding too?
24 obviously. My only possibility to connect up tofix |24 MR. LEE: Objection. Form.
25 thisisto connecttol. Similarly, when -- 25 THE WITNESS: In this context I'm not
Page 107 Page 109
1 BY MR.LIN: 1 understanding the question. Before, | thought the
2 Q Canl--I'msorry tointerrupt. 2 question wasisit required that people send other
3 A Yeah 3 messages to establish these connections. The answer
4 Q Becausethere's so much stuff going on here, 4 isno. And | gave an example where that would not
5 | think it helpsto take this one step at atime. 5 be necessary.
6 Sol agreewith you that once A getsthelist of A, 6 BY MR.LIN:
7 |, EandF, A will know that it is connected to E 7 Q Correct. | agreewith you there.
8 and F and will say the only person| cantry isl. 8 A Andsoif you'reasking now are there other
9 | agree with you there. However, when | receives 9 scenarios where you might have to do more messages
10 thelistof A, E, Fandl, | says, well, | can 10 after H leavesin a planned manner, that answer is
11 connect to A or F, so either one seemsplausibleto | 11 alsoyes.
12 me. | can--| could try to connectto FwhileAis |12 Q Yes
13 trying to connect to A. 13 A Asl highlighted in the column 9, thiswhole
14 Isthat plausible? 14 discussion -- it'salong discussion that begins at
15 MR. LEE: Objection. Form. 15 line 52 that says, "It is possible that a planned or
16 THE WITNESS: I'm trying to work through this 16 unplanned disconnection may result in two
17 hypothetical. 17 neighbors... having an empty internal port. In such
18 BY MR.LIN: 18 acase, sincethey are neighbors, they are already
19 Q | know it's multiple steps, so -- 19 connected and cannot fill their empty ports by
20 A Right. Sotheway that it'swritten herein 20 connecting to each other.” So that'sthat -- it's
21 column 9, the way that it's described, doesn't 21 not shown herein the Figure 5A, but that's a
22 include any of that other stuff that you just said. 22 scenario that totally could happen, where you
23 It just said that "when computers A and | receive 23 disconnect on purpose in a planned way, but the end

N N
(SRS

the message they establish a connection between
them...indicated by the dashed line, and similarly

24
25

points don't immediately know how to connect up
again.
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Page 110

Q I think we're on the same page, Dr. Goodrich.
Let me try one more time to just make sure that it's
straightforward. Starting on column 9, Figure (sic)
6, it says, "In one embodiment, the first computer
in thelist will try to connect to the second
computer inthelist."

A Where areyou at now?

Q I'msorry, column 9, line 5 -- line 6.

A Thereyougo. Yep.

Q "In one embodiment, the first computer in the
list will try to connect to the second computer in
thelist, and the third computer in the list will
try to connect to the fourth computer in the list."

A Right. That'swhat | was talking about.

Q Correct? "If acomputer cannot correct (sic)
(e.g., thefirst and second computers are already
connected), then the computers may try connecting if
various other combinations."

A Uh-huh.

Q Correct? Agreed?

A Yes.

Q "If connections cannot be established, each
computer broadcasts a message that it needsto
establish a connection with another computer,”
correct?
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Page 112
relate to the paragraph column 9, 26 to 517

A No.

Q Okay.

A No. I'm saying that that referenceto the
discussion herethat isin column 9 in -- from lines
9to 12, isaforward reference to the discussion
that occurs in column 9 beginning in row 52.

Q | agreewithyou. Okay. Thank you. So--
so isthat this message that they're talking about,

"If connections cannot be established, each computer
broadcasts a message that needs to establish a
connection with another computer.” Do you know what
message that is?

When it says "amessage," do you know what
message it's referring to?

A Soif we skip down now to line 52 --

Q Uh-huh.

A --itsays, "Itispossible that a planned or
unplanned disconnection may result in two neighbors
each having an empty internal port."

Q Okay.

A "Insuch acase, since they are neighbors,
they are already connected and cannot fill their
empty port by connecting to each other. Such a
condition isreferred to as the 'neighbors with
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Page 111

A Yes. That'swhat it says.

Q Soeveninaplanned disconnection, it seems
that connections may not form in the section that |
just read, correct?

MR. LEE: Objection. Form.

THE WITNESS: So I'm not -- I'm not maybe
fully following your -- your question. If your
question is -- we have this discussion here in this
paragraph of what to do most of thetimein a
planned disconnection.

BY MR. LIN:

Q And, "this paragraph," you're talking about
column 9, 1 through 26?

A That's correct. Then the next paragraph,
which goes from to 27 to 51, talks about a scenario
in the unplanned -- you know, introducing a scenario
that occursin the unplanned manner. And then we
pick up at column -- at line -- in column 9 at
line 52 with a scenario that can occur in either the
plan or the unplanned and talks about how to fix
that. So the discussion does not end at line 12.

It kind of then skips over the next paragraph and
then picks up again at line 52 even in the planned
disconnection case.

Q Soit'syour opinion that lines 11 through 12
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Page 113
empty ports connection (sic). Each neighbor
broadcasts a port connection request when it detects
that it has an empty port as described above." So
this message you're referring to as being broadcast
isthisthing that's called a port connection
reguest here in this example of an embodiment.

Q Isthat the same as a connection port search
message in claim 6?

A It'san embodiment of thisthing that's
caled, in claim 6, a connection search port
message -- connection port search message.

Q Okay. One embodiment?

A Yes.

Q Okay. All right. Let'smove to column 9,
line 27.

A I'mthere.

Q "When a computer disconnectsin an unplanned
manner, such as resulting from a power failure, the
neighbors connected to the disconnected computer
recognize the disconnection when each attemptsto
send its next message to the now disconnected
computer."

What does it mean there when it says, "each
attempts'?

A | think it means exactly what it says, that
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Page 114

Page 116

1 each attemptsto send its next message and that's 1 Q Anditsays, "Each former neighbor of the
2 when it discoversit's not connected anymore to that 2 disconnected computer recognizes that it is short
3 disconnected computer. 3 oneconnection (i.e, it has ahole or empty port)."
4 Q Whenyoulook at claim 6, does claim 6 4 What does that mean?
5 require each computer to perform this task to send 5 A Oh, sowhat thisisreferring to isthis--
6 its next message? 6 referring back now in the patent to this discussion
7 A No. 7 giving an example of when M is 4 where each computer
8 Q Why? 8 would have four internal ports that are connected to
9 A Because of the language of the claim. If we 9 the other computers in the broadcast channel and one
10 gotoclaim 6 -- now we're skipping to the third 10 external port, for example, that could do other
11 step. It says, "having athird computer” -- well, 11 administrative tasks. So now hereit's saying that
12 no, let's go to the second step first. 12 when this unplanned disconnection happened, then one
13 "...when the attempt to send the message is 13 of itsfour internal portsisnow empty or hasa
14 unsuccessful, broadcasting from the first computer a 14 hole, isthe metaphor they're using, that it's short
15 connection port search message indicating that the 15 aconnection.
16 first computer needs a connection.” So thisisthat 16 Y ou want to be maintaining, in this example,
17 broadcasting of that type of a message. 17 four neighbors. You've only got three. Now you're
18 Q Uh-huh. 18 short one. You have an empty port or ahole, isthe
19 A Thenwe go to the next step and it says, 19 way it'stalking about here.
20 "...having athird computer not already connected to 20 Q Okay. Inyour -- I'm sorry to jump around.
21 said first computer respond to said connected port 21 But in paragraph 47 on page 24 of your
22 search message in amanner as to maintain an 22 declaration --
23 m-regular graph." So what we see from hereis that 23 THE REPORTER: I'm sorry, can you repeat that
24 aperson of ordinary skill in the art reading this 24 paragraph.
25 would understand that the message that's coming from 25 MR. LIN: Paragraph 47.
Page 115 Page 117
1 thethird computer has to be a message that will 1 THE WITNESS: I'm at paragraph 47.
2 ultimately lead to an m-regular graph, that thisis 2 BY MR.LIN:
3 aprocess that will lead to that. But it did not 3 Q Yes
4 say, for example, here, so asto result in an 4 A That'scorrect.
5 m-regular graph. 5 Q Yes. It'syour construction of "healing a
6 Instead, "so asto maintain an m-regular 6 disconnection of afirst computer from a second
7 graph." Soit -- and, indeed, when we talk -- when 7 computer.”
8 wego back and look at the text we just read, each 8 A Yes | seethat.
9 of these neighbors would -- could potentially have 9 Q Does"involuntarily been disconnected," does
10 todo the stepsin order to ultimately get to an 10 that mean the same thing as unplanned manner?
11 me-regular graph. Whichiswhy when | wasreading | 11 A Yes.
12 earlier from column 8 it saysthat -- it'sreferring 12 Q Why? Actualy, I'msorry, let me-- let me
13 to "When the broadcast channel isin asteady state | 13 try it thisway.
14 (i.e., no computers connecting or disconnecting from| 14 A Okay.
15 the broadcast channel)." And elsewhereit talks 15 Q If I'mplaying agame and my wife comes by
16 about how the broadcast channel would be m-regular| 16 and yanks the power cord out of the socket, I'm
17 inasteady state. 17 disconnected. It was voluntary on her part, it was
18 Q You seethat the next sentence that says, 18 planned on her part.
19 "Each former neighbor of the disconnected computer| 19 Does that constitute an involuntary
20 recognizesthat it is short one connection (i.e., it 20 disconnection?
21 hasahole or an empty port)," correct? I'm sorry, 21 A Yes
22 let me-- 22 MR. LEE: Objection. Form.
23 A What line were you on again? 23 THE WITNESS: Yes, absolutely. Infact, it's
24  Q Column9,line31to 33. 24 anticipated herein column 9, line 27. "When a
25 A Yes, | seethat. 25 computer disconnectsin an unplanned manner, such as
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Page 118 Page 120
1 resulting from apower failure. You just gave me 1 A I'mthere.
2 an example where your computer just had a power 2 Q | believeit'sreferring to Figure 5B.
3 failure, and that's an unplanned disconnection from 3 A That'scorrect.
4 the perspective of the computer. 4  Q | guessthefull cite would be from lines 43
5 BY MR.LIN: 5 to51incolumn?9.
6 Q Okay. Sothevoluntary or unplanned hasto 6 A 42, but who's quibbling.
7 befrom aparticular perspective, correct? 7 Q Okay. Canyou explain to me how do computers
8 MR. LEE: Objection. Form. 8 A, I, E and F know who to connect to?
9 THE WITNESS: I'm using this word 9 A Yes
10 "involuntary" to refer to this aspect to contrast it 10 Q Couldyou, please.
11 from the disconnection in a planned manner where the 11 A Sure. Sothisisthislead-into what's now
12 computer disconnecting is doing this deliberately 12 occurring when we begin in 52. So in this scenario,
13 andinaway that has -- sending messages to correct 13 H has been disconnected in an unplanned way. Each
14 its planned disconnection. So thisinvoluntary 14 of hisneighbors, A, E, F and I, recognize the
15 aspect is-- isreferring to the fact that you don't 15 disconnections. Again, they did that because they
16 havethat -- components that you have with the other 16 tried to send H amessage and it was unsuccessful,
17 claimslike claims 1 through 5. 17 so they recognize, ooh, we're not connected to H
18 BY MR.LIN: 18 anymore. So each neighbor broadcasts a port
19 Q Sowhenyou say involuntarily been 19 connection request indicating that it needs to fill
20 disconnected, what you mean is to be coextensive 20 anempty port. Inthisexampleit'sdoing a
21 with whether a computer disconnects in an unplanned 21 shortcut discussion, and then it says, "As shown in
22 manner; isthat correct? 22 the dashed lines, computers F and | and computers
23 A I'mnot sure what you mean by "coextensive." 23 E" --"A and E respond to each other's requests and
24  Q Youmean the same thing. 24 establish a connection.”
25 A Ithinkit-- | thought it meant the same 25 Q It'snot your opinion, though, that a
Page 119 Page 121
1 thing when | said that, that it's referring to the 1 connection port search message needs to contain all
2 disconnection in an unplanned manner. That'swhy || 2 of these details, isit?
3 keep saying that over and over again, for example, 3 A I'mnotfollowing that question. What do you
4 in page 4- -- in paragraph 48. 4 mean "al of these details'?
5 Q Okay. Thank you. But it's not entirely 5 Q Thedetailsthat you just described in how
6 clear to methat it means the same thing. But now 6 these computers connect to one another in an
7 that | know that it means the same thing to you, it 7 unplanned manner.
8 makesthe construction -- | understand it. Youalso | 8 MR. LEE: Objection form.
9 usetheterm, | think, "abruptly" to discuss this 9 THE WITNESS: I'm sorry, I'm still not
10 term. | can't seemto find it at the moment. 10 following the question. What do you mean by "all of
11 Do you recall that? 11 thesedetails'? I'm not following with what you're
12 MR. LEE: Objection. Form. 12 including in all of those -- could you, like, recap
13 THE WITNESS: Not asl sit here today. | 13 or rephrase?
14 don't seethat in these paragraphs. 14 BY MR.LIN:
15 BY MR. LIN: 15 Q Themethod of the port connection request.
16 Q Well gettoit. But would you say that 16 A I'mtill confused. I'm sorry, I'm not --
17 abruptly does not mean the same thing as an 17 canyou start over at the beginning --
18 unplanned disconnection? 18 Q Yes.
19 MR. LEE: Objection. Form. 19 A --andjustask thequestion. I'm sorry
20 BY MR.LIN: 20 about that.
21 Q Welljust come across -- we'll deal with it 21 Q Noproblem. Let metry to -- earlier we said
22 when we come across it -- 22 aconnection port search message -- I'm sorry,
23 A Okay. 23 strike that.
24  Q --inyour declaration. So do you seethe 24 Earlier we said, maybe ten minutes ago, that
25 lines, column 9, 45to 51? 25 aport connection request is one embodiment of a
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Page 122

Page 124

1 connection port search message. 1 column 10, line 2, it says, "condition check message
2 A | believethat's correct. 2 tothe other neighbor.” You can read the full
3 Q Isittheonly embodiment of aconnection 3 sentenceif that will help you.
4 port search message? 4 A Okay. Okay. I'veread the paragraph up to
5 A Asl sit heretoday, I'm not thinking of 5 that point.
6 another one. But I'm -- that doesn't mean that it's 6 Q Doesaconnection port search message have to
7 not categorically possible. Asl sit here today, | 7 have acondition check message?
8 can't think of another possibility. 8 A No.
9 Q Ithink my question wasbad. Let metry one 9 Q Isaconnection check message another way to
10 moretime. In--inlinescolumn 9, line 33 to 37, 10 execute the port connection request?
11 that seemsto be describing one type of port 11 A I'mnot understanding the question. What do
12 connection request; isthat correct? 12 you mean by "execute the port connection request™?
13 A ltliteraly says"port connection request" 13 Q It'safair question. Let metry to sum up
14 inthe sentence. It says, "When a connected 14 differently -- in column 9, line 52 to -- it looks
15 computer detects that one of its neighborsis now 15 like column 10, line 65, they're talking about
16 disconnected, it broadcasts a port connection 16 various scenarios that may happen when computers are
17 request on the broadcast channel, which indicates 17 trying to connect to one another in order to
18 that it has oneinternal port that needs 18 maintain an m-regular graph, correct?
19 connection." 19 MR. LEE: Objection. Form.
20 Q Isthat embodiment different than the one 20 THE WITNESS: It's this whole discussion that
21 described inlines 45 to 517 21 wejust highlighted in this area from column 9, 52
22 A Itlooksto bethe same type of a message 22 1010, 65 and then illustrated with some examples
23 becauseit says, here down at line 45, "When each of | 23 that even come after that is discussing various ways
24 itsneighbors, computer A, E, F and |, recognizes 24 you can then be recovering from and fixing and
25 the disconnection, each neighbor broadcastsaport | 25 getting back to being an m-regular network.
Page 123 Page 125
1 connection request indicating that it needs to fill 1 BY MR.LIN:
2 an empty port." 2 Q Agreed. Port connection request in this
3 Q Okay. 3 scenario can be executed in different waysusing --
4 A Oh, thereisasubtle difference here that 4 strike that.
5 thisissaying that this port connection says -- is 5 So a condition check message may be used asa
6 indicating it needsto fill an empty port and the 6 part of the connection port search message to
7 other oneisidentifying a call-in port for the 7 getting back to being an m-regular network, correct?
8 requesting computer. 8 A No. | wouldn't characterizeit that way.
9 Q Sothey'redifferent? 9 Q How would you characterize it?
10 A |don't know if they're necessarily 10 A Soit'stalking about aresponse because it
11 different. | think it's highlighting different 11 sayshere, up at the top of 10 -- actually, starting

[
N
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13
14
15
16
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18
19
20

at the bottom of 9, "To detect this condition in the
large regime" -- that's when we have alarge-enough
number in the nodes in the broadcast channel --
"which would be a problem if not repaired, the first
neighbor to receive the port connection request
recognizes the condition and sends a condition check
message to the other neighbor.” So what we see here
isthat the condition check messageisin response

to a port connection request.

aspects of what can be included in a port connection
reguest. Y ou can beincluding, for example, the
call-in port. Hey, call me back on this port, you
know, to tell me how to -- how to -- how to heal.
Or the other caseit's saying | need to just -- you
know, | need to heal. Help me out.

Q Sothey'redifferent waysto fulfill the
purpose of the port connection request, correct?

A These are different examples of things you

R R e e
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21 canincludein the port connection request. 21 Q Okay. Isthat -- isthe condition check

22 Q Andisthe port connection request limitedto | 22 messageintheclaim of clam 6 or 1 or 11? Let's
23 it hasto have a-- sorry, strike that. 23 just focuson 6, actualy.

24 | mean, okay. Let me-- let meseeif | can 24 MR. LEE: Objection. Form.

25 ask thisadifferent way. Online 10 -- sorry, 25 THE WITNESS: So we have, in claim 6, this
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Page 126 Page 128
1 element here at the end "having a third computer not 1 Q Andsamequestion: Isthat limitation having
2 aready connected to said first computer respond to 2 athird computer not already connected to said first
3 said connection port search message in a manner as 3 computer respond to said connection port search
4 to maintain an m-regular graph." So here we have an 4 message -- does it require a condition repair
5 example of an embodiment of something that would be 5 request?
6 amessage that'sin response to this port connection 6 A lItrequiresthat it fulfill thisclaim
7 request message, and with this further being a 7 language, which isyou must respond in a manner as
8 message that is going to be leading to maintaining 8 tomaintain an m-regular graph. These are examples
9 m-regular graph. 9 of waysthat are responses as to maintain an
10 BY MR. LIN: 10 m-regular graph. There may be others, but certainly
11 Q Isthis--isthislimitation "having athird 11 we have an embodiment that is described here in the
12 computer not already connected to said first 12 patent.
13 computer respond to said connection port search 13 Q Canyou -- canyou tell mewhat the -- |
14 message in amanner asto maintain an m-regular 14 guessthe commonality is between -- no, you know,
15 graph," isit limited to the use of a condition 15 never mind.
16 check message? 16 So we've mentioned a disconnect message, a
17 A No. 17 connection port search message, a port connection
18 Q Okay. Canyou go to column 10, lines -- what 18 request, a condition check message, a condition
19 | -- what | would like you to focus on is 29, which 19 double-check message and a condition repair request
20 isa"condition double check message.” 20 correct? | can repeat it if you need it.
21 A | seethat. 21 A No. | believethat's correct.
22 Q Canyou read the sentence that it contains. 22 Q Sorry,it'salot of messages. Arethose
23 A Certainly. 23 messages limited to a particular type of programming
24  Q Please. 24 language?
25 A Infact, why don't we go up to line 25 at the 25 A Do you have aplacein my declaration where |
Page 127 Page 129
1 beginning of the paragraph. 1 discussthat?
2 Q Okay. 2 Q No. Well, | guess-- | guessthe-- |
3 A '"ltispossiblethat two origina neighbors 3 guess-- | guesswhat | would refer you to would be
4 with the condition" -- it's referring back to the 4 your OS| model. But | mean --
5 previous condition -- "may have the same set of 5 A Justsitting here today, | don't see how it
6 neighbors. When the neighbor that receives the 6 depends on aparticular programming language.
7 condition check message determines that the sets of 7 Q Why?
8 neighbors are the same, it sends a condition double 8 A | don't see how the particular programming
9 check message to one of its neighbors other than the 9 language you used to implement these stepsis
10 neighbor who also has the condition.” 10 relevant, just sitting here today.
11 Q Sosamequestion. Ishaving athird computer 11 Q Butisn't there adifferent standard asto
12 not aready connected to said first computer respond 12 how messages are formulated?
13 to said connection port search message in a manner 13 MR. LEE: Objection. Form.
14 asto maintain an m-regular graph limited to the use 14 THE WITNESS: I'm not following. I'm sorry.
15 of acondition double-check message? 15 Inwhat context? Inwhat languages? | don't
16 A No. Becauseit could also be a condition 16 understand your question.
17 check message aswe just established. 17 BY MR.LIN:
18 Q Canyou aso gotocolumn 10, line 58, where 18 Q Let meseeif | canaskitinanother way.
19 it says, "condition repair request.” 19 Incolumns-- in the section that we've just spent
20 A I'mthere. 20 thelast 30 minutes or so talking about, talks about
21 Q Canyou read that sentence too. 21 avariety of different messages. It appearsto be
22 A "When computer D received the condition 22 your opinion that these messages can be implemented
23 repair request, it disconnected from one of its 23 ondifferent types of programming languages; is that
24 neighbors (other than computer E), which is computer 24 correct?
25 Ginthisexample." 25 A | don't see how the programming language is
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Page 130 Page 132
1 relevant other than the fact that there has to be 1 computers. Some can be 32-bit and 64-bit. The
2 some format for these messages in order for it to be 2 messages they send can be in this standard format,
3 understood. And the patent description talks about 3 asan example, the eXternal Data Representation or
4 thisissuein column 14. Soif we go to column 14 4 XDR format, but we have to have this property that
5 beginning on line 20, it talks about the "Externa 5 all these messages that are being sent are being
6 Data Representation” and it says, "The computers 6 sent in order to maintain this network to be
7 connected to the broadcast channel may internally 7 m-regular in the steady state. And it talks about
8 storetheir datain different formats. For example, 8 what that means to be in the steady state and what
9 one computer may use 32-hit integers, and another 9 are examples when you're toggling between that
10 computer may use 64-bit integers. Asanother 10 steady state and the unsteady state.
11 example, one computer may use ASCII," A-S-C-I-I,"to |11  Q Thank you. Doesit matter what type of
12 represent text and another computer may use 12 network? Can these messages be used on any type of
13 Unicode," U-n-i-c-0-d-e. "To allow communications 13 network?
14 between heterogeneous computers, the messages sent 14 A Soaswetaked about earlier today, the
15 over the broadcast channel may use the XDR" or 15 claim 6 also had this language at the beginning that
16 "(‘eXternal Data Representation’) format." And then 16 talks about that you have to have a broadcast
17 the next paragraph talks about this. 17 channel where the broadcast channel being m-regular
18 But then we still get into thisissue that is 18 graphwheremisat least 3. So when we go back and
19 reflected, again, in claim 6. When we get down to 19 understand what that is meaning, we have to be
20 line-- let's see, 52 it says, "In the embodiment 20 talking about a broadcast channel so that the
21 described above, each fully connected computer has 21 network must satisfy that limitation. And as|
22 four internal connections. The broadcast technique 22 opined, beginning in my paragraph 50, that has to be
23 can be used with other numbers of internal 23 a"logical channel that overlays an underlying
24 connections. For example, each computer can have 6, 24 point-to-point communications network."
25 8, or any even number of internal connections. As 25 Q Socanit beexecuted on top of any
Page 131 Page 133
1 the number of internal connections increases, the 1 underlying point-to-point network, these messages?
2 diameter of the broadcast channel tends to decrease, 2 MR. LEE: Objection. Form.
3 and thus propagation time for message tends to 3 THE WITNESS: It hasto satisfy this -- this
4 decrease. Thetimethat it takesto connect a 4 claim language of alogical channel that overlays an
5 seeking computer to the broadcast channel may, 5 underlying point-to-point communication network.
6 however, increase as the number of interna 6 BY MR.LIN:
7 connectionsincreases. When the number of internal 7 Q Doesthat matter --
8 connectionsis even, then the broadcast channel can 8 A Ifitsatisfiesthat, it can be a broadcast
9 be maintained as an m-regular and m-connected (in 9 channel. The problem with the prior art is that
10 the steady state)." 10 none of them satisfied that limitation.
11 And again, we refer back to this steady state 11 Q Canl--if I --if I look at columns 9
12 discussion from column 8 that says when nobody is 12 through 10 where it talks about al these different
13 coming and going. Then it says, "If the number of 13 types of messages -- never mind.
14 internal connectionsis odd, then when the broadcast 14 A Okay.
15 channel has an odd number of computers connected, 15 Q Youweretaking earlier on about m being
16 one of the computers will have less than an odd 16 evenin, | think, line column 14, lines 52 to column
17 number of internal connections. In such asituation 17 5(sic), lines--line5.
18 the broadcast channel is neither m-regular nor 18 A 1think 15, line5. Yeah.
19 m-connected. When the next computer connects to the 19 Q 15line5. That'swhat | meant. Canthe
20 broadcast channel it can again become m-regular and 20 m-regular network in claim 6, can m be odd --
21 m-connected. Thus, with an odd number of internal 21 A Yes
22 connections, the broadcast channel toggles between 22 Q --and still satisfy the claim limitation?
23 being and not being m-regular and m-connected.” 23 A Absolutely. Because what claim 6 saysis
24 So what we see here s, first, in this 24 that mhastobeat least 3. 3isodd, so you
25 preferred embodiment we can have heterogenous 25 would -- could haveit be 3 and it would satisfy the
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Page 134 Page 136
1 claimlanguage. 1 at the very beginning of the claim, healing a
2 Q Eventhough it says here -- in column 14, 2 disconnection from something. Soit'slike healing
3 line 64 it says, "If the number of internal 3 adisconnection from the something or where the
4 connectionsis odd, then when the broadcast channel 4 something isthat broadcast channel that is an
5 hasan odd number of computers connected, one of the 5 m-regular graph.
6 computers will have less than that odd number of 6 BY MR. LIN:
7 interna connections." Isthat -- 7 Q Okay. Andthen at the end, the last
8 A That'saccurate. 8 paragraph where it says, "having athird computer
9 Q What doesthat mean? 9 not already connected to said first computer respond
10 A That meansthat when misodd and the number 10 to said connection port search message in a manner
11 of nodesisodd in that graph, that that would not 11 asto maintain an m-regular graph.”
12 beasteady state. That would not be one of those 12 A Right.
13 instances when it's m-regular. 13 Q Soisthat the-- ism the same at the end as
14 Q Sowould claim 6 apply when the number of 14 inthe beginning?
15 internal connectionsis odd and the number of 15 MR. LEE: Objection. Form.
16 computers connected are odd as well? 16 BY MR. LIN:
17 A Now, when you say apply, are you refer to 17 Q Letmetry onemoretime.
18 apply at the beginning, before the disconnection, or 18 A Therésnothing in the claim language that
19 after the disconnection? 19 saysthat.
20 Q That'sagood question. So why don't we -- 20 Q Letmetry one moretime. Sowhenyou --
21 why don't we -- let's start over. 21 let'ssay you have a4-regular graph that you're
22 A Okay. 22 starting with.
23  Q Well start -- welll start one at atime. 23 A Okay.
24 MR. LEE: And, Counsel, at some point we were 24  Q Whenyou end do you have to have a 4-regular
25 good to take that bio break. 25 graph?
Page 135 Page 137
1 THE WITNESS: Wéll, actualy we're getting 1 A Youhaveto have-- eventualy you haveto be
2 closeto 12:30, almost lunchtime. 2 maintaining an m-regular graph. These responses
3 BY MR. LIN: 3 that you are -- you know, getting from the third
4 Q Doyou-- 4 computer have to be in amanner asto maintain an
5 A 1don't mind going through afew questions. 5 m-regular graph. | don't see from the claim
6 | need to use the restroom, too, though. 6 language how that is-- has to be the same m asthe
7 Q I redly want to ask thisquestion. | realy 7 min the beginning, but it has to be something that
8 need to know the answer to this question. Giveme | 8 would beleading to an m-regular graph. Because it
9 fiveminutes. Isthat okay? 9 didn't say m for the same m or the m-regular, it
10 A Fiveminutesisfinewith me. 10 said "an m-regular” in the claim language.
11 Q Okay. Five, ten minutes. Dependsonyour -- |11  Q Soit'syour opinion that -- so let's say --
12 thelength of your answer. 12 let's say the claim was -- the claim would be the
13 A Fair enough. 13 sameif you said, "A method for healing a
14 Q Soclaim 6 says, "A method for healing a 14 disconnection of afirst computer from the second
15 disconnection of afirst computer from a second 15 computer, the computers being connected to a
16 computer, the computer's being connected to a 16 broadcast channel, said broadcast channel being an
17 broadcast channel, said broadcast channel beingan | 17 m-regular graph where mis at least 3" and then at
18 m-regular graph wheremisat least 3." 18 theend it said "having athird computer not aready
19 And then | think if we -- isthat referring 19 connected to said first computer respond to said
20 tothe broadcast channel before the method is 20 connection port search message in a manner asto
21 performed? 21 maintain" aregular graph, it would mean the same
22 MR. LEE: Objection. Form. 22 thing?
23 THE WITNESS: That'sreferring to the 23 A Except that the --
24 broadcast channel before it has this unplanned 24 MR. LEE: Objection. Form.
25 disconnection of a node because it's talking about, | 25 THE WITNESS: -- the problem with that

35 (Pages 134 - 137)
Veritext Lega Solutions

212-267-6868 WWW.Veritext.com 516-608-2400
IPR2016-00747-ACTIVISION, EA, TAKE-TWO, 2K, ROCKSTAR, Ex. 1202, Page 35 of 105



Page 138 Page 140
1 definition isthat regular could be overused in that 1 H5A?
2 context. Whereas, here when you say m-regular, the 2 A Sothedashed linesin 5A are showing the
3 patent has been very clear what that means. So that 3 connections that would form after H leaves and sends
4 would be aconfusing term, | think, if you just said 4 thismessageto thenodes A, E, Fand | for themto
5 regular. Sol think it's more proper the way it's 5 then connect with somebody else in order to maintain
6 written. 6 thisasa4-regular graph.
7 BY MR.LIN: 7 Q SoinFigurel, misequal to 4, correct?
8 Q What do you mean by "overused"? 8 A Yes
9 A Likeregular could mean anything like regular 9 Q AndinFigure5A, the end result of the plan
10 gasoline. So you want to say m-regular to refer to 10 disconnection, misequa to 4, correct?
11 theway that the patent keeps saying that word over 11 A Thatiscorrect.
12 and over and over again. 12 Q Sowecanmoveto5B. Figure5B, what do the
13 Q Okay. I think we can break. 13 dotted -- so could you please recap what Figure 5B
14 A Okay. 14 isagain.
15 THE VIDEOGRAPHER: Thisistheend of media |15 A So Figure5B isillustrating a statein this
16 2, we're going off the record at 12:30. 16 process after this node H has left in an unplanned
17 (Lunch recess.) 17 manner.
18 THE VIDEOGRAPHER: Thisis the beginning of 18 Q And then what do the dotted lines show?
19 hemedia3. We're back on the record at 1:25. 19 A They actualy have different meanings with
20 BY MR.LIN: 20 respect to the dot- -- dashed lines. Which one are
21  Q Good afternoon, Dr. Goodrich. 21 referring to? There's two dashed lines.
22 A Thanks. You too. 22 Q ltoF
23 Q Allright. Solet'sgo back to column 9 and 23 A Sothel toF. If wego to the description
24 10. 24 of thisfigureinthetext. Yeah. Sowhat thisis
25 A I'mthere. 25 showing isthat the computers are responding to
Page 139 Page 141
1 Q I think before lunch we agreed that Figure 1 1 these messages. So it says, beginninginline45in
2 showed a 4-regular incomplete broadcast channel -- | 2 column 9, in reference to the Figure 5B, "When each
3 MR. LEE: Objection. Form. 3 of itsneighbors, computers A, E, Fand I,
4 BY MR.LIN: 4 recognizes the disconnection, each neighbor
5 Q --correct? 5 broadcasts a port connection request indicating that
6 A Yes,itdoes. 6 it needsto fill an empty port. Asshown by the
7 Q AndFigures5A and 5B show the-- kindof a | 7 dashed lines, computers F and | and computers A and
8 disconnect and recovery process for a planned 8 E respond to other's requests and establish a
9 connection and an unplanned disconnection; isthat | 9 connection.”
10 correct? 10 Q Sowhat dowe have at the end of -- when they
11 MR. LEE: Objection. Form. 11 establish the connection?
12 THE WITNESS: Sojusttorecap, Figure5A is |12 A The problem, though, isin this picture A and
13 showing part of the configuration that happenswith | 13 E are already connected.
14 respect to aplanned disconnection, 5B showspart of | 14 Q Uh-huh. Okay.
15 that process with respect to an unplanned 15 A SoFandl, after this picture, will just
16 disconnection. 16 form the connection and they'll be connected. But A
17 BY MR.LIN: 17 and E are one of these examples that then gets
18 Q Sofor Figure A, Histhenodethat is 18 talked about next where two nodes who respond to
19 leaving, correct? 19 this message are themselves aready neighbors. Now
20 A Yes 20 they've got to do more work in order to ultimately
21 Q WhenH leaves, it sends adisconnect message | 21 become 4-regular again in this example. And then
22 tol, A, EandF, correct? 22 that's what's shown in some of these other figures,
23 A According to the preferred embodiment; that | 23 for instance. So, for example, 5C is showing this
24 iscorrect. 24 and then it's discussed in more detail in column 10
25 Q Andthenwhat isthe dotted linesin Figure 25 beginning at line 43.
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Page 142

Page 144

1 Q What happensto Figure 5C? 1 thisdisconnection process and then we're at

2 A b5Cislikethe next step after what happened 2 line64. It says, "When in the small regime, each

3 in5B. Soit'sshowing that | and F did, indeed, 3 computer will have lessthan four neighbors." And

4 get connected but A and E, sincethey werealready | 4 then"To detect this condition in the large regime,

5 connected, they have this so-called empty port that 5 which would be a problem if not repaired.” And then

6 now needsto get fixed. And then there'salot of 6 it hasall this stuff you have to do.

7 details about how to do that. 7 So it's already anticipating that after this

8 Q Letmeseehow I can phrasethis. Incolumns | 8 either planned or unplanned disconnection, you might

9 9and 10 -- 9 -- in columns 9 and 10 of the '147 9 drop and not have four neighbors anymore because you
10 patent, misequa to 4 in the beginning and there 10 dropped into the small regime. And then basically

11 isaprocessthat discloses a disconnect procedure 11 it'sredly easy to fix because there's so few
12 andtheresult is-- and the result -- the resulting 12 nodes. You could just fix it amongst yourselves and
13 m after disconnection processis also 4? 13 then kind of stop there. And then if you'rein the
14 A Thatiscorrect. 14 large regime, though, you've got some problems and
15 Q Isthereany procedurein columns 9 and 10 15 you need to fix them. And it'slike, well, all this
16 that discloses a procedure where misone number in | 16 detail coming next about how to fix it.
17 thebeginning and at the end thedesired resultisa |17 Q Solet'slook at Figure 2 of the patent.
18 different m -- 18 A I'mthere.
19 MR. LEE: Objection. Form. 19 Q Let'ssay node zero wantsto leave --
20 BY MR.LIN: 20 A Okay.
21  Q --foranywherein the patent? 21  Q --andmisgoing to change. W€l say m
22 A Oh, yeah, thereis. Sothisiswhatis 22 changesto 3. How -- how would -- how does -- using
23 referred to, for example, in columns 15, | think, or | 23 the patent as a guide, how would we do that?
24 maybe 14. Let mesee. No, 15. No. Yeah, wait. 24 MR. LEE: Objection. Form.
25 I'll findit. Just asecond. Well, it's already 25 THE WITNESS: I'm sorry if | wasn't clear.
Page 143 Page 145
1 hereinthiscolumn 29, actually, aso. There's 1 For thisexample, you'd be maintaining m with 4.
2 thisdiscussion about when you're in the small 2 BY MR.LIN:
3 regime or the large regime and so there's this -- 3 Q That'swhat'sthat the patent would --
4 there'sthis-- small regimeis the case where 4 A That'swhat the patent isteaching with this
5 there's not enough nodes for you to have m -- for 5 example. But there's thisinstance when you go from
6 thegraph to be m-regular with the desired m. 6 thelarge regime to the small regime where you could
7 Let'ssay mis4. If you only have four 7 till be m-regular, but now it's with a different m.
8 nodesin the graph, you can't be m-regular with m 8 That isexemplified in that -- that column | just
9 equals4. Theresapicturein front of you now 9 read in column 9. Because you could bein -- you
10 with Figure 5E showing that example. But then you 10 know, in oneregime, but you're in the -- you go to
11 could add more, you know, nodes and it grows into 11 the small regime, you lose somebody, now you're not
12 thisso-called large regime where you can have m 12 the samemanymore. That could happen when you're
13 equals 4 because now you have enough nodes. Youcan | 13 inthesmall regime, for example.
14 be -- either everybody can be connected to four 14 But here in Figure 2 you're strictly in the
15 other nodes. 15 large regime even after you have the planned removal
16 And so going backwards with that you could 16 of node zero. Soyou'd till want to maintain mis
17 have that same scenario. You could start with 17 equal to 4. Everybody else has four neighbors, then
18 something that has degree 4 and then end up with 18 you need to have the guys who are | eft till before.
19 perhaps something that has smaller degree because 19 Q I'mtill trying to wrap my head around this
20 there's not enough nodes anymore. So you might end 20 small regime example you're giving me, so give me a
21 up with only four nodes at the end of it and then 21 second.
22 what do you do, kind of thing. 22 A lt'stherein Figure 5E right in front of
23 Q Itmight help if you pointed me to the column 23 you. That'sthe small regime. With m equals4,
24 and line number that you were talking about. 24 that would be an example of the small regime.
25 A Oh,yeah. Socolumn 9 we're talking about 25 Q Okay. You'regoing to haveto walk me
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Page 146

Page 148

1 through this. Soin Figure 5E -- what is 5E? 1 that after -- you have afirst computer, you have a
2 A S5Eisanexampleof a-- of a-- | think of a 2 second computer and that's already in the beginning
3 broadcast -- as my recollection is, of a broadcast 3 part. It says, "A method for healing a
4 channdl that'sin the small regime. It's not in the 4 disconnection of afirst computer from a second
5 so-called large regime. 5 computer."
6 Q Okay. 6 Q Soin--inthispicturethat I've just
7 A | cantry tofind the citation to that in the 7 drawn, what is the first computer and what isthe
8 textif you want to. 8 second computer?
9 Q No. It'sokay. What's Figure 5 -- isFigure 9 A That'sthetrouble. Because whenwego a
10 5F relevant to your explanation? 10 little bit further down, we see that the third --
11 A Not for thisexample, no. 11 thelast step in this method is "having athird
12 Q SoFigure5E isinthe small regime and so 12 computer not already connected to said first
13 how can the method of claim 6 be performed and cover 13 computer respond"” with stuff. And sointhis
14 thiswherem -- I'm sorry, strike that. Okay. 14 example, till, there wouldn't be athird computer
15 So we're starting with Figure 5SE. Then what? 15 not aready connected to one of the other ones who
16 MR. LEE: Objection. Form. 16 areleft.
17 THE WITNESS: I'm not sure what the question 17 So this still is not quite ready to be an
18 is. Thenwhat what? 18 example of what you could have at the beginning of
19 BY MR.LIN: 19 step 6 -- of claim 6 as a hypothetical. Not because
20 Q Waéll, youweretelling meit could -- how m 20 it'snot -- but itis-- it satisfies al the
21 could change from the small regime to the large 21 beginning part. So if that's your question, can you
22 regime. Areyou -- are you saying claim 6 would 22 have agraph that satisfies the beginning part and
23 apply during this -- only during this change? 23 look likethat? Absolutely. Because we have all of
24 A Okay. Soif your question is how could claim 24 those elements. There'd be afirst computer, a
25 6 apply in this scenario where we would be going, 25 second computer. It's m-regular for m at least 3,
Page 147 Page 149
1 for example, from the largeregimetothesmall | 1 satisfiesthe elements of the beginning part.
2 regime. Isthat your question? 2 Q So--butitwouldnt satisfy claim 6?
3 Q Yes 3 A Theproblemislater on you need athird
4 A Okay. Sowhat could happenisyou could 4 computer not already connected to first computer.
5 start out with agraph that ism-regular for say m 5 Inthat example, even after E leaves, | don't see
6 equals4 like here. 6 how you get to that just sitting here today.
7 Q Do we need to add another node here? 7 Q Okay. Soisthereany instance that you can
8 A |Ithink you'd haveto add at least one other] 8 think of in the specification that describes how
9 nodeif we'regoing to go from 4 to 3 likeinthis 9 claim 6 can be performed when m starts out at one
10 example. 10 number, performsthe first two steps and -- I'm
11 Q Okay. Sothenwell call thisA, B, C-- C,| 11 sorry, strike that.
12 D and well cal thisE? 12 Can you -- isthere an example in the
13 A Yeah 13 specification in -- strike that.
14 Q Isthatfair? AndthenisE connectedto |14 Isthere an explicit examplein the
15 every other node? 15 specification that shows that m can start at one
16 A Itwouldbeinthe case where m equals4. | 16 number and at the end m is a different number?
17 Q Arewegoingtoassumethat mequals4? | 17 A Yesh. That -- that scenario wasn't required
18 A Forthishypothetical I'm totally willingto| 18 for my analysis, but just sitting here today | could
19 assume-- 19 imagine something that would be contemplated by the
20 Q Okay. 20 way that the preferred embodiment is described in
21 A --misequa to4. 21 the patent that would result in that.
22 Q Sothisiswhat we're starting out with? 22 Q Butisitin the specification?
23 A Notquite. Sothere'sanother requirement| 23 A Asl sit heretoday --
24 that'sinthe claim itself -- not in the beginning | 24 MR. LEE: Objection. Form.
25 part, but it'sin the claimitself -- that requires | 25 THE WITNESS: Asl| sit here today, I'm not
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Page 150 Page 152

1 recalling if that would actually be a specific 1 Q Sohow many, total, computers are required

2 examplethat was given, but it did talk about this 2 for claim 6, at least aminimum?

3 scenario where you'd be going from the large regime 3 MR. LEE: Objection. Form.

4 tothesmall regime and that that's allowed by the 4 THE WITNESS: So in addition to just this

5 patent specification. 5 requirement you get from having afirst computer, a

6 BY MR.LIN: 6 second computer and athird computer is your

7 Q Okay. My paper'sall messed up. Isit 7 question?

8 possible to have a broadcast channel on one 8 BY MR.LIN:

9 computer? 9 Q Correct.
10 MR. LEE: Objection. Form. 10 A Soinorder to satisfy this beginning part
11 THE WITNESS: | don't see how that's 11 whereit saysyou have -- you're going to be healing
12 possible. It hasto -- a broadcast channel hasto 12 adisconnection from a broadcast channel that's an
13 bealogical channel that overlays an underlying 13 m-regular graph, where misat least 3, you haveto
14 point-to-point communication network. And then with 14 have enough nodes in that graph so that you have an
15 thedefinition of connected -- or, yeah, connected 15 m-regular graph wheremisat least 3 just to
16 ishaving aconnection and then connects to be an 16 satisfy that beginning part.
17 edge between two application programs connected to a 17 Q Understood. How many more do you need to
18 logical broadcast channel that overlays an 18 fulfill the following limitations?
19 underlying network. | don't see how it's possible. 19 A Ohthat -- sorry, that depends on m.
20 No, it's not possible to have a broadcast channel 20 THE REPORTER: The following what,
21 with just one node. And it wouldn't make sense, 21 limitations?
22 right, because you can already talk to yourself. 22 MR. LIN: Limitations.
23 Why do you need to broadcast anything. 23 THE WITNESS: So that depends on the value of
24 BY MR.LIN: 24 m. Do you have amore specific example you want to
25 Q Can'tyou havetwo application programs 25 give mefor aparticular m?

Page 151 Page 153

1 running on the same computer? 1 BY MRLIN:

2 A Yes. Butthey don't need to use a network to 2 Q Let'sassumemis3.

3 communicate. They can just communicate right on the 3 A Soformequals3,inorder to satisfy that

4 computer. Thereisno network needed. 4 first part you need to have at least four nodesin

5 Q Canyou turnto paragraph 90 in your 5 order to have everybody connected to three others.

6 declaration, please. 6 Q Andthen how about being able to fulfill the

7 A Sure. Andif | may, could | just add one 7 following limitations because | think, asyou

8 other thing to my answer from the previous and that 8 mentioned, if misat least 3 and there's four

9 isin order to be performing claim 6 you need three 9 nodes, then when one of the nodes |eaves the last
10 computersthat at least start out on the broadcast 10 limitation is not fulfilled having athird computer
11 channel, the first computer, a second computer and a 11 not aready connected to said computer respond to
12 third computer. That'salso just required by claim 12 said connection search port message in a manner as
13 6. 13 to maintain an m-regular graph.
14 Q That'sagood question. Thanksfor reminding 14 THE REPORTER: Could you please slow down a
15 me. So what isthe minimum number of computers you 15 little bit. Thank you.
16 need for -- for claim 67 16 THE WITNESS: Right. So with respect to now
17 A You need three minimum. You haveto have a 17 not just the beginning part but also that other
18 first computer, a second computer and a third 18 limitation, you also need that -- there to not only
19 computer. That's absolutely required just by the 19 have agraph that has m-regular before the
20 claim language. 20 disconnection occurs but there needs to be after the
21  Q Butdoesn't -- but doesn't it also require 21 disconnection athird computer that's not already
22 however many number of computersin order to have a 22 connected to the first computer that can respond to
23 broadcast channel said broadcast channel being an 23 this broadcast message on the broadcast channel. So
24 m-regular graph where misat least 3? 24 in order for that to occur, again, it depends on
25 A Yes. Of course. 25 what misin order to tell what is the minimum
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Page 154

Page 156

1 number of nodes necessary. So if we're continuing 1 is--is--isbeing mentioned as a part of the
2 with the example of m equals 3, it wasn't required 2 beginning part, that -- what you called the
3 for my analysis. But | think, just sitting here 3 preamble. So the computers being connected. Again,
4 today, you'd need at least six hodes at the 4 | said computers, plural, being connected is not
5 beginning. 5 referring to apast tense. They were connected to
6 BY MR.LIN: 6 thisthing that was an m-regular graph where mis at
7 Q Okay. Solet mewalk through thisclaim a 7 least 3. Now we need to heal the disconnection from
8 little bit because there's -- | have aconfusion 8 thefact that the second computer isleaving in an
9 about the temporal nature of claim 6. It says, "A 9 unplanned manner. So thetemporal languageis
10 method for healing a disconnection of afirst 10 dready there in the beginning part not just that
11 computer from a second computer." 11 first element of the method.
12 So does that mean that a disconnection has 12 Q Sothis-- sothe-- soclaim 6 requires a
13 dready occurred? 13 disconnection to occur?
14 MR. LEE: Objection. Form. 14 A Idon't--1 don'tseehow it canread on
15 THE WITNESS: So the proper way that a person 15 anything else, actualy. It sayshedling a
16 of ordinary skill in the art would understand this 16 disconnection right at the beginning.
17 inthat full beginning part, the whole part, because 17 Q Would it be possible that claim 6 could occur
18 it says, "A method for healing a disconnection of a 18 after the disconnection, a disconnection has already
19 first computer from a second computer, the computers 19 occurred, and then this procedure is invoked?
20 being connected,” plural "computers," plural, "being 20 A | thought that iswhat connect- -- I'm
21 connected to a broadcast channel." Said broadcast 21 confused now. | thought that -- that is what claim
22 channel being an m-regular graph where m is at least 22 6issaying, how to hedl it after it occurs.
23 3. And then we see from the limitations that follow 23  Q Letmeseeif | canexplainitin the context
24 that it's the second computer that is having this 24 of claim 1.
25 unplanned disconnection. So the temporal nature of 25 A Okay.
Page 155 Page 157
1 thisisthat thisdiscussion at the beginning is 1 Q Soinclamlitsays, "thefirst
2 applying to the m-regular property before the second| 2 computer” -- strike that.
3 computer is disconnected in an unplanned way. 3 It says, "A method of adisconnecting afirst
4 BY MR.LIN: 4 computer from a second computer, the first computer
5 Q Sothe--soclaim 6 requiresa 5 and the second computer being connected to a
6 disconnection, correct? Sorry, let me -- let metry 6 broadcast channel" --
7 that again. 7 A Right.

8 It seems to me what you're saying isthat if 8 Q Okay. Sowe have abroadcast channel such as
9 youread claim 6, the preamble asawhole, wehave | 9 theonein Figure 1 that exists. -- "said broadcast
10 an m-regular graph where misat least 3. Then -- 10 channel forming an m-regular graph where mis at

11 A That'sright. 11 least 3." Figurel, misequal to 4. Thenthe

12 Q I apologize. 12 limitation says, "...when the first computer decides
13 THE REPORTER: Didyou say that'sright or | 13 to disconnect from the second computer, the first
14 that'sfine? 14 computer sends a disconnect message to the second
15 THE WITNESS: That's right. 15 computer, said disconnect message including alist
16 BY MR.LIN: 16 of the...first computer." Soin--inclaim 1,

17  Q Then at thislimitation attempting to send a 17 thereisan active step or limitation of

18 message from the first computer to the second 18 disconnecting of the first computer, which is

19 computer, has the disconnection occurred yet from | 19 computer H in Figure 5B. Sorry, sorry. Figure --
20 thefirst computer and the second computer? Hasthe 20 Figure H and Figure 5A deciding to disconnect from
21 disconnection occurred aready? 21 I,A,FandE.

22 A It could be coincident with that. So again, 22 MR. LEE: Objection. Form.

23 going back to that beginning part, it says, "A 23 THE WITNESS: 1 think that'strue. That's --
24 method for healing a disconnection.” So already, 24 that's what's being exemplified in Figure 5A.

25 even in the beginning part, we see the disconnection | 25 BY MR. LIN:
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Page 158

Page 160

1 Q Andthen the second limitation of claim 1 1 BY MR.LIN:

2 says, "...when the second computer receives the 2 Q --inthepreamble? I'm sorry, let metry

3 disconnect message, the second computer” -- strike | 3 again, Dr. Goodrich.

4 that. Let mestart over. Sothereisa 4 A Yeah

5 disconnect -- strike that. 5 Q Soyour construction is connecting afirst

6 In Figure 5A, computer H takes an active step 6 computer to another computer in order to maintain arn
7 todisconnect; isthat correct? 7 m-regular network after -- after the second computer
8 MR. LEE: Objection. Form. 8 hasbeen ininvolun- -- hasinvoluntarily been

9 THE WITNESS: | think that sounds right. 9 disconnected?

10 It'saplanned disconnection -- 10 A That'scorrect.
11 BY MR.LIN: 11 Q Soisthisphrase "after the second computer
12 Q Okay. 12 hasinvoluntarily been disconnected," isthat a
13 A --andit'ssending amessage in order to 13 limita- -- isthat arequirement of the claim?
14 disconnect as described herein claim 1. 14 A Yes, absolutely, aswe'vejust been
15 Q Okay. Soin--in--inclam6istherea 15 discussing, that the plain -- under the BRI standard
16 step -- let meseeif | can break this out, kind of 16 definition of what is healing a disconnection of a
17 oneby one. Outside of the preamble, isthere a 17 first computer from a second computer. And when |
18 step of disconnecting? 18 read the decision from the PTAB to ingtitute these
19 MR. LEE: Objection. Form. 19 proceedings, my interpretation of what they were
20 THE WITNESS: | don't see a step of 20 saying isthat claim 6 applies to this unplanned
21 disconnecting because it's happened in an unplanned| 21  disconnection where something has been
22 manner. 22 involuntar- -- acomputer has been -- involuntarily
23 BY MR.LIN: 23 been disconnected. Now we need to hedl it.
24 Q Okay. And-- but -- okay. Andin--in-- 24 And so to make that language precise iswhy
25 inclaim 6 do you see a step for disconnecting from | 25 I'm giving this claim construction so there's no
Page 159 Page 161
1 the broadcast channel? 1 more confusion. That it's absolutely clear that the
2 A Tohavethe step of disconnecting, the way 2 disconnection has occurred, it's been disconnected.
3 that'stalked about in claim 1, would be a planned 3 But before that happened you had an m-regular graph
4 disconnection. Instead, claim 6 isall about 4 withm at least 3. Now, afterwards you're trying to
5 healing a disconnection of afirst computer from a 5 do aconnection in order to maintain something to be
6 second computer. So it's healing something that's 6 an m-regular graph.
7 dready happened and then the rest of that beginning| 7 Q | have athought processthat | would like to
8 part saysthose "computers,” plural, "being 8 walk you through. Claim 6, you say, isun- -- is
9 connected,” in the past, "to an m-regular graph. 9 related to unplanned disconnections; is that
10 Q So-- 10 correct?
11 A And sothat's perhaps one of thereasonswhy |11 A Yes. The-- | thought the PTAB agreed with
12 | thought it was necessary to giveaclaim 12 that. | meanthat's, | thought, why we're here
13 construction for that phrase "healing a 13 today.
14 disconnection of afirst computer from a second 14 Q Isitpossible evenif it relatesto

=
a1

computer." And according to the standard of a 15 unplanned disconnections, can it also relate to

16 broadest reasonable interpretation in light of the 16 other types of disconnections?

17 patent specification, the proper way to understand | 17 MR. LEE: Objection. Form.

18 that phraseis connecting afirst computer to 18 THE WITNESS: Just sitting here today, |

19 another computer in order to maintain m-regular 19 don't see how that would make sense when you're
20 network after the second computer has involuntarily | 20 talking about healing a disconnection. | don't see
21 been disconnected -- been disconnected. 21 that.

22 Q Soyousay -- soitisalimitation under 22 BY MR.LIN:

23 your construction that the second computer is 23 Q Whatisthe basisfor your opinion that

24 disconnected -- 24 the -- healing a disconnection means -- is related

N
a1

MR. LEE: Objection. Form. 25 to aninvoluntary disconnection?
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Page 164

1 A | providethisdiscussionin my paragraph 48 1 Q Soevenif youwereto say thisterm relates
2 of my declaration -- it's just -- with some examples 2 toone meaning, doesit exclude -- does that mean
3 citations, but also applying my reading of the 3 other meanings are excluded?
4 entire patent. These are simply meant to be 4 MR. LEE: Objection. Form.
5 exemplary, here, in paragraph 48. 5 THE WITNESS: It might. You haveto
6 Q What'sthe -- what's the evidence that you 6 understand from the context. Are we talking, for
7 citein paragraph 48? 7 example, about the saw that you use with your eyes
8 A | citeanumber of evidences, first from -- 8 or that you use with a power tool ?
9 inthe-- from the '147 patent description itself, 9 BY MR.LIN:
10 column 2, 49 to 63, then column 8, line 66 to column 10 Q Okay.
11 9; line51, Figures5A and 5B. Also citeto 11 A Buthereit'sclear what it relates to, is
12 line-- column 9 from 27 to 51 and | also cite to 12 claim 6 through 10 are relating only to this concept
13 thefile history for the '15 -- '47 patent where it 13 of aninvoluntary disconnection. Can | seethe--
14 states (asread), "Claims [6 to 10] relate to the 14 thedecision to institute from the PTAB because | --
15 situation where a computer isinvoluntarily 15 | have thisrecollection that that's what they said
16 disconnected" -- thisis the reason why | used that 16 intheir decision --
17 word -- "from the M-regular graph computer network. 17 Q Ildon't--
18 Claim[6] has been amended to indicate...the healing 18 A --dso.
19 process of acomputer network as performed in away 19 Q I didn't print that oneout. I'm sorry.
20 such asto maintain the M-Regular graph nature of 20 A Okay.
21 the computer network," and then | cite to the file 21  Q Canwemove to paragraph 90 of your
22 history there. So thisiswhy | chose these words 22 declaration.
23 theway | did fully supported from the specification 23 A Certainly. I'mthere.
24 and thefile history. 24 Q | think we talked about thison -- on
25 Q And sodoes-- what does the phrase "relate 25 Wednesday and to make surethat | recap correctly,
Page 163 Page 165
1 to" mean toyou? 1 Dr. Bims-- hisreport related to the nexus between
2 MR. LEE: Objection. Form. 2 secondary considerations and whatever he was
3 THE WITNESS: Sowhen | read that inthefile| 3 discussing -- strike that.
4 history, | just used the plain meaning of those 4 Dr. Bims -- his report on secondary
5 words from that -- from that phrase, that claim 6 5 considerations, that report focused on nexus; is
6 relatesto that situation where you have an 6 that correct?
7 involuntary disconnection. 7 MR. LEE: Objection. Form.
8 BY MR. LIN: 8 THE WITNESS: What do you mean by "nexus’
9 Q Cansomething relate to onething and also 9 here, because nexus, | thought, has areferenceto
10 relate to something else? 10 something.
11 MR. LEE: Objection. Form. 11 BY MR.LIN:
12 THE WITNESS:. I'msorry, | dontunderstand |12 Q Okay. Let metry -- let me start over.
13 that question in this context. 13 A Okay.
14 BY MR.LIN: 14 Q To show secondary considerations of
15 Q Cana-- generaly speaking, can a concept 15 nonobviousness, you have to show that there are
16 relate to more -- strike that. 16 multiple factors such as praise, as you mentioned
17 Can aterm relate to multiple concepts? 17 earlier before, commercia success, licensing and
18 MR. LEE: Objection. Form. 18 other factors.
19 THE WITNESS: I'mreally confused. Soif 19 A Yes.
20 you're asking can aword have multiple meanings? |20 Q You understand that?
21 Again, just talking in general and outsidethescope |21 A Yes. | citeto that in my paragraph 90.
22 of my declaration and the patent, the answer isyes. |22 Q Correct. Dr. Bims, hisreport -- strike
23 Dictionaries commonly have multiple definitionsfor| 23  that.
24 the same spelling of aword. 24 In order to prove that secondary
25 BY MR.LIN: 25 considerations are relevant, there must be a nexus
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between these factors and the claims of a patent.

A That's my understanding.

Q Okay. Andisit correct Dr. Bims-- his
report provided analysis of whether or not there was
anexus relating to secondary conditions?

A Yes. That'salso my opinion.

Q Didyou perform any independent analysis of
secondary considerations of nonobviousness?

A No. For thisI'm relying on Bims' report as
I'm citing to here in paragraph 90. And then just
expressing this conclusion that | got from reading
his report including all of those exhibits that go
along with it, "In my opinion, the secondary
considerations are relevant here because" --
"especially because the '147 patent was licensed to
Sony for usein Sony's multi-user gaming platform
known as Playstation. The fact that Sony
specifically sought to license the patent from
Boeing shows that Sony thought the patent was
nonobvious and relevant.”

Q And that conclusion is based entirely on
Dr. Bims report; isthat correct?

A Yeah. | didn't do any additional analysis
other than to look at his report and the exhibits
that went along with it.
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A | didreadit. If your questionisdid |
read every single word, I'm not recalling if | read
every single word.

Q Didyou read only those excerpts that you've
attached to your declaration?

A Asl sit heretoday, | don't believe so, but
| don't have a specific recollection of what other
parts | would have read.

Q Why did you use this exhibit? What was the
purpose of this exhibit?

MR. LEE: Objection. Form.

THE WITNESS: So citeto this exhibit for a
number of purposes. Thefirst isto show how a
person of ordinary skill in the art would understand
network layers showing this OSI model, for example,
on what's marked on page 5. And then the discussion
of the different layers and what they mean, which
comes after that. Then | also citeto this
reference for discussions that talk about the
differences between the token bus framework and the
token ring framework for doing networking. And that
goes for several, several pages. | citeto some.

In fact, | excerpt, in my declaration, some of the
words and figures from those sections. And then
finally, at the end, | have discussionsthat |
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MR. LIN: I'm handing the witness Exhibit

2007, which is a Computer Networks by Tanenbaum
Sorry, it's previously been entered as an exhibit in
this proceeding as Exhibit 2007. | didn't print a
copy for myself. Oh, well.

Q Haveyou seen this exhibit before,
Dr. Goodrich?

A Yes. Itlooksfamiliar to me.

Q Whatisit?

A Aswejust talked about, it's excerpts from
this book by Tanenbaum, Computer Networks, Third
Edition, that was entered as Exhibit 2007
previously.

Q Didyou read the entire book?

A Just sitting here today, | don't have a
recollection if | read the entire book or not. |
don't -- | don't recall.

Q Didyou have the book?

A | have acopy of this book, yes.

Q Didyou read that copy of thisbook in
preparation for this interparticery (sic) review?

A You mean yesterday when | did areview of
documents. Isthat what you're asking?

Q No. Justin-- ever. | mean, in prepar- --
in preparing your declaration.
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excerpt that talk about routing algorithms.

THE REPORTER: I'm sorry, routing?

THE WITNESS: Routing, r-o-u-t-i-n-g,
algorithms. And that goesto the end of this
excerpt.

BY MR. LIN:

Q Could you go to page 299, please, top
right-hand corner.
What Bates page is that?
I'm not sure.
299. | think it's24. I'm there.
Y ou see that section 4.3.4 --
Yes. | seethat.
-- "Comparison of 802.3, 802.4 and 802.5"?
Yes.
What's 802.3, 802.4 and 802.5?
These are different | EEE standards that talk
about the way that certain types of architectures
are set up. So, for example, 802.4isin
relationship to the token bus architecture, as |
cite to on this page Bates 12, and 802.5isin
relationship to the tokenring, as| citeto
begin -- or, yeah, beginning on page 17.

Q What was your conclusion about the
ability -- strike that. Did you include pages

TOPTPO>PO>O>
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Page 172

1 300 -- the section -- did you -- strike that. 1 Exhibit 2007?

2 Did you include the section in your Tanenbaum | 2 MR. LEE: Objection. Form.

3 excerpts about the comparison of 802.3, 802.4 and 3 THE WITNESS: | don't recall, asl sit here

4 80257 4 today, that | thought it was relevant. | till

5 A It beginshere at the bottom of my page 24. 5 don't, actually, even after reading it.

6 Q Doyouremember if you've considered that 6 BY MR.LIN:

7 section when determining whether or not 7 Q Doyou-- doyou -- the first sentence of

8 what -- strike that. 8 page 300 says, "To start with, it isworth noting

9 Did you -- did you review that section when 9 that the three LAN standards use roughly similar
10 analyzing token ring and token bus and token grid | 10 technology and get roughly similar performance.”
11 networks? 11 Do you agree with that statement as it
12 A May | seeacopy of that section, please. 12 relatesto 802.4 and 802.5?
13 MR LIN: Thiswill be Goodrich 11. 13 A Sothat statement -- what it's -- what it's
14 (Exhibit 11 was marked for identification 14 describing isa-- the kind of -- and then we see
15 by the court reporter and is attached hereto.) 15 thekind of comparisonsthat are done after thisin
16 BY MR.LIN: 16 the paragraphsthat follow. What we seeiswhat
17 Q Do you recognize the document I've just 17 thisisdiscussing is performance and ease of the
18 handed you marked Goodrich 117 18 deployment issues that compare between these
19 A | seethatit hasthe page 299 in it, the way 19 different technologies. And the very next sentence
20 wediscussed aminute ago, and then it hasapage |20 says, "While computer scientists and engineers can
21 300 and 301 after that. 21 discuss the merits of coax versus twisted pair for
22 Q Do youremember considering this section? 22 hourson end if given half a chance, the peoplein
23 A Asl sit heretoday, | don't recall. 23 marketing, personnel, or accounting departments
24  Q Do you think -- do you know why you 24 probably do not really care that much one way or the
25 weren't -- why you didn't include this sectionin 25 other."

Page 171 Page 173

1 Exhibit 2007? 1 And so we see here aready from the context

2 A I didincludethe beginning part of it. | 2 of this paragraph thisistalking about the kind of

3 just don't recall why the excerpt stopped at 299. 3 similarity and performance characteristics that one

4 Q Okay. Why don't we start on page 300. 4 would get from, say, a marketing person. But a

5 A Okay. 5 computer scientist, which now we'retalking in the

6 Q Thefirst -- first sentence, could you read 6 context of the '147 patent, a person of ordinary

7 that, please. 7 skill in the art would see fundamental differences

8 A "To start with, it isworth noting that the 8 between these things that they could discuss for

9 three LAN standards use roughly similar technology | 9 hourson end if given half achance. And, indeed,
10 and get roughly similar performance.” 10 when we go through the discussions of -- of the
11 Q Andwhat isthethree LAN standards that's 11 paragraphsthat follow this, we, indeed, see already
12 talking about? 12 inthisdiscussion, aswell as going back to the
13 A 802.3,802.4, 802.5. 13 onesthat wereincluded in -- in Exhibit 2007, there
14 Q Do you disagree with that statement? 14 arefundamental differencesthat a person of
15 A Canyou show methe excerptsfor the 802.3 |15 ordinary skill in the art would understand you can't
16 discussion, because that doesn't seem to be here 16 just trandlate an algorithm written for one standard
17 either. 17 into the other.
18 Q Let'sjust focuson 802.4 and 802.5. 18 In one standard, say on the bus, we have a
19 MR. LEE: Objection. Form. 19 physical medium that is a broadcast medium. It's
20 THE WITNESS: All right. So again, what's 20 not a point-to-point network. Everybody hears
21 your question? I've now read this section. 21 everything on the bus. Whereas, in atoken ring, we
22 BY MR.LIN: 22 have stations that are going around in aring and
23 Q Now that you -- let's start over. 23 when you send a message you have to only send it to
24 Now that you've read this section, do you 24 thenext oneinline. Fundamentally different.
25 remember why it wasn't included in your original 25 When we go to say the prior art referenceslike
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Page 174 Page 176
1 Rufino and Todd, we see that their methods for 1 of the IEEE Standards Board."
2 handling disconnections are so fundamentally 2  Q Why do they put together |EEE standards or
3 different that a person of ordinary skill in the art 3 why are |EEE standards put together?
4 could not possibly trandate one to the other in an 4 A Doyou havelike a section that you want to
5 easy way that would be obvious. 5 point metointhisor should I just --
6 Q Sol seethat you've marked some annotations 6 Q No. Let'sgoto page4.
7 on-- on the exhibit. Could you walk us through 7 A Okay.
8 what each one of those annotations are. If you 8 Q I mean, generaly speaking, do you know why,
9 could number it, that would be helpful too. 9 what's the purpose of |EEE standards?
10 A Sol first made a mark next to that paragraph 10 MR. LEE: Objection. Form.
11 that wejust read. 11 THE WITNESS: As| sit heretoday, | think
12 Q Okay. 12 it's because you would want to have a standard for
13 A Then| circled the word "token bus' in the 13 thingsthat there's a common language when referring
14 middle, 802.4, 802.3. Then | circled "token ring." 14 to common architectures, common protocols for doing
15 Then on the next page | underlined the sentence "One 15 various kinds of functions.
16 can awaysfind aset of parameters that makes one 16 BY MR.LIN:
17 of the LANslook better than the others." And then 17 Q Whatisthe -- strike that.
18 | highlighted that whole paragraph as well. 18 On page 4 thereis agraphic that says,
19 Q Why -- excuse me. Why did you highlight that 19 "802.1," "802.2," "802.3," "802.4," "802.5."
20 paragraph? 20 A |seethat.
21 A Justjumped out at me. | underlined it 21  Q And thisdocument refersto these five
22 because it sounded cool. | should number it too. 22 standards as afamily; is that correct?
23 We'reupto 6. 23 A Wheredo you see that?
24 MR. LIN: I'm going to put in an unannotated 24 Q Inthe par- -- in the sentence right below
25 copy into the exhibit as Goodrich 12. 25 thegraphic.
Page 175 Page 177
1 If | -- could | seethe stapler, please. 1 A Thisfamily. Yeah, | seethat.
2 (Exhibit 12 was marked for identification 2 Q Whydothey call it afamily of standards
3 by thecourt reporter and is attached hereto.) 3 that deal with physical and datalink layers?
4 BY MR.LIN: 4 MR. LEE: Objection. Form.
5 Q Youcanput that asideif you want to staple 5 THE WITNESS: | don't know why the authors of
6 it 6 thisdocument would call thisafamily.
7 A Itsoundslikethat'sthe version that's 7 BY MR.LIN:
8 going to go into evidence anyway. 8 Q Doyou --doyou under- -- do you know if
9 Q Or both of them are. 9 thereisarelationship between 802.1, 802.2, 3, 4
10 A Oh, okay. Whatever. 10 and5?
11 MR. LIN: I'm handing the witness what has 11 A With-- I'm not understanding your question
12 been previously entered as Exhibit 2014 labeled 12 what you mean by "relationship.”
13 "Part 4: Token-passing bus access method and 13 Q Okay. Do you -- do you seethat sentence
14 physical layer specifications.” 14 whereit says| trip- -- still on page 4, it says
15 A Thank you. 15 "IEEE 802.1 (aseries of related standards)
16 Q How many pagesisthisthing? 16 describes the relationship among the family of 802
17 MR. LEE: Objection. Form. 17 standards and their relationship to the ISO Open
18 THE WITNESS: It's 278 pages. We have 278 18 Systems Interconnection Basic Reference Model in
19 hereinthe exhibit. Yes. 19 more detail"?
20 BY MR.LIN: 20 A | seethat sentence.
21 Q Okay. What isan |EEE standard? 21  Q Doyouknow what that sentence means?
22 A Soif wego to page 3in this exhibit, we see 22 A Doyou haveacopy of IEEE 802.1 that it's
23 it says, "IEEE standards documents are developed 23 referring to?
24 within the Technica Committees of the |IEEE 24 Q No, | donot.
25 Societies and the Standards Coordinating Committees 25 A Justsitting here today, | don't have an
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immediate reaction.

Q Okay. What is 802.4?

A Thisis 802.4 that we havein front of us
from 1990. It's describing the token-passing bus
access method and physical layer specifications.

Q Why did you provide this document in your --
accompanying your declaration?

A For primarily the reason that, as| recall,
one of the alleged prior art references cited to
this document.

Q Okay. Do you -- do you remember if some of
the references cited to 802.5?

A That's my recollection, that some cited to
802.5 aswell.

Q Didyou read 802.4, this document?

A | did not read every word, as| sit here
today, based on my recollection, but | skimmed it to
understand what it's referring to and understanding
that it's talking about this token-passing bus --

Q Didyouread a--

A -- specification.

Q Excuseme, sorry. Did you review asimilar
document for 802.5?

A Asl sit heretoday, | don't recall if | did
that or not. Can you give me my -- all the exhibits
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A | don'tthink so. | don't seeit. But wedo
have, in front of us already, the Tanenbaum
reference that itself summarizes, to a person of
ordinary skill in the art, both of these standards
as we've been reading and talks about, in sufficient
detail, how the token bus architectures differ from
the token ring architectures, and that is already
demonstrated in Exhibit 2007 how fundamentally
different these two architectures are.

Q Canyou turn to page 15 of Exhibit 2014.

I'm there.

Do you see Figure 1-1?

Yes, | do.

What is that?

It says, "Relationship of Adjacent Protocol
ers.”

Q Doesit make any sense to you?

MR. LEE: Objection. Form.

THE WITNESS: | don't understand that
question. I'msorry. | seethewords. | can read
thewords. If that's your question, yes, | can read
the words of thisfigure.

BY MR. LIN:
Q Doesthe concept of adjacent protocol layers
on Figure 1-1 correspond to the network layer

A
Q
A
Q
A

Lay
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that | cited for my declaration to seeif it's
included?

Q | don't know about all of the exhibits.

Here, let metry to ask a different question.

A Okay.

Q Do you remember reviewing 802.5?

A Asl sit heretoday, | don't have a specific
recollection of that. But if you could give me all
my exhibitsthat | citeto | can seeif it's
included.

Q Do you think it would be important to compare
802.4 to 802.5 in rendering your opinion?

MR. LEE: Objection. Form.

THE WITNESS: | want to give as -- acomplete
and accurate answer as possible. And as| sit here
today, | don't have a specific recollection of
having read the 802.5, but | may have read it and
just I'm not remembering today. So if you could
show meif | cited it and show me the exhibits, |
could be able to answer your question more fully.
BY MR. LIN:

Q Wiédl, | cantell you that you don't have a
document like thisin your -- accompanying your
declaration. | don't know if you have atable of
contents in your declaration you can look at.
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Page 181

protocol, the OSI network layer protocol ?

MR. LEE: Objection. Form.

THE WITNESS: 1'd need to study thisin more
detail to be able to answer that question. It's
been awhile since I've even looked at this. I'd
haveto look at it again. It could take awhile.
BY MR. LIN:

Q Sitting here now could you tell me what a
logical link control is? Strike that.

Sitting here now could you tell me what a
logical link control sublayer is?

A Yes. Butitwould -- it would take some
time.

Q Okay. And | assume that's the same answer
for media access control and physical sublayer?

A To understand what this document isreferring
to by those terms; that is correct.

Q How about medium?

A Theword "medium" | would understand to be
just the medium, the actual token busitself, like a
metal bar or awire.

Q Canyouturnto -- sorry. Would you like to
look at the document? | was going to --

A No. I'mdone.

Q -- move on to another topic.
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Page 182 Page 184
1 A Yeah 1 Q Ijustgaveyou the English trandation.
2 Q Youcan set that aside. 2 A Oh,yeah. Sotheoriginal document wasina
3 A Okay. Ancther good time for another break, 3 foreign language. | don't remember if it was Polish
4 by theway? 4 or Czech or Hungarian.
5 MR. LIN: Yeah. Let'sdoit. 5 Q Hungarian.
6 THE VIDEOGRAPHER: We're going off the 6 A Hungarian. Got to love the Hungarian
7 record, thetimeis 2:35. 7 mathematicians. So this Denesreference hasin it a
8 (Recess)) 8 discussion of transformations that you can make to a
9 THE VIDEOGRAPHER: Thisisthe beginning of 9 graph and then studies whether or not they can be
10 media4. We're back on therecord at 2:44. 10 applied so asto maintain an m-regular graph. In
11 BY MR.LIN: 11 particular it has here, on page 2, this thing that's
12 Q Welcome back, Dr. Goodrich. 12 called the ET-1 equation which | believe Dr. Karger
13 A Thank you. 13 wasciting to to say thisis away that you could be
14 Q Sogoing back to claim 6, we said earlier the 14 maintaining m-regular graph using this equation.
15 result of the performance of claim 6 doesn't have to 15 But unfortunately for Dr. Karger that's not what's
16 result in an m-regular graph; isthat correct? 16 being taught herein Denes.
17 A Yes. It hasto have this requirement, 17 Instead, what this equation is applying to is
18 however, that whatever is happening at the end of 18 only for the case when the node P that isleaving
19 step threethat the -- when the third computer is 19 would be amember of the graph already. So it would
20 responding, it hasto be donein amanner so asto 20 not apply, for example, in the unplanned
21 maintain an m-regular graph. 21 disconnection case. It would, theoretically, only
22 Q Couldyou explain what -- what you meanin a 22 apply in the planned theoretical case. But evenin
23 manner asto maintain an m-regular graph, please? 23 that caseif we go to the next page -- actualy, to
24 A Yes. Sowhatismeant by thisand what a 24 the bottom of this page and then to the next page,
25 person of ordinary skill in the art would understand 25 we seethat it's talking about these theorems that
Page 183 Page 185
1 by thisphraseisthat it'sreferring to the steps 1 show that there's actually an infinite number of
2 that this method performs have to be leading to 2 graphsthat even in the planned case you cannot
3 getting to this state where you would, again, in a 3 apply thisequation in order to be maintaining an
4 dsteady state, as the patent talks about, when no one 4 m-regular graph.
5 isleaving or coming anymore, that you would have an 5 So thiswould be an example, like you spoke
6 m-regular graph. 6 of, had this been reduced to software, where you'd
7 Q Soif youlooked at an application how would 7 have a software implementation of something that
8 you determine whether or not that step is occurring? 8 would not be maintaining an m-regular graph because
9 A Areyou asking now about the prior art 9 thisdescription doesn't work, first, for the
10 because that's precisely what | did with respect to 10 healing case and it doesn't work for lots of example
11 theprior art. 11 graphs where this ET-1 equation cannot be applied.
12 Q I'mtalking about any software. 12 Q So--and my trandator told me that it's
13 A Okay. Sotake, for example, software that 13 pronounced "Danish," so | hope it doesn't confuse
14 could implement the method that -- of this Denes 14 you?
15 reference, D-e-n-e-s, reference that was cited as 15 A That'sfine.
16 prior art. 16 Q Soin(3)ET-1onpage?2--
17 Q Would you like that reference? 17 A Yes
18 A Yes, please. 18 Q --itsays, "neighbors of p but pairwise not
19 Q | brought all these exhibits | want to get 19 neighbors." It'samouthful to say, but it seems
20 rid of. 20 that it needsto know P number of edges; isthat
21 A Fair enough. 21 correct?
22 MR. LIN: I'm handing to the witness 22 MR. LEE: Objection. Form.
23 Exhibit 1017. 23 THE WITNESS: No. Actualy, what this--
24 THE WITNESS: Okay. 24 firdt, there's the definition (3), which | think you
25 BY MR.LIN: 25 read from and the important factor herein
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Page 186

Page 188

1 definition (3) isright in the middle where it says 1 me-- let'sjust start over and then we can --
2 "{p}" and then there'slike alittle element, kind 2 looking at claim 6, can the method of claim 6 be
3 of looks like a three backwards, that says -- and 3 performed when mis, let's say, 3?
4 then capital P. What isthat referring to is that 4 A Yes
5 that node P, the one that now isgoingto beremoved| 5 Q How does-- if we start with m equals -- if
6 from the graph, hasto be amember of that graphin | 6 we start with abroadcast channel where m is equal
7 order for this equation to apply. 7 to 3 and we perform the steps of claim 6, isit
8 And then later on when we actually seethe 8 possibleto fulfill the last limitation of having a
9 equation that's equation (3), that'sthe ET-1 9 third computer not already connected to said first
10 equation, if you take that first line, starts with a 10 computer respond to said connection port search
11 number (3) takeit all theway across until yousee |11 message in amanner asto maintain an m-regular
12 thelittle{p} at theend. What that's referring to 12 graph?
13 now isthat we have this new set of nodeswiththe |13 A Yes.
14 {p} -- little{p} removed. And even more 14 Q How?
15 importantly we see the next line, which talksabout |15 A Soif wegoin --
16 thenew edgestoaddin. Andthenew edgestoadd |16 Q Sorry, let me--let me-- let metry a
17 inareillustrated, for example, herein Figure 1 17 different -- adifferent approach if you don't mind.
18 that if you have pl not connected to p2 and p3 not | 18 MR. LEE: Objection. Form.
19 connected to p4 and so on al theway around, then |19 BY MR. LIN:
20 you could just add those connections and then you're| 20  Q I'm going to draw a graph where | believe
21 back to being m-regular again. 21 it'smequalsto 3 and incomplete and we'll go from
22 BY MR.LIN: 22 there.
23 Q Allright. Youre-- 23 Isthat okay?
24 A Unfortunately, that doesn't apply in an 24 A Okay.
25 infinite number of graphsthat you have such a 25 Q Bearwithme. | apologize for the --
Page 187 Page 189
1 scenario. 1 A Noproblem.
2 Q Yourecorrect. What | meant to ask isiif 2 Q lItsaloteaser. Sol havedrawnyou a
3 you were to implement Denesin code, would the 3 graphthat | believe has aten nodeswhere mis
4 software need to know what k isasit definesk as 4 equal to 3.
5 ink-regular -- k-regular graphs? 5 I'm handing it to Dr. Goodrich and we're
6 A Yes 6 going to mark it as Goodrich 13.
7 Q Inordertoexecutethisformula-- I'm 7 (Exhibit 13 was marked for identification
8 sorry, strike that. 8 by the court reporter and is attached hereto.)
9 In order to execute formula ET-1, the 9 BY MR.LIN:
10 software would need to know what K is; is that 10 Q Doyou agreethat that isa-- could be a
11 correct? 11 broadcast channel where mis 3?
12 A Yes. Itwould needthenodeK andthenode |12 A It'san example of adrawing of an m-regular
13 p, both, and all of its neighbors. 13 graph wheremisequa to 3.
14 Q Okay. You can set that aside. 14 Q And there are ten nodes, correct?
15 A Okay. 15 A Thereareten nodesin this graph; that's
16 Q | think we had -- earlier we were talking 16 correct.
17 about whether or not claim 6 would -- would work if| 177 Q So could you show me how the method of claim
18 m was an odd number. 18 6 could be performed on that graph, Goodrich 13, and
19 Do you remember? 19 fulfilling thislast limitation in a manner asto
20 A | dorecdl that discussion. 20 maintain an m-regular graph?
21  Q And]I forget what your answer was. Couldyou 21 A Which of these graphs would you now want to
22 remind me, please. 22 remove in an unplanned manner?
23 A I'mnot immediately remembering the details | 23 Q Whichever one you want. I'm not picky.
24 of that discussion either other than that we had it. 24 A Canl mark this now --
25 Q That'show | feel sometimestoo. Okay. Let |25 Q Yeah, of course.
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Page 190

Page 192

1 A --withmy red pen? 1 And then it talks about if misodd. "If the
2 Q Yes 2 number of internal connectionsis odd, then the
3 A Okay. Solet'sassume that node 1 isgoing 3 broadcast channel has an odd number of computers
4 toleavein an unplanned away not telling his 4 connected, one of the computers will have less than
5 neighborswhich are 2, 6 and 5, that it is leaving. 5 the (sic) odd number of internal connections." Like
6 Q Okay. 6 inthispictureit would be node 2. Thenwe go to
7 A Okay. And sonow hewould be -- thesethree | 7 thetop of column 15 and it says, "In such a
8 that areleft would realize, only when they tried to 8 dituation, the broadcast network is neither
9 send amessageto 1, 1's not there anymore. Wethen| 9 m-regular nor m-connected. When the next computer
10 would do this next step of broadcasting. Each of 10 connects to the broadcast channel, it can again
11 them would then be broadcasting on the remaining | 11 become m-regular and m-connected. Thus, with an odd
12 broadcast channel | need another connection. 12 number of internal connections, the broadcast
13 | need another connection. 13 channel toggles between being and not being
14 | need another connection. 14 m-regular and m-connected.”
15 Q Whichisb, 6-- 15 So that's what's happening here. We did the
16 A 5, 6and 3 would then be sending out these 16 step three. We did have a message from athird
17 messages. 17 computer that is sufficient to maintain an m-regular
18 Q Wouldyou mind writing a connection port 18 graph. We'rejust not there yet because we still
19 search messageif that's what you -- 19 need one more insertion or deletion to get back to
20 A Yeah. | think that'swhat it'scaledin 20 the steady state.
21 clam®6-- 21 Q Morethan one moreinsertion or deletionin
22 Q Yeah 22 this case, correct?
23 A --connection port search message. Okay. 23 A No. Onemorewill get us back, either
24 Q Okay. 24 insertion or deletion. Either planned or unplanned
25 A Andthen we get to -- so step three. Having 25 will get us back because then we'll have an even
Page 191 Page 193
1 athird computer not already connected to said first 1 number of nodes either way.
2 computer -- so one of these would be the said first 2 Q Sodoyouhaveto eventualy end upinan
3 computer. Let'ssay it's number 5 -- could have 3 me-regular graph? Sorry, let me strike that.
4 some other node that's responding back to it that -- 4 What isthe one more step? You said it needs
5 inamanner asto maintain m-regular graph. So, for 5 one more step to create the m- -- to create an
6 example, 6 could respond back and say let's connect 6 m-regular network.
7 up,5and 6. And now, 5, your three connected, 6, 7 MR. LEE: Objection. Form.
8 your three -- | mean, you have three neighbors. 8 BY MR. LIN:
9 Even after losing 1 and 6, you have three neighbors 9 Q What -- what -- what's that step?
10 even after losing your connection to 1. 10 A It'sjustlikewhat's talked about in -- that
11  Q But how about 2? 11 1 just read from the patent.
12 A 2would still have degree 2 and so we'd bein 12 Q | know, but in the -- in the figure could you
13 thisregimethat it's talking about in column 14 and 13 show me what -- where the one more step would be,
14 15, that when mis odd, then you can only have the 14 one more --
15 steady state of it being m-regular when you get back 15 A Sure. Oneexamplewould beif one came -- if
16 tom being even again. Either deleting another node 16 anew version of node number 1 was added to the
17 or adding another node to get back to an even number 17 graph and then it would get connected up, say, to 5,
18 of nodes. So that -- when you have -- mis odd, the 18 6 and 2, now we'd be back to m-regular again.
19 patent is already saying you have to have an even 19 Simple.
20 number of nodesin order to bein that steady state. 20 Q What about just theway itis? Sorry, strike
21 Andit'svery particular about thisin column 14 21 that.
22 becauseit says, "When the number of internal 22 So you've said the connection between 5 and 6
23 connectionsis even, then the broadcast channel can 23 meets the limitation in amanner asto maintain an
24 be maintained as' an "m-regular and m-connected (in 24 m-regular graph, correct?
25 the steady state)." 25 A Sothat the messaging that occurred to create

212-267-6868

49 (Pages 190 - 193)

Veritext Lega Solutions

.veritext.com

516-608-2400

WwWWw
IPR2016-00747-ACTIVISION, EA, TAKE-TWO, 2K, ROCKSTAR, Ex. 1202, Page 49 of 105



Page 194 Page 196
1 that connection would, indeed, satisfy so asto 1 interrupt. | mean, just with those nine computers.
2 maintain an m-regular graph because they'verepaired 2 A Those nine computers would not be in a steady
3 theissuefor them. Now they both have three 3 dtatein that case as the patent itself says, as|
4 neighbors. Asthe patent says, when you haveanodd 4 readin column 15. Y ou toggled between being
5 number of nodes and mis odd, somebody'sgot to be| 5 m-regular and not m-regular when misodd. That's
6 having one less than m number of neighbors. Inthis| 6 precisely from the specification. So the
7 caseit would be node number 2. Sothiswouldnot | 7 specification issaying you're not in a steady state
8 bethe steady state. But you did form astep so as 8 when misodd and the number of nodesisodd. You
9 to maintain an m-regular graph. You did that, 9 neither have m even or the number of nodes even to
10 unlike Denes, which doesn't do that. It doesn't 10 get back to asteady state.
11 work, first, because there's no equation for the 11 And the steady state is mentioned again in
12 case of an unplanned removal of anode and evenin | 12 column, as| recall, 8. Soif you turn to column 8
13 the planned case, the ET-1 equation does not apply to 13 it says, "When the broadcast channel isin a steady
14 lotsand lots of graphslike, for example, in his 14 state (i.e., no computers connecting or
15 Figure2. 15 disconnecting from the broadcast channel).” And
16 Q Doesthe broadcast channel havetobeinthe |16 thenit'stalking about what happens with
17 steady state in order to satisfy thislimitation 17 out-of-order messages in the steady state. Then
18 that'sin amanner asto maintain an m-regular 18 you'refine. Soit's clear it's repeating over and
19 graph? 19 over again thisideathat the steady state is
20 A No, absolutely not. That'sclear. Because 20 referring to nobody's coming and going. And in this
21 whenmis, say, 4 you haveto havetwo pairsof a | 21 caseyou'd be in the steady state of being
22 first and second computer to order to finally get 22 m-regular.
23 back to the steady state again. So after doing the 23 Q Soyourereadingin-- I'm sorry, strike
24 steps of 6 just once, even when mis 4 you've still 24 that.
25 gottodoit againin order to get back to the 25 So you're requiring this m-regular graph in
Page 195 Page 197
1 steady state. But even if you've done it once, 1 claim 6 to bein the steady state; isthat correct?
2 you'vestill doneit. You'vefulfilled al the 2 A Which m-regular graph are we talking about?
3 stepsof claim 6 because, even in this case, you did 3 Q Bothof them.
4 step threein a manner as to maintain an m-regular 4 A Again, I'mconfused. Which one are we --
5 graph, but the prior art never did anything close to 5 when you say requiring it to be in the steady state,
6 that. 6 what are we referring to, what phrase in claim 6?
7 Q Canyouturnto page -- your paragraph -- 7 Q Let merephrase my question.
8 your declaration paragraph 41. 8 Whereistheterm "steady state" in claim 6?
9 A I'mthere. 9 A Theword doesn't appear inclaim 6. It's
10 Q Canyou read that -- so you have a sentence 10 just understood as being a part of this phrasein a
11 inthe middle of the paragraph whereiit says, "That 11 manner asto maintain an m-regular graph. Again, as
12 is, anetwork is m-regular when each node is 12 | mentioned earlier today, it does not say, for
13 connected to m other nodes in an steady state, and a 13 example, in amanner asto result in an m-regular
14 computer would become disconnected from the 14 graph. That distinction is absolutely important
15 broadcast channel only if al m of the connections 15 that it says"asto maintain" not to resultin. A
16 toits neighboring nodes fail." 16 person of ordinary skill in the art seeing "asto
17 A Yes 17 maintain" would understand this step three
18 Q Soisit--isit possible with those nine 18 absolutely hasto get you to an m-regular graph but
19 computers where mis equal to 3 to achieve m-regular 19 it doesn't haveto do it on the very next step, but
20 inan steady state? 20 it hasto get you there as to maintain an m-regular
21 A Yes. All you'vegot to doisadd one more 21 graph.
22 node or delete one more node -- 22 Q Thankyou, Dr. -- Dr. Goodrich. Can you turn
23 Q | mean-- 23 back to Figure 2 of the patent.
24 A -- and then you're back to the steady state. 24 A Yes. I'mthere.
25 Q Excuseme, I'msorry, | didn't mean to 25 Q If you wereto add a connection from computer
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Page 198 Page 200
1 zerotocomputer 1 -- 1 Q Okay. Solet'sassume Figure 2 is some other
2 A Okay. 2 network that's not the claimed network and it has a
3 Q --would that be -- would that broadcast 3 connection between computer zero and computer 1.
4 channel be m-regular? 4 A Okay.
5 A Itwould not bein the steady state of being 5 Q And there's no computers coming and going so
6 m-regular anymore. One node would have five 6 itisinthe steady state.
7 neighbors. Well, you have to be alittle bit 7 MR. LEE: Objection. Form.
8 careful here. So when you say add this connection 8 BY MR.LIN:
9 between zero and 1, would this be a connection on 9 Q Doyoufollow?
10 theinternal ports or a connection using external 10 A Sofarl follow, yeah.
11 ports? 11  Q Would that network be m-regular?
12 Q Just aconnection like the other edges. 12 A Again, if we'retalking about the connection
13 A Yeah. Inthat case you would no longer be 13 from zeroto 1 being an internal connection and an
14 m-regular. It wouldn't bein the steady state. 14 internal port, that graph would not be m-regular, so
15 Q What does steady state mean? 15 it would not be m-regular in a steady state. It's
16 A So steady stateisreferring to this property 16 not m-regular at that point. But again, it depends
17 asdiscussed in the patent that in column 8. If we 17 on the nature of that edge from zeroto 1. If
18 gotoline4 it says, "When the broadcast channel is | 18 that's just acommunication that's outside the
19 inasteady state (i.e., no computers connecting or 19 broadcast channel, then the other edges would
20 disconnecting from the broadcast channel).” And | 20 till -- are amember of the broadcast channel,
21 then we see, again, that same phrase -- 21 would be m-regular -- belonging to an m-regular
22 Q I'msorry, column 8 where? 22 graph.
23 A Line4, | think. Yeah, 4. 23 Q Okay. Soinyour -- in the figure Goodrich
24 Q Okay. 24 13, after computers 5 and 6 have connected, and
25 A Sothat'soneplace. Another placeiscolumn |25 computer 2 has two connections, do you follow?
Page 199 Page 201
1 14 startingin line 62 that | read, again, earlier 1 A Yes
2 today. "When the number of internal connectionsis 2 Q Why isthat not in the steady state?
3 even, then the broadcast channel can be maintained 3 A Becauseit fallsinto this framework that's
4 asan m-regular and m-connected.” Andin 4 discussed in the patent specification in column 15
5 parenthesesit says, "in the steady state." So 5 atthetop. Soit'stalking about now in the case
6 again, aperson of ordinary skill in the art reading 6 wheremisodd. It says-- and the number of nodes
7 thisrealizeswhat the patent is talking about when 7 isodd. It says,"In such asituation, the
8 you need to be m-regular iswhen you're in the 8 broadcast network is neither m-regular nor
9 steady state. 9 m-connected. When the next computer connects to the
10 And then immediately after that it talks 10 broadcast channdl, it" -- "it" -- now the broadcast
11 a&bout the case when mis odd and how you have to be 11 channd -- "can again become m-regular and
12 toggling between the steady state and the nonsteady 12 m-connected. Thus, with an odd number of internal
13 dtate. First you're m-regular, then you're not, 13 connections, the broadcast channel toggles between
14 thenyou are, then you are (sic). When you're 14 being and not being m-regular and m-connected."
15 adding -- say if you're -- when it says toggle, what 15 Q Okay. | think | understa- -- | think |
16 that meansisif you keep adding nodesin a 16 follow. Let meseeif | -- if | havethis--if |
17 sequence, then you'd toggle between these two states 17 understand this correctly.
18 or if you keep deleting nodes in a sequence, you 18 m, in the case of Figure Goodrich 13, is 3.
19 would toggle going back and forth between these two 19 Each of the computers that are numbered knows that m
20 states of being m-regular in the steady state and 20 is3, correct?
21 then not, m-regular then not and so on. 21 A Yes. Inthishypothetical I'mwilling to
22 Q Andthat'sin the context of the '147 patent, 22 accept that.
23 correct? 23 Q And thisnetwork is-- I'm not going to -- |
24 A It'sliteraly from the text of the '147 24 don't think I'm going to be using the right word,
25 patent, yes. 25 here, so help meout. But it wantsto be m equals 3
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and it's not in the steady state becauseit's
waiting for another computer to come into the
network or leave so that m can now become 3; is that
correct?

A It's, | think, alayperson's way of
explaining that, but it doesn't seem, as| sit here
today, to be that far off from what's realy going
on. You're anthropomorphizing the nodes alittle,
which I'm willing to accept now that it'slatein
the day on aFriday. Otherwise, it doesn't sound so
horrible the way you're expressing it.

Q Thank you, Dr. Goodrich. | try. Okay. So
earlier in the day | think we were talking about
columns 15 and 16 --

Yes.
-- and | promised you that we would get back

Okay.
Can you tell me what a component is.
Which -- which place are you seeing that
word?

Q Oh, I'm sorry, column 15, line 6.

A Line6. Yeah. So hereit'sreferring to
Figure 6 and it says (as read), "Figure 6 is a block
diagram illustrating components of a computer that
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Page 204
try to ask this dlightly different. Inclam6is
the connection port search message an internal
message or an external message?

MR. LEE: Objection. Form.

THE WITNESS: | don't see that claim lang- --
the claim language internal or external as a part
of --

BY MR. LIN:

Q Okay.

A --theclaimitself.

Q Thenlet'stry thisthe original way | wanted
totry it, iswhat is an externa and internal
message?

MR. LEE: Objection. Form.

THE WITNESS: So the patent specification
talks about this, for example, beginning in column 6
starting at lines 10. And thisisal inthe
context of an example where m for this m-regular
network is4. So it says, "Each computer connected
to the broadcast channel allocates five" -- not
four -- "five communication ports for communicating
with other computers. Four of the ports are
referred to as 'internal’ ports because they are the
ports through which the messages of the broadcast
channels are sent. The connections between internal
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Page 203
is connected to a broadcast channel.”

Q So what's acomponent?

A | believe what is being referred to herein
Figure 6 are the different boxes that are drawn in
Figure 6.

Q Why are boxes used to represent components.
Sorry, let me -- let me try again one moretime.
Let'slook at Figure 7 instead.

A Okay. I'mlooking at Figure 7.

Q What'sablock diagram?

A SoFigure7isreferenced also in column 15
beginning at line 66. It says (asread), "Figure 7
isablock diagram illustrating the sub-components
of the broadcaster component in one embodiment.”
And so if we -- if we go back, for example, to
Figure 6, we see some sguares marked as 602 herein
Figure 6. | believe what's being described here in
Figure 7 isa -- sort of azoom-in of one of those.

Q And so they -- they talk about these things
called internal messages and external messages,
which you were trying to get at earlier.

Could you explain to me what the differences
are?

A Certainly.

Q Or, actually, let me -- let metry -- let me
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Page 205
ports of neighbors are referred to 'interna’
connections. Thus, the internal connections of the
broadcast channel form the 4-regular and 4-connected
graph. Thefifth port isreferred to asthe
'external’ port becauseit is used for sending
non-broadcast messages between two computers.”

And thisiswhy when we were talking before
about Figure 2, | was trying to get a clarification
about whether or not the connection you were
anticipating between zero and 1 was an internal
connection or an external connection.

BY MR. LIN:

Q Okay. Solet meseeif | cantry to
understand the distinction better. | misplaced my
figures. | can do thisfrom memory. Soin Figure
5B, after an unplanned disconnection when node
computer H leaves, a connection port search message
is broadcasted. Oneissent from -- okay. So
it's -- the connection port search messageis
broadcasted; is that correct?

MR. LEE: Objection. Form.

THE WITNESS: I'm sorry, I'm alittle
confused. I'm at Figure 5B and it's been along
day, so now I'm confused what you're referring to.
Which nodesH -- soH --
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Page 206 Page 208
1 Q Leaves 1 that.
2 A Well, he'sbeen -- he's-- 2 In Figure 5B -- I'll wait until you get
3 Q Hesgone. 3 there.
4 A He'sgone. He'sgot an unplanned 4 A Okay. I'mthere.
5 disconnection, so he's gone, he's out of the 5 Q InFigure5B it seemsthat both you and |
6 broadcast channel. 6 have been understanding that the connection port
7 Q Andl, A, EandFal broadcast a connection 7 search message goes to the other computersin the
8 port search message; isthat correct? 8 broadcast channel; isthat correct?
9 A I'mwilling to accept that that's something 9 A Asit'stalking about in claim 6, is your
10 that the patent describes. 10 question?
11  Q Isthat aninternal message or an external 11 Q That'scorrect.
12 message? 12 A Soif wego back to claim 6, then we go to
13 A Do you havethe place in the patent where now | 13 the second step, which we haven't talked about a lot
14 you're referring to this messaging? 14 today. But it says, "When the attempt to send the
15 Q It'scolumn 16. 15 message is unsuccessful, broadcasting from the first
16 A Okay. Let me get there. 16 computer aconnection port search message indicating
17  Q It'snot aperfect match, but it explains 17 that the first computer needs a connection.” Soin
18 what these messages are. 18 this context what we see is that that connection
19 A Right. Thisistalking about the components. | 19 port search message is broadcast.
20 But now when we're talking about the port search 20 Q Isit broadcast on the broadcast channel?
21 message -- 21 A Asl sit heretoday, | can't think of any
22  Q Wherethetablethat says "External Messages' | 22 other ways. Certainly, that's one way you
23 starting on line 30 -- 23 definitely can. Asl sit heretoday, | don't see
24 A Oh. 24 any other way that's it disclosed in this patent
25 Q --of column 16. 25 besides using the broadcast channel.
Page 207 Page 209
1 A Okay. 1 Q Okay. Becauseit's-- what I'minterested in
2 Q Andthenline55 whereit says"Interna 2 isifinFigure 5B thereisa-- if therewasa
3 Messages." 3 computer Z that's not connected to the broadcast
4 A Yes, | seethat. 4 channel.
5 Q Sothere'salot of message -- message types 5 MR. LEE: Objection. Form.
6 that it'stalking about, and I'm wondering is the 6 BY MR.LIN:
7 connection port search message an external message| 7 Q Areyou following?
8 or aninternal message? 8 A No, I'mnot following. Sorry.
9 A Yeah. Thistype of analysiswasn't required 9 Q Let'sassumein Figure 5B thereisa
10 for my declaration. 10 completely unconnected computer called Z asin
11 Q Okay. 11 zebra
12 A Sowhen| look at this, | see, indeed, 12 A Justlike H, here, is not connected to
13 there's something called a connection port search 13 anybody?
14 statement in thistable called Internal Messages. 14 Q Yeah. That'scorrect.
15 But the external messages, there's also something 15 A Okay.
16 called aport connection call, aconnected statement | 16 Q So the connection search port message would
17 and acondition repair statement and even a 17 not be transmitted to computer Z asin zebrg; is
18 connection request call. So | don't know how to 18 that correct --
19 answer your question without doing alittle bit more | 19 MR. LEE: Objection. Form.
20 analysis, as| sit here today, because this wasn't 20 MR. LIN: Sorry, Counsdl.
21 required to determine that these prior art 21 Q --becauseit'snot connected to the
22 references are missing broadcast channel, missing on 22 broadcast channel?
23 how to repair something for m-regular and are so 23 A Inthis example embodiment, no, it wouldn't
24 different it would be nonobviousto combinethem. |24 get it becauseit's-- in this example you're only

N
a1

Q | think my question has been -- or strike

25

broadcasting on the broadcast channel. Z would not
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Page 210
receive that message because it's not connected to
the broadcast channel.

Q How about in claim 6, would it be -- would
that scenario be covered by claim 6?

A I'm not understanding now how this would now
apply -- this hypothetical applies back to claim 6.

Q Wadll, the hypo- -- the-- I'm -- my
understanding is that the hypothetical would not
apply to claim 6 because Z is not connected to the
broadcast channel; isthat correct?

MR. LEE: Objection. Relevance.

THE WITNESS:. I'm -- I'm not -- even then,
I'm not following your line of reasoning with
respect to this. I'm sorry.
BY MR. LIN:

Q Okay. Well --

A Perhapsit's been along week and -- along
day and along week.

Q It'sbeenalongday. | think your -- your
answer that the broadcast of the connection port
search message must occur on the broadcast channel;
isthat correct?

MR. LEE: Objection. Form.
THE WITNESS: | think my answer was that jus
sitting here today that was not required for the
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Page 212
graph." Then | cite to some of the words that
petitioner makes and then explain that Denes does
not disclose any messages that would allow oneto
respond. And then Karger is saying basically that
same thing in histestimony that | citetoin
paragraph 120. The ET-1 equation does not
effectively ever get to or maintain an m-regular
graph for those reasons we talked about earlier
today. And then | get to the paragraph 121 that (as
read) "Petitioner also argues that Rufino discloses
this claimed element.”

Could | see acopy of Rufino, please?
BY MR. LIN:
Q Yes
I'm handing a copy of Rufino to the witness.
It's already been entered in this proceeding as
Exhibit 1011.

A Right. Sowhat we see from Rufino is that
thisisadiscussion of the token bus LAN
architecture and, therefore, this also doesn't have
abroadcast channel. There's no broadcast this way.
Moreover, as admitted by Dr. Karger the who-follows
guery is sent on the physical bus, not on a
broadcast channel. It's sent just on this physical
bus that we talked about in this next picture
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Page 211
analysis because we're already missing in al the
prior art references, broadcast channel is-- is
explaining in the beginning part. So if you're
asking does that broadcasting step have to occur on
the broadcast channel, certainly that's what is the
preferred embodiment that's described in the patent.
And just sitting here today thinking about this, |
can't think of another way that you could do the
broadcasting except to use the broadcast channel.
BY MR. LIN:

Q Okay. Thank you. Can you go to your
declaration paragraph 121, page 64.

A I'mthere.

Q | would liketo ask you about -- | don't --
it'sbeen along day. | don't -- | don't understand
paragraph 121 and the point that you're making in
121 and 122.

A Okay.

Q Could you -- could you try and rephraseit.

MR. LEE: Objection. Form.

THE WITNESS: So thisisin the context of
that last step of claim 6 "...having a third
computer not already connected to said first
computer respond to said connection port search
message in amanner as to maintain an m-regular
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Page 213
beginning on my page 65. Therefore, now in
paragraph 122 (as read), "Accordingly, thereis no
way that this claim element could be met by Rufino
that alleges athird station is already connected."

It should say already not connected. That'sa
little typo.

Q "Accordingly, thereis no way that this claim
element be met by Rufino because the alleged” -- "is
aready" --

A No. It'sfine. Becauseitisaready
connected. Whereas, if we go back to claim 6, we
have to have a third computer not already connected.
So Rufino is missing that part of the element. It
can't be athird. There can be no third computer
not already connected to the first computer when you
have a bus because everybody's connected to
everybody because they're connected to the bus. And
that's why | highlight this phrase out of Tanenbaum
where "each station receives the frame" anytime
anyone sends a message on the broadcast medium of
the bus.

Q Soif you have an underlying network where
you're connected, that precludes being connected on
the overlay; isthat correct?

A | think you're misunderstanding. So what
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Page 214 Page 216
1 thisisasayingis-- going back to the claim 1 straight out of Rufino that is-- | give on page 16.
2 language of being connected. | gave a definition of 2 It talks about this.
3 that, which | believe is the proper definition under 3 Q What doesthe -- what does the modifier
4 theBRI standards. And then if we go to the claim 4 "logical" mean?
5 language for claim 6, again it says, "...having a 5 A Sol haveasentence wherel say, "Thusthe
6 third computer not aready connected to the first 6 stations need some protocol” -- thisisin my
7 computer respond.” And we already talked about how 7 paragraph 35. "Thus, the stations need some
8 an exemplary third computer could be a member of the 8 protocol for managing when they can send messages,
9 broadcast channel responding to that broadcast 9 with one of the most common being to organize the
10 message that came on the broadcast channel. 10 dtationsinto alogical (not physical) ring and use
11 So the first and the third computer can be 11 asmall message token to facilitate message
12 connected to the same broadcast channel, indeed, 12 passing." Andthislogical ring isillustrated by
13 that'sapreferred embodiment. But they're not 13 thedotted lines from Rufino that | cite to from his
14 connected directly to each other in a point-to-point 14 Figure 1 and aso the figure on the next page on my
15 connection the way that | give as a definition of 15 page 17 from Tanenbaum, which also highlights and
16 connection in my claim construction. But now when 16 stressesthat thisisalogical ring. You logicaly
17 weturn to Rufino, Rufino can't -- can't match that 17 think of there being this sequence of stations that
18 language because Rufino is atoken bus architecture 18 goesaround, but physically they're all connected to
19 where everyone is connected to everyone ese. It's 19 the same broadcast medium, the bus.
20 abroadcast medium not a broadcast channel. 20 MR. LIN: Counsdl, | want to take abreak. |
21 So anyone -- it'slike if you and | were both 21 think | might only have alittle bit left. Let me
22 holding on to awire and Michae!, here, puts 22 just figure out what | need.
23 electricity on the wire, we both feel it immediately 23 MR. LEE: Yeah.
24 asajolt. That's how the broadcast's bus works. 24 THE VIDEOGRAPHER: We're going off the
25 So everybody is connected to everybody. Thereisno 25 record, thetimeis 3:37.
Page 215 Page 217
1 third station that can receive the message and then 1 (Recess.)
2 respond to it and not be already connected. Itis 2 THE VIDEOGRAPHER: We'e back on the record,
3 aready connected on that bus. It can't satisfy 3 thetimeis 3:51.
4 claim6. 4 BY MR.LIN:
5 Q Canyouturnto Rufino, please. 5 Q Allright. Let'sgo back to columns9 and
6 A I'mthere 6 10.
7 Q Canyouturnto -- looks like the Bates label 7 A Inthe patent?
8 didn't makeit al the way through here. Oh, okay. 8 Q Of the'147 patent.
9 So, oh, it'sjust dark. Page 8. 9 A Okay.
10 A I'mthere 10 Q Does-- when thereisadisconnection in the
11  Q Sorry, that's not what | wanted to talk 11 '147 patent, does it talk about reconfiguring the
12 about. Page 9, Bates page 9 -- 12 entire broadcast channel to address a planned or
13 A I'mthere. 13 unplanned disconnection?
14 Q --intheupper right-hand corner. What does | 14 A [ don't understand the question.
15 it mean, "logical ring"? 15 Q What do you mean by reconfiguring the whole
16 A Sothesentencel think you're pointing meto | 16 thing?
17 is"Access control isperformed by atoken passing |17 A Sobreaking al of the -- the -- the
18 protocol, which establishesalogical ring over the | 18 connections and then reforming a new network or new
19 physical bus." Isthat what you're referring to? 19 broadcast channel.
20 Q That'scorrect. 20 MR. LEE: Objection. Form.
21 A Yeah. | speak to thisin my declaration, in 21 THE WITNESS: Y ou mean as a preferred
22 fact, when you go back to this general discussion of | 22 embodiment or whether or not that's allowed in -- in
23 thetoken bus networksin -- beginning in my 23 the-- for clam 6?
24 paragraph 35. And | have afigure right out of 24 BY MR.LIN:
25 Tanenbaum that talks about -- and aswell afigure |25 Q Inthe specification doesit describeit and
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Page 218 Page 220
1 thenwe cantalk about it. Well, let me -- let 1 BY MR.LIN:
2 me-- let me strike that. Let me rephraseit. 2 Q Plesse. | think -- | think -- please. Go
3 Let's focus on the specification first. 3 ahead.
4 A Okay. Sointhe specification, yes, that is 4 A Okay. Sojust thinking out loud, here, when
5 dlowed. 5 wego to claim 6, and you're asking now with respect
6 Q Andisitdescribed in the specification? 6 toclaim 6, can you do afull-blown reconfiguration
7 A Yes 7 and havethat allowed. What we need first to see
8 Q Where? 8 you started with something that was m-regular, with
9 A Heeinthecolumn9. And then it says-- 9 matleast 3. You're healing adiscretion, so this
10 it'svery terseand so | could see how it could be 10 isin the framework that now one of those computers
11 missed a first. If you godowntoline62in 11 hasleft in an unplanned way. We want to heal it.
12 column 9, "Such a condition may also occur when the 12 You do afirst step, attempting to send a message
13 broadcast channel in the small regime." And as 13 from afirst computer to a second computer, check.
14 we've talked about elsewhere today, when the 14 That'salowed. Next one, when the attempt to send
15 broadcast channel isin the small regime, you don't 15 the messageis unsuccessful, broadcasting from the
16 need alot of whole messages. There'sjust afew 16 first computer to a connection -- a connection port
17 computers there, so they just kind of get together 17 search message indicating that the first computer
18 and decide what to do amongst themselves. 18 needs aconnection. So you broadcast on -- in this
19 And that's kind of like -- those details are 19 example, in this hypothetical, be broadcasting on
20 mentioned very briefly because it's so easy for a 20 the broadcast channel that's left and then have a
21 person of ordinary skill in the art to understand if 21 third computer not aready connected to the first
22 there'sonly four computers and we're in the small 22 computer -- so we gtill have to have that element --
23 regime, they might even be all connected to each 23 respond in a manner as to maintain am-regular
24 other. They just say, hey, you're till there? 24 graph.
25 And we'refine. 25 So if your question is can we then -- if
Page 219 Page 221
1 Great. We'rein the small regime. We are 1 there'sjust ahandful of computers and even if
2 fixed. 2 werenot quite in the small regime, the number of
3 So they could even sort of reconfigure 3 changes that you make are -- are basically the
4 who's -- the numbers and stuff and everything is 4 on- -- sometimes the only possible changes you can
5 good. So their small regimeisaspecial case when 5 make that would be basically equivaent to
6 you might completely reconfigure the network and 6 reconfiguring everything. So I'm not sure how that
7 then go on from there. 7 would be different than even just having, you know,
8 Q How many computers arein the small regime? 8 acouple computers hook up to each other. Yeah,
9 A Itdependsonwhat ismif we'retrying to 9 maybe I'm not understanding the question. It'skind
10 maintain an m-regular network. 10 of lateinthe day.
11 Q If misatleast 3, what'sthe smallest 11 But aslong as you're satisfying every step
12 regime we can have? 12 of the method, just sitting here today, I'm not
13 A Youcould have two nodesin the small regime 13 immediately seeing how that would not be allowed.
14 and it would be -- again, you wouldn't get to m 14 Again, that analysis wasn't needed for -- theterm
15 greater than 3 yet, but it would bein the small 15 inthose prior art references are missing on
16 regime, hopefully, to build back up to that point. 16 broadcast channel, maintaining an m-regular graph o
17 If you had m equals 3, the smallest number of nodes 17 that they would be nonobvious or that -- and the
18 would be 4 to be in the small -- to be in the small 18 fact that they are nonobvious to combine.
19 regime. 19 Q Incolumn 6, lines 24 to 28 -- it actually,
20 Q Isthisreconfiguration in the small regime 20 goesalittle farther.
21 covered by claim 6? 21 A I'mthere.
22 MR. LEE: Objection. Form. 22  Q Itgoesalittlefarther down. The'147
23 THE WITNESS: That question was not necessary 23 patent istalking about creating these connections
24 for my analysis. | could try to think about some 24 using a TCP/IP connection or protocol; is that
25 moreas| sit here today if you'd like. 25 correct?
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Page 222 Page 224

1 A Sowhat'sbeing described herein column 6is | 1 ordinary skill intheart. Ovals, for example,

2 an example embodiment that's using TCP/IP 2 illustrate starting and ending places.

3 connections to be the connections you do for the 3 For this little snippet of discussion,

4 underlying network for the broadcast channel. 4 rectangles are representing actions and diamonds

5 Q Doesthe'147 patent disclose any other 5 represent decisions. And then the linesthat are

6 portal to create the underlying network? 6 connecting up these various shapes, show the various

7 A Yes 7 flow of control of how a computer would be

8 Q Couldyou tell mewhere? 8 performing these various actions. So that's why we

9 A Certainly. If we'dturnto column 1andgo 9 call it aflow diagram. It's showing the flow of
10 toline 46 it says, "The point-to-point network 10 control of how a computer would perform these
11 protocols, such as UNIX pipes, TCP/IP, and UDP, |11 actions.

12 dlow processes on different computerstoinclude |12 Q SolI'm going to start with the OSI reference
13 viapoint-to-point connections.” Sorry. 13 model one moretime.
14 Q Do you need to get that? 14 A Okay.
15 A No. I'll try not to -- turn it off. 15 Q It'son page 11 of your declaration.
16 Q Isthereanywhereelse? Anything else? 16 A Of my declaration, yes. Okay.
17 A Asl sit heretoday, nothing elseis coming 17 Q SolI'mgoingto posea--I'd liketo
18 to mind, but that doesn't mean there might not be 18 understand how this flow diagram would be
19 something else I'm just not remembering right now. | 19 implemented in the context of the OSI diagram.
20 Q Okay. And earlier on you mentioned interna | 20 MR. LEE: Objection to form.
21 ports. Isthat an port number? 21 THE WITNESS: Are you asking about Figure 21
22 A Sowherearewe taking about now? 22 now?
23  Q I'msorry, it'salso latein the day for me. 23 BY MR.LIN:
24 Here, let'ssee. Okay. Why dontwegotocolumn |24 Q Yes.
25 9, lines 30, to 33. 25 A Okay.
Page 223 Page 225

1 A I'mthere 1 Q Solet'sstart with just Figure21. This

2 Q Anditsays, "Each former neighbor of the 2 hole-- it saysfill holein the oval on Figure 21,

3 disconnected computer recognizes that it is short 3 correct?

4 one connection (i.e., it has ahole or empty port)." 4 A Uh-huh. Yes.

5 So what is an empty port? 5 Q Andthat's, let's say, a TCP/IP port number,

6 A Yeah. Sointhispreferred embodiment it's 6 correct?

7 referring to, for example, let's say TCP/IP ports 7 A A holethat -- okay -- that is now not

8 and let's say again in this example we have -- that 8 connected. Yeah.

9 we're trying to maintain afour-connected network, 9 Q Andsoif we have an application running on
10 whichisthe examplethat is often givenin the -- 10 the OSl reference model, how would we -- how would
11 inthe patent specification. And therefore, you 11 we determine that a hole needsto be filled?

12 havefour internal portsthat are the ports you use 12 A Becauseyou no longer have -- because exactly
13 to communicate on the broadcast channel and say one 13 thelanguage of claim 6, that you attempted to send
14 or more external ports that you use for these 14 amessageto one of your neighbors, it was

15 overhead-type communications. 15 unsuccessful, and so now you know, based on that
16 Q Canyou turnto column 24, line-- starting 16 lack of success, you need to fill a hole with that

17 atline20. 17 port. That guy got disconnected in an unplanned

18 A I'mthere. 18 way. And all that happens at that application there
19 Q Whatisaflow diagram? 19 because the broadcast channel is occurring and those
20 A Soif wegoto-- Figure 21 iswhat's being 20 connections are being maintained at the application
21 referenced here -- what we seeis commonly referred 21 there.

22 toasaflow diagram. It's-- it's a diagrammatic 22  Q Okay. Hold on, I'm waiting for the court

23 way of expressing how you would do certain 23 reporter to catch up.

24 operationsor instructions. In this case, certain 24 So let me take thisone step at atime. The

25 shapes have certain meanings to a person in the 25 application layer decides that it needsto send a
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Page 226 Page 228
1 message from computer A to -- or let's just use the 1 A Theholeishappening at the application
2 language of the claim. So the application in the 2 layer because that's how -- again, the broadcast
3 first computer decides that it needs to sends a 3 channd is something that's happening at -- between
4 message to a second computer so the first computer, 4 the applications and the connection is stuff that
5 the application will tell the transport layer that 5 happens, as| opine, that a connection is"an edge
6 it needsto send a message? 6 between two application programs connected to a
7 A That'snot realy the way that a person of 7 logical broadcast channel that overlays an
8 ordinary skill in the art would say it. Instead, 8 underlying network."
9 what you do is you use the API provided by the 9 Q Buthow can -- maybe I'm misunderstanding
10 transport layer to perform this action of sending -- 10 because | think we were talking about the hole as a
11 attempting to send the message to the other 11 TCP/IP port number. Soistherea TCP/IP port
12 computer, in this case the second computer. 12 number at the application layer?
13 Q Sowhotellsthe API to the transport layer 13 A Sointhisexample, the application layer
14 that a message needs to be sent, the application? 14 would be keeping track of these port numbers that it
15 A The problem iswe're anthropomorphizing maybe 15 wantsto usefor, say, interna connections as well
16 alittle too much now because thisis all happening 16 asan externa connection.
17 now in software. The TCP/IP protocol stack in this 17 Q Sotheapplication layer manages the port
18 hypothetical exampleisbeing provided by a set of 18 numbers; isthat correct?
19 interfacesin the programming language. We then use 19 A It dependsonwhat you mean by "manages.” So
20 thislibrary in our software, the application layer, 20 again, going back to this discussion about APIs, the
21 to call thisfunctionality, send a message to this 21 concept of the Internet implementation of
22 other computer and it uses its instructions now to 22 networking, the concept of ports arrives at layer 4.
23 go down to the protocol stack to perform the actions 23 Layer 3 doesn't have a concept of ports. So this
24 of attempting to send that message which then is 24 whole concept of ports happens at layer 4 the
25 determined by the application layer to now be 25 transport layer where both TCP and UDP can have this
Page 227 Page 229
1 unsuccessful. It returns with some kind of a 1 notion of ports. There's roughly 65,000
2 message of lack of success. | couldn't send the 2 possibilities. And that's now a part of the
3 message. Again, overanthropomorphizing yet again.| 3 interfacethat it givesto the application layer
4  Q And then thefirst computer is unableto -- 4 aboveit.
5 strikethat. 5 So an application layer can say, oh, | want
6 The attempt to send the messageis -- from 6 tocommunicate on port 8041. And then it would
7 thefirst computer to the second computer -- is 7 have, asapart of it's call, two methods that
8 unsuccessful because it realizes that there's no 8 implement things on layer 4 to give as input to that
9 connection. The first computer realizes there's no 9 the number 8041. So it does keep track of, in this
10 correction -- connection, correct? 10 example -- this hypothetical example, it's keeping
11 A | think it'sthe other way around, that 11 track of the port numbersthat it has to other nodes
12 it's-- according to the claim language when an 12 inthe broadcast channel.
13 attempt to send the message is unsuccessful, then 13 Q Okay. And how -- how isthat -- how doesthe
14 you say from the first computer that you need to 14 application layer fill the hole?
15 send this connection port search message indicating | 15 A So again, using this metaphor of ahole,
16 that the first computer needs a connection. So it 16 because we're trying to get back to some certain
17 determines that message was unsuccessful, hey, | 17 m-- let's say m equals 4, having four connections
18 needed a new connection. So that's what that is 18 inside the broadcast channel, it would fill the hole
19 sayinginlayman'sterms. 19 by getting this response from athird computer that
20 Q Sothefirst computer redizesthat it hasa 20 it then can use the message from that third computer
21 hole; isthat correct? 21 tofigure out how to -- so called fill the hole. In
22 A Inapreferred embodiment that was the 22 all thisdiscussion of al these different ways --
23 language that the patent describesit as, yes. 23 you know, messages and how that can al happenin an
24 Q And theholethat the first computer has 24 exemplary way would be here described in columns 9
25 detected islocated at the -- which layer? 25 and 10.

58 (Pages 226 - 229)
Veritext Lega Solutions

212-267-6868 WWW.Veritext.com 516-608-2400
IPR2016-00747-ACTIVISION, EA, TAKE-TWO, 2K, ROCKSTAR, Ex. 1202, Page 58 of 105



Page 230

Page 232

1 Q Andsowhen--inFigure5A -- I think it's 1 ERRATA SHEET
2 computers A and | are connecting; is that correct? VERITEXT LEGAL SOLUTIONS
) i i 2 330 OLD COUNTRY ROAD
3 A b5Aisthe example of aplanned disconnection. MINEOLA, NEW YORK 10001
4 Q Sorry, | mean 5B? 3 516-608-2400
5 A 5B, soin5B wehave-- | think thisis 4 NAME OF CASE: ACTIVISION BLIZZARD VS. ACCELERATION BAY
6 illustrating the example where | and F might be DATE OF DEPOSITION: FEBRUARY 24, 2017
. 5 NAME OF DEPONENT: MICHAEL GOODRICH, Ph.D.
7 wanting to connect. 6 PAGE LINE(S) CHANGE REASON
8 Q Thankyou. | andF. That'swhat | meant. 7 I I |
9 Thank you. Doesthe application layer create a 8 | | |
10 TCP/IP connection between | and F? i ' '
11 MR LEE: Objection. Form. " : : :
12 THEWITNESS: Sointhisexample-- a 12 | | |
13 hypothetical using this example embodiment, it 13 | | |
14 would, indeed -- the application layer would be now 14| | |
15 asking now, on top of the TCP/IP layers, to be iz : : :
16 forming now a TCP/I connection -- TCP/IP connection 17 | | |
17 between | and F, but then it would also be 18 | | |
18 maintaining as a connection in the broadcast 19 _ | | |
19 channdl. icl) : : l
20 BY MR.LIN: MICHAEL GOODRICH, Ph.D.
21 Q Okay. Doesthis-- okay. 22
22 Counsdl, | think I'm done. SUBSCRIBED AND SWORN TO BEFORE ME
23 MR. LEE: We reservetheright to review and ii M hrer 20
24 sign.
25 THE VIDEOGRAPHER: Thisisit? 25 (NOTARY PUBLIC) MY COMMISSION EXPIRES:
Page 231 Page 233
1 MR. LIN: We're done. 1 I, the undersigned, a Certified Shorthand
2 THE VIDEOGRAPHER: Okay. Thisconcludes 2 Reporter of the State of California, do hereby certify:
3 today's testimony given by Dr. Goodrich. Thetotal | 3 That the foregoing proceedings were taken
4 number of media used was four and will beretained | 4 beforeme at the time and place herein set forth; that
5 by Veritext Legal Solutions. We're off the record 5 any witnessesin the foregoing proceedings, prior to
6 at 414 6 testifying, were administered an oath; that arecord of
. o 7 the proceedings was made by me using machine shorthand
; (TIMENOTED: 4:14 p.m,) 8 which was thereafter transcribed under my direction;
9 that the foregoing transcript is atrue record of the
9 MICHAEL GOODRICH, Ph.D. 10 testimony given.
10 . 11 Further, that if the foregoing pertains to the
11 Subscribed and sworn to before me 12 original transcript of adeposition in a Federal Case,
12 this day of , 2017 13 before completion of the proceedings, review of the
13 14 transcript [ ] was[ ] was not requested.
14 15 | further certify that | am neither financially
15 NOTARY PUBLIC 16 interested in the action nor arelative or employee of
16 17 any attorney or any party to this action.
17 18 IN WITNESS WHEREOF, | have this date subscribed
18 19 my name.
19 20
21 Dated: February 27, 2017
20
- 22
S22 el 212
22 23
23 NANCY A. MORROW
24 24 CSR No. 11977
25 25
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